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#� 8 ?�&���� �&�� g��0 �$ �.;P Q




��ل    ا
Y�0 اBول�C
 !"-�-B�0ه"� ا�
 ا

  ?�#�U  ';$"   7P� ?�&��� �/+ aN "     3�>�8 ��B�P$N F/+ aN ��6
�� 8 "   ?�#� 8Z"          ¤�³@+ ��³B �³c� �³@�$> �mN6 


��&��N " ��6
�� 8 " ¤�@+6 8Z 
��B�P$N 6��&�� I1��B " Q ...  

) O(   �=�E���Epreuve 

         ­�y� 7  �+s��� 8 �!�c��� ��²� ��S,-� ¢�2�    aZ ?�#�� 7P�   ­�y� �Z �+ �!�c���   8Z  �Z�c��@�� .   �³!�c��� a)

   ­���Z VN 3>8�\��! z�,�0 .  �,U �#!�L�� ���#-�     =�y� �+ �!�c��� Q  �&@�!    �c��B �+ ��s[� �@P�=�6��.8 �!�c��� 

 ��;�Z 8Z w�c��B k�#0�.  

        a�$ 8 ��  ��S,$ 
��&���� *�  R �!�c��� ��S,$8Q         Tl��� i�  ?�
y� ?�&��� G>�B �@� �m�U 6    �³$> �@  

                     k� >��� � 7P� �$ ��« �,����� 
������ 7$ w�$ ��  ?�&��� G>�B �@� �mN 8 Q�$��� �+ �!�c��� a�P0 ��B ����

$ w�$ ��  ?�&��� G>�B �@� �mN8 Q�!�c�� �c�@$ 3��8�!�c�� K��e k� J��B �$ G��#$ R w�(���� ������ 7 ...

�!�^ ?�&��N ?�#B �8 �c��B ?�&��� 8Z ­�� ?�&��� ?�#B.  

2 G
��)P� 2Q
9R  

������� �#�����! f1�
�� F/+ 7  J�B �$ 3��   :  

• �8��$ 8Z �$�� Kl�$ ��  �+ ?�&����) ����( a�P� �(.  

• � �$ �!�^ ­���Z 
��&��� z�&������� H8�L. 

w�,��L�� w������ 7$ ��S��! I�@�L0 �;��� ����E �U��N 7P�88  w! �>�
� a�P� ?�&���� aZ �+

08 1 .����( a�P� aZ 7P� � TBZ HZ8 ������ 7$ J�Z a�P� aZ �.  

3  �S�7� �
�,T� ' O
S)�(
��)(� 

 ¤�@+_½�! a«� �+��/B ?�&���� =�L� R ��(�(Z � ��� U �S��2� ���B8 �S��§Z <��!� =�\�� ��! �&

G��#-� ?�
U 9�x R � ��#�� F/+ ���:�(� VN n��6@(8 .  

1.  H8�L� ­�� z��8 ?�&���1_���-� ­�y� ?�&��� T@$ ��8��$ . ?�&���8 ­�y� ?�&��� z�&�

 H8�L� _���-� ­�y�1. 

2.  a���� z��8 ?�&���"Z " 8"= "$ ?8)� z��8 ?�&��� H8�L� a�P� �- v�;�� z��8 ?�&��� R �!8�\

'�U 9�8 �� ?8)�.  

3. ?�&��� ?�&��� R �!8�\$ ?8)� ­�y� ?�&��� HZ w��&���� 	��l H8�L� a'#�L$ a���� z��8 

v�;�� ­�y�.  

4. a��U�@�$ a���y� aZ ?�#B8 Q�,
�� H8�L� TLP 8 ­�y� z��8 ?�&���.  

5.  ­�� z��8 ?�&���"� " 8Z"= "x H8�L���$ �&S##� ?�&��� T@$ ��8��$ w��y� ��&��� 9.   

4 �� �&�
��� �@ 
S %L US) G
��)(� O
S) G
��)!� G
V@
= 4��15  

 W�   ?�P(�! s��!(Blaise Pascal : 1623)  ?�&��������� kP2��!:  



?J���
    ص.   ب    1���Jات ا)���ء ا
 

" Q�@P&-� 
��y� ��  i�  �$�L#$ ­�y� z���� �&1'-� 
��y� ��  �+ ­�� ?�&���

mNz����� R ?�&���� _,B �[ 
��y� k� aZ �@����� �". 1  

G
N�:�$  ° ��B ���� �$> �@  �l8< ��  i�  ?�
y� ?�&��� �+ �/+ R ?�&����8 ­�y� Q�!�c��� 7$ k� w! 

?�;-�.  

=��`� : �l8< ��  i�  ?�
6�� �&1'$ 
��� ­'� ¤�@+)2 Q48 6 .(�@P&-� 
��6�� ��P�� ����� �$Z �SU 

6) :1 Q2 Q3 Q4 Q5Q 6 .(G
��)(� W�+ 
X �AV��� �(
I� "� �L Y���Z
=% ��  i�  ?�
y� ?�&��� a�U 

 �+ �l8<
6

3=
2

1.   

T��@0 :Q��8�L�$ 
��y� 
��&��� 7P0 ¥ �mN ��'��� F/+ ���:�(� 7P� �.  

G
N�2 . T! �8�@�7 �S@$ 
���� 5	��¿  . K6LB3��$ 
����  .�&��� �+ �$	��¿ �S�� a�P0 aZ ? k� w! °

�!�c��� 7$8 ?�;-� �/+ R ­�y�.  

 �&1'-� 
��y� ��  3

5C�@P&-� 
��y� �� 8 : 3

7C . �+ ?�&���� �mN
35

10
3

7

3

5 =
C

C . 7$ K6L�� �+ �!�c���

 i�  ?�
y� �+ �c��@�� 8Z ­�y� Q�8�@
��...  

G
N�3 . 7$ a�P$ n�U10���e  . � �#��! K6LB*(�3�2��� 7$  . �+ �$°�¿Z K����� a�P� aZ ?�&��� k� w! 

�!�c��� 7$8 ­�y�.  

 K6LB)3�� N a8�! ( 7$ �@� 33�2��� 7$ 	��Z  .   °�¿Z K����� *S@$ a�P� aZ ?�&��� �+ �$  

=��`� :1 (� ?�&���+ V8)� �c��@�� 8Z ?8)� ­�y� 
10

1Q  

2 (�@���� �@P&-� ����� ��  :3

10Ca�P� �P� �&1'-� 
��y� ��  Q�@���� R �¿Z :  

36
!)!(

! 2

9

2

9

13

110 =⇒
−

==−

− C
xxn

n
CCC

x

n

  

�mN �+ ?�&����:
20

3

240

36

3/)8)(9(10

36
3

10

2

9 ===
C

C
  

 Q�¿Z K����� a�P� aZ �+ ­�y� 8Z �c��@�� QK6L�� �+ �!�c���...  

 G
N�4 . 9$ �¿Z _U�@��3�(��L�� ��L�� 
�B�6�$�� 7$ k� R ��#B i� Z i�  T1'$<  . ������ ¸�A� �B�� �mN

?�&��� �+ �$ Q��8�L�$ ��!>)� :��#B i� q! �¿Z <�,� aZ ������ ��Z <�,� aZ °��L�� 
�B�6�$�� 7$ k� R ) ��Z

a�� ( °��L�� 
�B�6�$�� R ��#B i� q! 

=��`� :  

1 ( ¤�@+6
4
 = 4096 �+ ?�&���� �mN j_���#-� 9�&� �¿Z <�U ���� �S@$ Q�LU�@-� I1��@� �@P� ���� 1/4096.  

2 ( ¤�@+4 ¤�@+ �mN ���e 4�&� ������ ��Z <�,� 
���  �+ ?�&���� �mN Q_���#-� 94/4096.   

5  �D!R  

 7  ��s� � ��  �+ ?�&����1 7  k#� � 8 0.  

                                                 
1
    ��U� ���@�}>1981 � Q2 83.  




��ل    ا
Y�0 اBول�C
 !"-�-B�0ه"� ا�
 ا

�S@�! h��� K} � *�+�,$ �+ ?�&����8 ­�y�8 �!�c��� . ­���Z �S@  ����� �!�c���)
��� 8Z I1��B (�,��¶ .

 3�AB �B���Z K���� a�$ ��S,$ �!�c��� ���m?��E8 .=�L��� *S-� 7$ 8Z �!�c��� �+ �$ ���� R 3>�S-� F/+ 

��qL-� k� 8 *S,� ¢��,-� �+ ��m a) �$ ��qL$ R =>�c���.  

 ?�&���� =�L� R � ��� _½ ¤�@+
��&���� *��� ��(�()� a��>)� �+ . �#���$ � ��#�� F/+=:  

� �� ?�&�� ­�y_���-� Q  

�  Q��$ w��� g#� ?�&���!  

� $ w��� g#� ?�&���! Qa'#�L$ �B�� �mN ��  

�  Qw��� ��Z g#� ?�&���!  

� ��$ TLP  8 ­�y� g#� ?�&���! �#���$ 8.   

  

,�&�
  ا�	�,�4 أو ا�	&��� ا����12 �� ا��	���ت .2 ا

  
" =��� �+ ������� T�4�
�������� "�����l) 1564 "1642(  
��ت	�8�
  ا-
#5ام '��s! ا
 5��  N	ا ?J���

*&"� ا
 �Jب ا��
���ت و^�Tا

��M'K��7 !  

       �³�!>)� �³ ��#�� �³C�m �+8 ��&���� =�Ly� � ��#� ���8 8 g��� .��0 VN k����� klZ 7$ s�$���� ��:�LB

?8)� 	s`� R 3>��/-�. 

 K�P@U �����> �#���! �$ ­�� ?�&��� 7  J�BP(A)    

 ­�y� z��8 ?�&��� 7  J�B8 :X = x��� �&�  :P(X = x)  8Z P(x) .   

?�;$ :��­�y� ?�&�" : Tl��� i�  ?�
y�5 "K�P� ��B �c� 	�#�N �@   :1/6 = P(X = 5)>�
�E�! 8Z Q  :

1/6) = P(5   

K�P@U �;�Z �
�À �B���Z 8 :1/6 = P.  

1 + F�&3�@�* ��Q��01�� H�&)T� $� [�1��� �
���\� ���  

�� ­���)� 7  .����� 
� �&²� ���AB ��:�L0 ������� ��@��� ?'E 7$��1��2�:  

1.  = �$ �!�c�� �@P&-� I1��@�� 7  J�BΩQ8 �@���� 	�\U 8Z ���P�� � �&²� i&L0 . 

2. ��1sl � �cr ­�y� 7  J�B A  5�� Q�@���� 	�\U 7$A�!�c��� �@P&-� I1��@�� 7$ � �&� �+ . 

3.  7$ ��
@  k;� �c��@! �!�c��� �S�B� �mNA­�y� aZ ?�#B  Ag#� �� . 

4. �o H/�� ­�y�7$ ���8 �
@  8Z ��#B i�  H�Ω h�L! ­�� 3��  i&L�  . 

  

G
N� .��B K�P$ 	�#�N �+ �!�^ �@�` 7P�� .������� ­���)� 7  ���&  J  � �@���� 	�\U � �&� K��Z:  

 ­�y�A : ����� i�  ?�
y�6) h�L! ­��           ( }  6{ ,    A=  }1, 2, 3, 4, 5, 6 { =Ω  



?J���
    ص.   ب    1���Jات ا)���ء ا
 

 ­�y�B :  ?�
y�                         �l8< ��  i�}2, 4, 6{ =B   

 ­�y�C :                        �8Z ��  i�  ?�
y�    }2, 3, 5{  =C 

 ­�y�D :                        H��U ��  i�  ?�
y�  }1, 3, 5{  =D 

 G
N�2 :������ i�  w���#B w���� �$> �+ �!�^ �@��� 7P�� :&� K��Z7  J  � �@���� 	�\U � �:  

­�y� A  : �!��� w0�$ i�  ?�
y�)h�L! ­��         (}PP{ ,  A =  }PP, PF, FP, FF{ =Ω  

 ­�y�B :                     3���8 3�$ �!��� i�  ?�
y�}FP, PF { B =    

­�y�C  :           V8)� ��$��� R �!��� i�  ?�
y�     } PF, PP {=  C 

 

5. ­�y� Q�B�� ��Z �$ �!�^ R �@P&-� ­���)� w! 7$ Φ  g#6�� aZ 7P� � TB) k�6�L-� ­�y� k;�

�S@$ �
@ . P(Φ) = 0. 

6.  ��(�()� � �&²� ­�� Q�B�� ��Z �$ �!�^ R �@P&-� ­���)� w! 7$Ω ���)� ­�y� �+8 Q�SL,B 

k�)� i�  �+���@  ��Z g#6�� aZ �!� TB). P(Ω) = 1      

7. 9&`� Q¢���� Q9e�#���8 ����� k;$ 
���&  g����!  .... 3���l 
� �&� i�  k
» 
� �&²� i� 

 7$ ��1slΩR 3���l ­���Z � 7$8   Ω  . ��m 7$ : 

AUB­�y� �+  :�$NA  8Z B�§'� 8Z . 

A∩B ­�y� �+ :A8 B��$ ��8 R .  

CA   ? _���-� ­�y� �+A.  

B –  A�y� �+­ :A_�� 7P�  B.  

8.  a�� �mN Φ = A∩BaZ ?�#B  A8 B a��U�@�$ )a�&1'�$ .b 8Z ( ��$ �&S ��8 7P� � HZ

)mutuellement exclusifs.( 

?�;$ :w0�$ ���#B ���� �$�B : a�� mNA ­�y� �+ "�!��� w0�$"8  B "k�)� i�  3>��".  

         A = {PP}.  B = {PF, FP, FF}            A∩B = Φ     

2  $� C]
���� [�1��� &���# O
S)�(
��)(�  

) L( W�
1�� H&I� ^#, �&�
��� $� C]
���� [�1��� %L 1. Evénement contraire  

 ? _���-� ­�y� 7  J�BA = Ā  8ZA' 8­�y� g#� ��  ?�&��� �+ T��&��� A Q K�PB8:  
P(Ā) + P(A) = 1  <=> P(Ā) = 1– P(A) 

 

 

 

 

?�;$ :� �$�B���#B ���8  = s$�BP�!��P�� 8 F 3>�
�� )Tl��� .(aZ ��'B:  
P(P) = P(F') = 1– P(F) <=> P(P) + P(F) = 1 

 

A Ā 
Ω  




��ل    ا
Y�0 اBول�C
 !"-�-B�0ه"� ا�
 ا

 ?�;$2 : ����� i�  ?�
y� ?�&��� a�U ��B �c� �$> �@ 5�+  :P(5) = 1/6 F/+ R _���-� ­�y� �+ �&U Q 

°T��&��� �$8 ���y�  

 .b ��  i�  ?�
y� �+ _���-� ­�y�5Q8 �+ T��&��� :P(5') = 1 – P(5) = 1 – (1/6)  = 5/6.   

 ?�;$3 :_���-� ­�y� �+�$ Q�l8< ��  i�  ?�
y� ?�&��� �+ �$ Q��B �c� �$�B8  °T��&��� �+ �$  
P(nombre pair) = P(2 ou 4 ou 6) = 3/6 

Q�l8< .b ��  i�  ?�
y� �+ _���-� ­�y�8  T��&���:  
P(impair) = 1– P(pair) = 1– (3/6)  = 3/6. 

) O(   H&I� _�#% G
��)�"A " %"B " a+
� 
�L) �&�
# ^#,2.(   

                          P(A∩B) = P(A)* P(B/A) 

P(A∩B∩C) = P(A)* P(B/A)* P(C/(A∩B))  
A, B, C�$ ­���Z ) � 8Z ��U�@�$ Q� 8Z ��#�L$(  Q    )A/B(P  �? �e�2�� ?�&���� i&LB aZ �&�  A� g#.  

i�  k
» V8)� �����-� 7$8 :   

 
� 0 > )A (P)        A(P) / A∩B(P) =  A/B(P  

 5��A aZ �r �@���-� 	�\U ��
0  Ag#�           .

             

 G
N�:  1 ( 7$ k�Z *�� i�  ?�
y� ?�&��� ��B �c� 	�#�N �@  KL�Z4) ­��B.(  

 2 (� KL�Z 7$ k�Z �c��B i�  ?�
y� ?�&��4 H��U ��  ��@�� K�P- k
�� Tl��� aZ �&�  �mN )­��(A.  

3 ( H8�L� 8Z J�Z �&�� i�  ?�
y� ?�&��� KL�Z4H��U ��  �c��@�� aZ �&�  �mN .  
P(B) = P(1ou 2 ou 3) = P(1) + P(2) + P(3) = 3/6 
P(B/A) = P(B∩A)/P(A)  
P(B∩A) = P (impaire et  ≤ 4) = P(1 ou 3) = P(1) + P(3) = 1/6  +  1/6 = 2/6 

P(B/A) = P(B∩A)/P(A) = 2/6  /  3/6  =  2/3 

) e(   H&I� _�#% G
��)�"A " %"B " 
�"A " %"B " �!��S�) �&�
# ^#,3.(  

P(A∩B) = P(A) * P(B)                     (P(B/A) = P(B))  

w��� ?'#�(� ¦���0 �+8 Q z��8 aZ HZB�  z���! ��q�� A aZ ?�#B T ��8 ��  8Z A8 BQa'#�L$  

 P(A∩B∩C) = P(A) * P(B) * P(C)                 P(C/(A∩B)) = P(C)       

G
N�:��$ ���#B ����8 ��B �c� �$�B  .3>�
�� i�  ?�
y� ?�&��� �+ �$8  �����6 ° ) ��@�� K�P$ �c��B

���#@�� ���#�� �c��B 7  ��#�L$.(  
P(A∩B) = P(A).P(B) = 0.5 * 1/6  = 1/12.    

A\B     A∩B     B\A 

 

A B 

Ω  

 B\A :�� ا�
9ث  B/A  ا�
9ث  1 ر)�



?J���
    ص.   ب    1���Jات ا)���ء ا
 

 G
N�2 .w0�$ ���#B ���� �#�B .V8)� ��$��� R 3>�� i�  ?�
y� ?�&��� KL�Z8 ��B�;�� ��$��� R.  
P(FF) = P(A∩B) = P(A) P(B) = 0.5 * 0.5 = 0.25 

 G
N�3 . T! �8�@�5 
���� 2	��¿ 8 3	�\�!  .@
�� �+���B � ���� kcLB ���� K6LB�8�8  ���&��� >�PB3 


��$.  

o  i�  ?�
y� ?�&��� KL�Z2 Q	��¿ 
���� 3 	��¿ 
���� )��#�L$ ­���Z.(  

o  ���P�� z�l>N a8�! K6L�� a�� ���� R ?�&���� a�P� ¦��)��#�L$ .b ­���Z(°  
P(RR) = P(R1 ∩ R2) = P(R1) P(R2) = 2/5 * 2/5 = 8/25 
P(RRR) = P(R1 ∩ R2 ∩ R3) = P(R1) P(R2) P(R3) = 2/5 * 2/5 * 2/5 = 8/125 
P(RR) = P(R1 ∩ R2) = P(R1) P(R2/R1) = 2/5 * 1/4 = 2/20 
P(RRR) = P(R1 ∩ R2 ∩ R3) = P(R1) P(R2/R1) P(R3/(R1∩R2)) = 2/5 * 1/4 * 0 = 0  

)  (  H&) _�#% G
��)�"A " %L"B) " ^#, �&�
���4.(  

P(AUB) = P(A) + P(B) – P(A∩B) 

 

 

 

 

) 	( �#% G
��)� H&) _"L " %L"O" 
� "L " %"O " �
�Z
A��) ^#, �&�
���5.( 

-� ­���)� 7P����U�@� A, B 

P(AUB) = P(A) + P(B)      (P(A∩B) = 0) 

P(AUBUC) = P(A) + P(B) + P(C)      (P(A∩B∩C) = 0) 

 

 

   

) %( ��-� ��Z
]� &���#  

� klZ 7$A1 ⊂ A2      a�U:         P(A1) ≤ P(A2)     8  P(A2 – A1) = P(A2) – P(A1)           

   

 

 

 

�  klZ 7$A8 B�B�� ��Z ­���Z :  P(A∩B) + P(A∩B’) = P(A)  

 

 

            A∩B      

A B 

Ω
  

A Ā Ω
  

 

A1 
A2 

Ω  

   A∩B’     A∩B     B∩B’ 

 

A B 

Ω  
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Y�0 اBول�C
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�  a�� �mNA��U�@�-� ­���)� p�! 8Z ��Z �c��B �+ : A1, A2 , A3 , A4 ,  …… An   

P(A) = P(A∩ A1) + P(A∩A2 ) + P(A∩A3 ) + ……. + P(A∩An ) 

 

 

 

3 (� ���*+ f�
= ���*+ %L g�S�� G
��)Théorème ou règle de BAYES                                   

            

 7P��1AQ 2AQ 3AQ . . . AkQ . .. Q An ���P�� � �&²� kP2� �+���� 5�� �S@�! �&�U ��U�@�$ ­���Z  

)��(�()� (Ω8 QA­���)� 7$ �;�Z 8Z ���8 g��e 7  g#6�� �$ ­��  Ak aZ �@&�  �mN QA KL» Qg#� 

 ­�y� g��e 7  T##� ?�&���Ak��� �&�  :  

)(

)(

)/()(

)/()(
)/(

1
AP

AAP

AAPAP

AAPAP
AAP k

n

k kk

kk

k

∩
==

∑ =  
 7$ 7P� ��) ¯�L�� ?�&���� ���AB ���A@�� F/+ i&L0

  �$ ­�� a�P� aZ ?�&��� =�L�(Ak) z���� K�L-� �+ 

 �E¡ ­��)A.(  

  

G
N� :8¨ �@�$Z �, K�P$)A1 ( ���0 5�� ��(�6&�� K�Pr9�e 20 %�� 7$ .0��, . w��$�  K�P-� k42�

 �§���N w��EZ)A2 ( 9��030%.0��,�� 7$ 8  d�E)�)A3 (50% . R 	��EZ 3���`� �,¨�-� KP0�05% 7$ 

 ��B�;�� d�� q��� ��LB �&@�! Q.0��,��)A2  (2%8  �;��;�� d��)A3 (1%.  

	��EZ �t aZ w��U �1��2  kP2! 3>�0�U 
/EZ . aZ V8)� 
����(� � ��Z �c{ 3>�0�,�� 
sªZ 7$ �+ a�P0

 �N sc@020%Q.0��,�� 7$ 8 J�)� �+ �S��� 	��E)� ��LB aq! 
���E)� 
'$���� �S��  
�>)5%.(  

1   . 3���`� �,¨�-� a�P0 aZ ?�&��� KL�Z)A1 (3>�0�,�� 
>�� O�� �+8  a�P� aZ ?�&��� 9$ a>��

 �+ q��� >�
$A2 8Z A3.  

2  .KL�Z­';�� 
��&���� z�&� .  

3 .	��EZ �t a�P0 aZ Q
'(��-� z�&� 7$ ��1��2  3>��¶ 3>�0�U a�P0 aZ ?�&��� KL�Z.  

( ) ( ) ( )

( ) ( ) ( )
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AAPAP

AAPAP
AAP

AAPAP

AAPAP
AAP

AAPAP

AAPAP
AAP

  
 a�P0 aZ �+ J�)� ?�&���� aZ =�Ly� 7$ �SA�A33>�0�,�� 
>�� O�� �+  .  

A1    A2        Ak . . .         An 

A 

Ω  
   ر)� ��2=  >��� ;��24 ر)� 

A1    A2        Ak . . .         An 

A 
Ω  



?J���
    ص.   ب    1���Jات ا)���ء ا
 

2.  
��&���� z�&�P(A1/A) + P(A2/A) + P(A3/A) = 1 )� 
��&��� k;� ��)  ��U�@�-� ­���

­';�� . 

3 .�$ ��(��$ R q�E ��l8 ?�&���:  

( ) ( ) ( )∑ =++== 012.001.0*5.002.0*3.0005.0*2.0)/()()( kk AAPAPAP
 

4 �D!R  

 *�+�,&�� ��� �;�Z �b��� i�  ?�
y� 7P� 
��&���� ?�� R s�$���� G�(q� 
� �&²� ���AB ���:�(�!

�,��:-� .��:�LB �#����� F/t :  

 9e�#��� s$> ∩ 3>��  7  ��! "8) "et  (?�;$ : ?�&���" Tl���28  5 "��B O�$> R  :P(2) * P(5) = )"5" 

∩ P("2"   
  ����� s$>U3>��  7  ��!  "8Z" "ou "?�;$ :Tl��� ?�&��� 2 8Z 5 ��B ��$> R P("5"U"2") = P(5) + 

P(2)  
 *&�-� s$>CA 8Z  Ā 3>��  7  ��! " _P A"  j P(Ā) = 1 – P(A)    

  ���SL! J�B aZ 7P� s�$���� �/+ ?'E 7$
��&���� =�Ly ��(�()� �L&�� � ��#�� 7.  
-     P(A∩B) = P(A)* P(B/A)   

)~�2!  0 >)A (P ()                  A(P) / A∩B(P) =  A/B(=>  P 

a'#�L$ a���y� a�P� �$�@ -     P(A∩B) = P(A)* P(B)                              

 
-      P(AUB) = P(A) + P(B) – P(A∩B) 

@  HZ a��U�@�$ a���y� a�P� �$�:-      P(AUB) = P(A) + P(B)                         (P(A∩B) = 0) 

 

��hS�.�&LB Qw0�$ ���#B ���� �$�B   A"�!��� w0�$"8 B" V8)� 3�-� R �!���"­�y� 7  J  Q:  

 A Q BQ ĀQ  A∩B Q AUB Q B– A  QB – A   

A = {PP}, B = {PP, FP}, Ā = {PF, FP, FF}, 
A∩B = {PP}, AUB = {PP, FP}, A – B = Φ,           B – A= {FP} 

5 ij��  

) L( �(
��)(� $� C@&AX� [�1��� 

 k�� R z8�2��k� $! �S���� 7L6�L� 
��&��'� ����$ ��qL ��(�@+ ?�P�Z ?�&��(� ��qL-� ���@  ���0

)­���)� (�S@�! 
��'���8 . 3�c� D�4�� �/[ ��:�L� ?�&����)g6�-� �ABZ (wU h�¶8 .0 ?�&���� 3�c� w�

 wU h�¶ �$Z Qk�Z 7$ z�,�0 a�
bZ ?'E 7$ ��m8 3>�P-� 8Z 3������ �!�c��� 7  I�@0 O�� ��U�@�-� ­���)�

�!�c��� k;� k���L$ kE�� �1�8� �� �,�� ­���)� k�;&�� ��:�L�U.   

  

  

  

A 

 
��< ���1 ر)�,   




��ل    ا
Y�0 اBول�C
 !"-�-B�0ه"� ا�
 ا

  

� a�P� aZ 3�c2�� *(> R i ��������� H8�L� ����,0 k� 
��&��� z�& . H��� �� �U 3�c� �!�;r �+ ����,���

��1sl �!�c�� ��&��� I1��@�� k;� ���P� Q��U�@�$ ­���Z.  

?�;$ .w0�$ ���#B ���� �$�B .3>�� w0�$ i�  ?�
y� ?�&��� KL�Z. 

 
P(face ∩ face) = P(face) * P(face/face) = 0.5 * 0.5 = 0.25. 

 

  

) O(   'CQ��01�� H&I� F�-�� 

 �&�� aZ �A�'-� K} ­�� ­�� 7  ­�6�B �@BZ ��
#-� k! Qa�B�� H) 9\� � ­�y� aZ ��0 � �1��2  �

� 8Z 9#�( a�� �mN �$ �#�L$ *��B9#�  .� �L��8 �t��(Z �[ �B�� ��s+ HZ8 =�y� R ���8 O�� ��s[� p

	��&  �U��
$ .�U��
-�! 9#� ������� R 	�� � aZ �#�#y�8 .	�2�� z��8 �
#B ¥ �@BZ �N �U��
$ �&�P� u�$ 'U .

T��!�#- h�EZ ¥8 �
�Z ¥ �BZ ��� �/SU Q�U�� a',! ��#��� ?��Z �$�@�U . 3��'-� F/+ VN 
�Z =��(Z ¤�@+ 7P�

 �@��$ �#��e �P�( �BZ �S@$... �/� � ��B K�P$ �@�$> �mN6 
��$ ( �@� �mN *��B � �@B�U 3���8 3�$ i�  k
6@

 Tl���)5 .(�&�� ��/� P(X) ) ';$ 1/6= )5(P (���AB �&�� �+ 7P� Q 
��-� 7$ ��l .�� ��  K�P$ �@�$> �mN

)1000';$ 3�$  ( Tl��� i�  ?�
y� 
��$ ��  aZ 9���@U)5 ( ����� 7$ ��l ����� a�P�(1000/6. z���$ 

 *(� T��  g�eZ ��/�8 Q��1��2��� ­���)� wB��� R 56��� �+ 
��&���� *� "�y� �(�@+."  

) e(   '��Q!�� %L �AV��� �(
I�  &� O
S) 

G)�8 
���0����8 
�#�U���� VN �U����! Q ��S,$ VN �&1'-� 8Z �@P&-� ����� ��  =�Ly �B���Z n��»

surjection.  
surj (n, k) = k [surj (n-1, k) + surj (n-1, k-1)]    ,   (n, k > 0), 

Surj (n, 1) = 1 , Surj (1, 1) = 1, surj (1, k >1) = 0  
';$ : ?�;-� R)4 ( KL�Z���8 G��#r k�)� i�  K��e k� <�,� aZ ?�&��� :  

 �+ �&1'-� 
��y� �� :  
   Surj (6, 4) = 4[surj (5, 4) + surj (5, 3)]  

 ?�رة

P(face/face) = 0.5 

 ?�رة 

P(face) = 0.5 

 آ	�;�
P(pile) = 0.5 

 آ	�;�
P(pile/face) = 0.5 

 ?�رة

P(face/pile) = 0.5 

 آ	�;�
P(pile/pile) = 0.5 

 

P(FF) = P(F) P(F/F) 

 

 

 

P(FP) = P(F) P(P/F) 

 

 

P(PF) = P(P) P(F/p) 

 

 

 

P(PP) = P(P) P(P/P) 



?J���
    ص.   ب    1���Jات ا)���ء ا
 

*�#�� 7$ ��L�( =�L� VN n��» ��m =�Ly:  
Surj (5, 3) = 3[surj (4, 4) + surj (4, 2)],  mais: Surj (4, 2) = 2[surj (3, 2) + surj (3, 1)] ,  
mais: Surj (3, 2) = 2[surj (2, 2) + surj (2, 1)],  
mais : Surj (2, 2) = 2[surj (1, 2) + surj (1, 1)] = 2(0+1) = 2  
=> Surj (3, 2) = 2(2+1) = 6, …  

6  5  4 3  2  n       

k  
0 0 0 0  2  2  
0 0 0 6  6  3  
0 0 24  36  14  4  
0  120  240  150  30  5  

720  1800  1560  540  62  6 

 �mN �+ ?�&����1560/4096.   

  

  

  

  





?J���
    ص.   ب    1���Jات ا)���ء ا
 

�����  II. ������ة ا����ا�  ا��


R"�ة ا
*L	ا;"! �
�*!�01	م اG
�
  ا

R"�ة ا
*L	ا;"! �

�01	م ا>�

?ا��
   ��ة و �	ز�*�� ا��

  

56�-� 1. �&�A	��ا ��Bا�C&�ة ا��D	��1 و,+��م ا���	��1ز�&�� ا��  


R"�ة ا
*L	ا;"!�
  �01	م ا
!*�G
�

R"�ة ا
*L	ا;"! ا�
  �01	م ا

��
 ?
��

	ز�T ا��
�*!اG
�

R"�ة ا
*L	ا;"! ا  
��
 !��UD
�*!�Wوط دا
! اG
�

R"�ة ا
*L	ا;"! ا  
D

5ا
! ا ?'�"&

�Y"U ا

��ا !��U!*�G
�

R"�ة ا
*L	ا;"! ا  

��
 Tز�	

�*!دا
! اG
�

R"�ة ا
*L	ا;"! ا  
  

��hS�: ��lZ �    i�  �(�>� 1000        V8)� ­';�� 
��@L�� ?'E K��Z k,e    F�&  7$ D�r

�$ . 7$s��! h�0�$ �!���� ?�&��� aZ �(�>��� �@�!)X :�@L�� (������� �U�;P�� ���� ?'E 7$ :  



 <<

=
sinon0

30²,
)(

xcx
xf

 
�  ?�&��� KL�Z �(8>�-� �@���� 7$ ��1��2  >��¶ k,e �!��N a�P0 aZ RV8)� �@L��.  

�S� Q�S� 3�- D�-� Ä���8  8Z Q¦
B3����� ?8�`� KL� �S�Z  :  

X�S�)�   1  1.5  3  

?�&����  0.5  0.3  0.2  

� �S� �@���� 7$ k,e n'  3�$ a�P0 aZ ?�&��� KL�Z8 �;�)� i�  ¦
B.  

1 Q��01�� �[k��� F�-�� ��  

 �+ �&�� g#� 
��&��� �S&�#! g6�� 3.4�$�&�� k�..�� ��0� W�{ z 3.4�&�� s$��  .���#�-� z � w! s��8 

83�&�L-� 8Z ��
�-� ��1��2��� �.  

 G
N�: ��1��2  3.4�$ K�P�� T��  �#�L� H/�� Tl��� �&LB aZ 7P� ��B K�P$ 	�#�N �!�^ R X . �@P&-� *�#��

?X�+  :1 Q2 Q3 Q4 Q5 Q6 . �@+ �+8 Q�S##� ?�&��� g6�B aZ 7P� �&�� kP!1/6 . ';$ K�PB8:  
 ,… P(X = 1) = f(1) = 1/6,  P(X = 2) = f(2) = 1/6  

 ? �@P&-� *�#�� aZ ���X )1 Q2 Q3 Q4 Q5 Q6 ( Q��U�@�$ �+8 �C��&��� z�&� a�U ��/� H8�L� 1 .

∑ =
==

6

1
1)(

x
xXP

  
 G
N�2.B ���� 	�#�N �!�^ R  ��1��2��� 3.4�-� w�B aZ 7P� w0�$ ���#X i�  ?�
y� 
��$ ��  k;� O�� 

�!��� . ? �@P&-� *�#�� ���y� F/+ RX �+ 0 Q1 Q2 . 7@$ ��'�B� d�EZ ��1��2  
�.4�$ w��0 7P� TBZ �� �

                                                 
1 ���)� I$�BJ�� R :1 "��1��2��� 3.4�-� ��S,$  .3���6&�� f
:-� 7$s�� 9$ 	sl k� K(�@�� �P� *�L#��� �/+ �B��E�  .  



?'�U

R"�ة ا
*L	ا;"!    ا
Y�0 ا�
 ا

 ';$ Q�!�c��� _,BY *�#�� �Eq0 3.4�$ �+8 Q3>�� i�  ?�
y� 
��$ ��  0 Q1 Q2Q 3.4�-� � Z 5{ Z = 

X - Y...   

 ? �@P&-� *�#��X �+ 0 Q2 Q"2 .��� �&� �t�L� 7P� �S&�#! �#6�-� 
��&���� :  
P(Z = 0) = P(X – Y = 0) = P(X = 0 et Y = 0 ou X = 1 et Y = 1 ou X = 2 et Y = 2) => 

P(Z = 0) = 0 + P(X = 1 et Y = 1) + 0 = 2 * 0.5² = 0.5  

2 [k���  �1����� ��Q��01�� � 

g�4$ ?�� R �@P&-� *�#�� 7$ ��S�@$ ���  /Eq0 O�� �+8 Q��
,@$ z � �\�Z i&L0 8.  

G
N� : g�4-� ?�²� kE��[2, 5] 3.4�-� X /Eq0 ?8)� ?�;-� R �U��-� 4�@P� *�� .   

3  �1����� �[k���� :
��)(� l�>���� 

� 9$ �@P&-� *�#�� � �&� �+3.4�-� *�#! ���0�-� 
��&��� ..�� W�{ 3.4�&�� s$�B8  3.4�-� �+/Eq0 O�� *�#��

.4� W�{ . ��� �&� �@��$ �&�� ?�&��� 7  J�BP(X = x) 8  �\�Z K�PB :f(x) .  ������ i&L08f(x) ���� 

����&���� �U�;P��. 

G
N�: ?8)� ?�;&�� z ¥ ��&���� 9�<���� )�P$ 	�#�N��B K (��� �&� K�P�: 

X 1  2  3  4  5  6    

P(X = x)  1/6  1/6  1/6  1/6  1/6  1/6  1  

 G
N�2. ? ��&���� 9�<���� X���#B ���#� w��$> R 3>�
�� 
��$ ��  Q: 

X 0 1  2    

P(X = x)  1/4 2/4  1/4  1  

4  �1����� �[k���� �Z
NV�� ���  m%�n 

 ��� �&� �@��$ �&�� ?�&��� 7  J�B P(X = x) 8 �\�Z K�PB :f(x)  ������ i&L08f(x)����&���� �U�;P�� ����  .

�$ ���� >��� � 7P� �P�Q�B�� ��Z Qa�@�� a�e�� g#6�� aZ K} ����&��� �U�;� ����  :  

∑ =

≥

x

xf

xf

1)()2

0)()1

 

G
N� : ? �U�;P�� ���� /EqBX��B �c� 	�#�� �c��B  :f(1) = f(2) = f(3) = … f(6) = 1/6 ≥ 0 ,  

 g#� ?8)� ~�2�� Q8 a) �\�Z v�;�� ~�2��  :Σf(x) = 1/6 + 1/6  + … + 1/6 = 6(1/6) = 1  

5 �1����� _ F G ���
��)(� �Z
NV�� ���&� o
���� "�N����  

� k; ��1��2��� 3.4�-� >�� i�  ��<���$ 3�& Z ?'E 7$ 7P�8 u6@$ ?'E 7$ _�� ���#�-�X . 

?�;$ :�U�;P�� ?�8� 
��@6@$ ��B��! k;� ? X8 Zw0�$ ���#B ���� 	�#�N i�  �U��-� .  
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  ���&;�� v����� k���� ���U�;P ��&�3.4 �����1��2 �-�#���   3 ر)� 

6  l�>���� ��� F(x)�1����� ��Q��01�� �[k����  

 9�<���� ���� W��0"8  �\�Z i&L0"�&c��� ��������� "–��� �&� :     
F(x) = P(X ≤ x)  

 ����&���� �U�;P�� ���� 7$ 9�<���� ���� n��@�(� 7P�8f(x)��� �&� :  

∑
≤

=≤=
xu

ufxXPxF )()()(

  

 �B�� �mNX a�U *�#�� 7$ ��S�@$ ���  /Eq0 F(x) ��� �&� �S,���0 7P�  :  

   

  

  

  

G
N� :  *�³� �l8ZF(x) 8 F(z)  �³�;$Å� 

�#!�L��8 ��B��! �&S�;$.  
2  1  0  X  

1/4  1/2  1/4  f(x)  
1  3/4  1/4  F(x)=P(X≤x)  

  

2 0  -2  Z 

1/4  1/2  1/4  f(x)  
1  3/4  1/4  F(x)=P(X≤x)  
  

 
�*)!� .                    �[ �@P� �&�� J�Z8 Q?�� HZ R �
��@�$ a�P0 � �+8 Q��&�( 'P� ���#�-� z *�� 9�<���� ���� /Eq0

 �+1. 

-2       0       2 z 

f(z) 

   1 

 

 

1/2 

 

1/4 

f(x) 

0       1       2    x 

1 

 

 

1/2 

 

 

1/4 

 &�Cا��B ا��	�A&� ا�	�J�K ا���� 1 �9ا�� ا�	�ز��� I�	��Dة ا�   4 ر)� 














+∞<≤+++

⋅⋅⋅
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<≤

<<−∞
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xxxfxfxf

xxxxfxf

xxxxf

xx

xF
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,)()(
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)(
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3221

211

1

0       1       2    

1 

 

3/4 

 

1/2 

 

1/4 

x 

F(x) 

-2       0       2 z 

1 

 

3/4 

 

1/2 

 

1/4 

F(z) 
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R"�ة ا
*L	ا;"!    ا
Y�0 ا�
 ا

∫
∞+

∞−
=

≥

1)()2

0)()1

dxxf

xf

  

,�&�
  ��ز�&�� ا��	���1 وا��L	��ة,+��م ا��	��Dة ا�&�Cا��B  .2 ا


��ة>�

R"�ة ا
*L	ا;"! ا�
  �*��( ا
��
 ?
��

	ز�T ا��

��ةا>�

R"�ة ا
*L	ا;"! ا   

��
 !"
��

��ة>��;: دا
! ا
��UD! ا��>�

R"�ة ا
*L	ا;"! ا   
Tز�	


��ة 
��دا
! ا>�

R"�ة ا
*L	ا;"! ا  
K
"Z&�� 5ة��N  

1 ���S�� ��Q��01�� �[k��� 4��15 � 

?�²� �/+ kE�� �&�� HZ /Eq0 �+ 8Z Q�8�� ?�� R *�#�� 7$ ��+�@�$ � ���  /Eq0 z 3.4�$ �+ . �/+ klZ 7$

 Q*cy� Q�U�L-� Qa<��� Q7$s�� k;$ 3�&�L$ a�P0 3�&��-� 3.4�-� G��� 
���8 aqU...  

2 ���S�� :
��)(� l�>���� 

�-� �+/Eq0 aZ 7P� O�� *�#�� � �&� �+3�&�L-� z 3.48 �t �#6�-� 
��&���� . �U�;P�� ���� �/S� ���<�0 �&LB

k
�$ u6@r ��;� �+8 Q?�&���� ���� 8Z ����&����. 

 aZ �r TBZ ���X VN ?8�� ?�&��� �+ �S@��! �&�� ?�&��� a�U Q?�� HZ kE�� *�#�� 7$ ��+�@�$ � ���  /Eq0 

�,
��.P(X=x) �0�� a�U ��/�   =�Ly k&��L0 �U�;P�� ��

?�� ?�&��� . u6@$ �� ���L-� =�L{ ��m a�P�8f(x) 

?�²� �8�� w! .  

  

  

R z�&²� 3>��N k!�#0 �@+ k$�P��� 3>��N aZ ���  

���#�-� z 3.4�-� ����. 

  

3         �[k�p��� �p��
��)(� �pZ
NV�� ���  2Q
9R

����S�� ��Q��01�� 

 k$�P��� 3>��N ?����(�! ���� ~8�� aZ �ª z�&²� 3>���! 

 ��� �&� K�P0 3�&�L-� z *�� ����&���� �U�;P��:   

  

u6@-� w! ����x�� ���L-� aZ �&� Qz ¥� >�� k,(Z ?Æ� aZ 7P� � �U�;P�� ���� u6@$ aZ �mN �S����� 7$8  >���

������ H8�L0 �#U)�.  

 
��&��� =�L� R �B��,0 f1�
�� F/+d�EZ 
��� 
��&��� ?'E 7$ 
��²� p�! .  

G
N�: �!�;�� �&�� �l8Z C?8)� we�2�� g#� O�� 8 ������� ������ R ����&���� �U�;P�� ����� v�;��:  

�  a�P0 aZ ?�&��� KL�ZX 7$ ?�c&�� �&�@0 1 VN 2 .  
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�  a�P0 aZ ?�&��� KL�ZX 7$ ?�c&�� �&�@0 � 1 VN 2 .  
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a�P0 �P� x a�P� aZ K} �U�;� ���� C = 1/9.   
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4  l�>���� ��� F(x)����S�� ��Q��01�� �[k����   

��� �&� 3�&�L-� 3.4�&�� 9�<���� ���� W��0 : 

3�&�L-� 3.4�&�� ��L@��! J�Z ��§Z 9�<���� ����� . ��m R K�L��

*�� �@BZQ3�&�L-� 3.4�-� ���� R Q?�� ?�&���! 8  _�� R p������ �L�)� 7$ ?�� ?�&��� =�Ly8 Q��#B ?�&���!

3�$ k� R k$�P��� =�L� 7$ ��! 9�<���� ���� .������� 3� �#�� 7$ ��m �\�� : D�,!a, b ?�� 7$ a���#B 

 ¦���0X 5�{ Qb > a .  a�P0 aZ ?�&��� =�LyX ?�²� VN �&�@0 ]a, b]   :  

  

  

  

G
N�:  

 9�<���� ���� �l8Z g!�L�� ?�;-� R 3>��/-� 3.4�&��.  

?�&���� =�Ly 9�<���� ���� ��:�(� :  P(1< x <2).  
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5  f�A��( �&�
#Règle de LEIBNITZ 

�U�;P�� ���� �+ 9�<���� ���� �#�2$ aZ n��@�(� R �$���� �������� 3� �#�� F/+ ��,0:  
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G
N� : 3.4�&�� �U�;P�� ���� �l8ZX �mN ��� �&� 9�<���� ���� �B�� :     
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6 �D!R qj���o
N�� % G%T�   

  *��  ¦���0   ��&���� 9�<����)  ��&���� a�B�#�� 8Z (  3.4�-    ?'E 7$ ��1��2         8 3.4�³&�� �³@P&-� *�³#�� ����

�[ ��!�#-� 
��&����. 

 ?8�l ?'E 7$ �$N ���6��� �/+ *��)��&���� 9�<���� ?8�l ( ����&���� �U�;� ���� i&L0 Q���� 8Z.  

                     ��8�L³$ 
��&���� z�&� a�P� aZ 8 �$8� ��l�$ a�P0 aZ K} ����&��� �U�;� ���� ��Z �$ ���� 7  ?�#B �P�

������.  

 ����&c��� ������)9�<���� ���� 8Z (�$ ��#B VN 3.4�&�� �&�� �4�Z 7$ ?�� ?�&��� k;� :  

   ∑
≤

=≤=
xu

ufxXPxF )()()(    ��#�$ � ���� R      8 �∫ ∞−
=≤=

x

duufxXPxF )()()(     � �³��� R

3�&�L$.  

        ����s�$ �>�L$ 9�<���� ���� /Eq0 �S,����� ��AB)     ?�²� 7$ 	�slZ i�  ��!�� 8Z .(      �$�@  �;�Z ����&c��� ������ ��§Z <J0


��� 
��&���! �S@�� *�� �@B) 3�&�L$ 3.4�-� a�P0 .9�<���� ���� ��#��� ?'E 7$ �U�;P�� ���� n��@�(� 7P�.  
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  ا�'��اف ا
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*Kوم


58دة 
�*Kوم�
  ا
5ا
! ا
�5اد ا
D&"�ةBا !��M' ،)"L"&"W !��M'  

  
  

����� : VN ��8�  �L(�$ ��(>Z4	'&   . �+ ?8)� k�&��� 7$ ����e �#�0 ?�&���0.2 7$ Q

 v�;�� k�&���0.3 5��;�� k�&��� 7$ Q0.358 0.49!���� k�&��� 7$  . �+ �$ 	'&��� �8�> >�A�B� R

°
������� 7$ 9���-� �����  

                   f:�� w�$ 9���! n8�:�� n��» k! �@��$ ­���Z 8Z ­�� g#� ?�&��� =�L� �,P� � 
��y� 7$ ������ R

�@$�$Z ��8��-� ������� . �&�#$ ����$ 
�>��E w! ����,-� K�
� �� d�EZ �Sl 7$ k� ~��0>� K�L! �@��$ Ç���r

        7³P� ¦�PU Q3�e�¶ J�Z 7&\�0 O�� ��0 �+ ���8��$ �;�)� 
�>�&;�(�� aZ W8��-� 7$ j�,��¶ 3�e�:r Ç��$

   3�e�:-� a��Ly� R /EZ 8    �#��� �#���!8 9���-� Ç��-� 8          3�>��³�� d�E)� *�+�,-� ��#!8 9����� �#��e aN j�� ���$

0 aZ 7P� F' Z��m R �B� �L.  

,�&�
  Espérance mathématiqueا�	�IS ا����12  .1 ا

TN	

  �*��( ا
!
  �	TN دا

1  l#���� 4��15 

��� �&� ���#�$ ��1��2  3.4�- ������� 9����� W���:  

∑∑ ==
===

n

i ii

n

i ii xfxxXPxXE
11

)()()(
  

 8��� �&� 3�&�L$ ��1��2  3.4�- ������� 9����� W���:  

∫
+∞

∞−
= dxxxfXE )()(

  
 = �B���Z 9����� s$�Bµ 8Z µx.  

G
N�: ���#B ���� �#�B 4$ 
�� .Tl8 i�  �S�U k
» O�� 
��-� 7$ 9���-� ����� KL�Z .  

z�&²�  4 3 2  1  0  X Tl8 
��$ ��   

16/16 = 1 (1/2)
4  4 (1/2)

4  6 (1/2)
4  4 (1/2)

4  (1/2)
4  P(X)  

32/16 = 2 4 (1/2)
4  12 (1/2)

4  12 (1/2)
4  4 (1/2)

4  0  XP(X)  

216/32)()(
1

====∑ =

n

i ii xXPxXE
 

 w! 7$ w0�$ �+ 9���-� �����4
��$> .  
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 G
N�2 .3���8 3�$ ���#B ���� �#�B . K '�� �!��20 *���� i�  k
� �mN n� 2 �!��8 Q40 i�  k
� �mN n� 

  *����4Q 8 60       *���� i�  k
� �mN n� 6   �L�8 Q10        *���� i�  k
� �mN  n� 1  Q30      *���� i�  k
� �mN n� 

3Q8 50 *���� i�  k
� �mN n� 5 . �B<���$ ����� �B�� �mN �� g#�)9��0 k+3>�L�� 9��0 H8�L� �!��� .(  

  3>�L�� 9��0 7$ J�Z �!��� 9��0 a) �B<���$ .b ������ aZ �+ =��`�E(x) = 30/6 = 5 > 0 

z�&²�  6 5 4  3  2  1  C���� �E��+  

- 60  -50  40  -30  20  -10 �A����� �E��+   X 

6/6  1/6  1/6  1/6  1/6  1/6  1/6  P(X=x) 
(120-90)/6>0 60/6  -50/6  40/6  -30/6  20/6  -10/6  X*P(X=x)  

G
N�3 .������� �U�;P�� ���� 
�m 3.4�&�� ������� 9����� �l8Z :  

∫ ∫ ∫∫ ∞−
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2 ���  l#�5 

��s��-� �8s��� Q7������ k;$ _���#-� 7$ ��  =�L� �@  ���� 9��0 ��:�L�8 k�)�! ���0�-� �8s���. 

 7P��X �U�;� ���� �[ z � f(x)Q8 y = g(x)[ ��!�0 z � �.     

∑==
x

xfxgxgEYE )()())(()(
  

 ���� RX��
�$ � :           ∫
+∞

∞−
== dxxfxgxgEYE )()())(()(

  

  

G
N�1 .w0�$ ���#B ���� �#�B . �&LBXQ3>�� i�  ?�
y� 
��$ ��  8 Y=X² . KL�ZE(X) 8 E(Y).   

������� 2  1  0  X  

1 1/4 1/2  1/4  P(X = x)  

E(X) =1  1/2  1/2 0 X*P(X) 

  4 1 0 X² 

E(X²) = 3/2 1 1/2 0 X²*P(X) 

G
N�2 : 7P��X��� 
�m z � Q������� �U�;P�� �8 Y = g(x) = 3x² - 2x . KL�ZE(Y).  
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3 C]
���� l#���� 2Q
9R    

E (C) = C 
E(CX) = CE(X) 
E(X+Y) = E(X) + E(Y) 

  �B�� �mNa���#�L$ a�0.4�-�. E(XY) = E(X)E(Y) 

G
N�: �S� k� i#��0 aZ �L(�$ 9���0 3 k�&��� 7$ 
����e A8 4 7$ B .   

� 9���-� ����� KL�Z 7$ 3�#��-� 
������� 7$ A�@L�� R .  

� �S� R 3�#��-� 
������� 7$ 9���-� ��x�� ����� KL�Z.  

�S$��N ��!��- ����e k� 7  �!8�@$ TU�e 7$ k�&  k� w�� . k�&��� ©8�@$ ¦����� ��!�#$ 7$ �s�� aZ 9���0 *�A 

 ©8�@rB.  
E(12A) = 12E(A) = 12(3) = 36   
E(A*B) = E(A)*E(B) = 4*3 = 12. 
E(A + B) = E(A) + E(B) = 3 + 4 = 7  

�	
  Variance et écart typeا� 
�اف ا��&��ري  وا�	���� .2 ���

 ��&

  �*��( ا
 ��&

  >��;: ا


R"�ة ا
�*"�ر�! �
  ا

1 $�
���� 4��15  

��� �&� ��1��2  3.4�- 7������ W���: 

( )[ ]²)(² µσ −== XEXVarX  

 87������ >/l �+ H>���-� W��»��.         σ = √V(X) = √σ².  

 ���#�-� ��1��2��� 3.4�-� ���� R:       
( ) )(²)( xfxXV

x∑ −= µ
  

 3�&�L$ ��1��2��� 3.4�-� ���� R:  
( )∫

+∞

∞−
−= dxxfxXV )(²)( µ

  

G
N�. w0�$ ���#B ���� �#�B . �&LBX  KL�Z Q3>�� i�  ?�
y� 
��$ ��  V(X).   

������� 2  1  0  X  
1  1/4 1/2  1/4  P(X = x)  

E(X) = µ =1  1/2 1/2 0 X*P(X) 

 1 0 1 (X-µ)² 
V(X) = 1/2 1/4 0 1/4 (X-µ)² * P(X) 

 G
N�2 . 7P��X 7���0 KL�Z j������� �U�;P�� ���� 
�m z � X .  

( ) 3/4.)(²² =−= ∫
+∞

∞−
µµσ dxxfx
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2  $�
���� 2Q
9R 

V(X) = E(X²) - E(X)²  
V(CX) = C²V(X)  ,  V (C) = 0   

 �&S\�! 7  a�0.4�-� ?'#�(� ���� R  
V(X + Y) = V(X) + V(Y) , V(X - Y) = V(X) + V(Y) 

��	
 :Bw0�$ ���#B ���� �#� . �&LBX  KL�Z Q3>�� i�  ?�
y� 
��$ ��  V(X)�4�
�� ���:�(�!   

 V(X) = E(X²) - E(X)².   

 3.4�-� 7P��Y = 2X . KL�ZV(Y)��B �c� �#�B Q 8  �&LBZ�S�  k
�� �c��@��  . 3.4�-� 7���0 KL�ZW 

5��:  W = Z - Y 

 ������� 2  1  0  X  

1 1/4 1/2  1/4  P(X = x)  

E(X) = µ =1  1/2 1/2 0 X  P(X) 

 4 1 0 (X)² 

E(X)² = 3/2 1 1/2 0 (X)² * P(X) 

 
V(X) = E(X²) - E(X)² = (3/2) - 1 = 1/2 
V(Y) = V(2X) = 2²V(X) = 4 (1/2) = 2.  
V(W) = V(Z-2X) = V(Z) +V(2X) = V(Z) + 2²V(X). 
V(Z) = E(Z²) – E(Z)² = (1/6)[1²+2²+3²+4²+5²+6²]-(1/6)[1+2+3+4+5+6] =  70/6 
V(W) = (70/6) + 4 (1/2) = 82/6 = 13.67 

3  ��,
�1�� �[k���Variable centrée réduite  

 ��1��2  3.4�$ Hq! g6�B aZ 7P�X ��>���$ 3.4�$ )��s��-� 3.4�-� �\�Z i&L0(8  �[ s$��X* .  3.4�-� g6�0

-� klZ 7$ ��#�#y� 3.4�-�! ��>���-� � �L�� 8Z ��-�� 3��8 �[ _�� ��>���-� 3.4�-� a) �B>�# ... 7  J�0 �+ ��N8

 �&�� k�x ? X w! �U�L-� ?'E 7$ x8  9�����µ����)� 3�����! _� �!�L� 8 ��>���-� 
�U��»��! ��N.  

σ

µ−
=

X
X*

  
9����� f1�
E ?'E 7$8 9����� n�:�LB 7������8 ��>���-� 3.4�&�� 7������.  

  
[ ] 0)()(

1
)(

1
*)( =−=−=







 −
= µ

σ
µ

σσ

µ
EXEXE

X
EXE

  

( )[ ] ( )[ ] ( ) ( ) 1
²

²
²

²

1

²

²
²)*(²0*²*)(**)( ==−=







 −
==−=−=

σ

σ
µ

σσ

µ
XE

X
EXEXEXEXEXV

  
G
N� : KL�Z X* h(��$ klZ 7$70 H>���$ W��»� Q5Q8 XH8�L� : 55 Q60 Q50 Q75 Q80 Q70.  



?J���
    ص.   ب    1���Jات ا)���ء ا
 

=��`� :�+ *�#�� :"3 Q"2 Q"4 Q1 Q2 Q0.  

 G
N�2 . ?�&��� ��  a�0�>�$ R ��>�2-� klZ 7$ �� 8 �¿Z a'$�  =>���1H�$  . a�P� aZ �#!�L-� ��� ~��2�

²� <8�c�� � ����-� a<8 ?�µ ± 1.5σ .   

�+ ÇP��! h(��-� a<��� a�� �mNµ = 70 8  �+ H>���-� W��»��5Ç�  .�¿Z a'$���� k�#�( k+8   a�³� �mN �� 

�&�<8 :77QÇ� 8 80°Ç�   

=��`� : 7$ �+ ?��#�� ?��62.5 VN Ç� 77.5��  pU.LU ��/� QÇ� 8 �¿Z k�#� . 

4 �D!R 

      -� *+Z �+ 7������ 8 ������� 9�����        ��� �&� a��Lo 8 3.4�-� f1�
E 7  3J�-� 
����      3.4�³-� a�³� KL� Q

3�&�L$ 8Z ���#�$:  

∑∑ ==
===

n

i ii

n

i ii xfxxXPxXE
11

)()()(
  

∫
+∞

∞−
= dxxxfXE )()(

  
� 7$ kP� 7������ 8 9����4 ��(�(Z f1�
E ��� �&�U k;&�0:  

V(C) = 0                     �!��  ��  9��0 E (C) = C  
V(CX) = C²V(X) E(CX) = CE(X) 

 a�0.4�-� ?'#�(� ���� R�&S\�! 7  

 V(X + Y) = V(X) + V(Y)       
, V(X - Y) = V(X) + V(Y) 

E(X+Y) = E(X) + E(Y) 

V(X) = E(X²) - E(X)²  �&S\�! 7  a�0.4�-� ?'#�(� ���� R .E(XY) = E(X)E(Y) 

  

 �&�� 7  .�����! �&L0 O�� ��>���-� 3.4�-� ��:�L0 
�.4�-� w! �B>�#-� klZ 7$x7$ _��  ����)� �C���8 ?'E 

) Q7$< Q��$ QÇ� (... �&�#�� w! k
,0 O�� ��>���-� 
�U��»�� ���! ��N8x������� 9�����8 .  

 ��>���-� 3.4�&�� 7������8 ������� 9�����
σ

µ−
=

X
X* ������ i�  �§0 8 1 . 

 

 R �$ ����� ������� 9����� =�LyX)  8Z Q7������ ';$X² ( ������ *�� =�\B? ��!�#-� 
��&���� RX:  

∑==
x

xfxgxgEYE )()())(()(
      

 ∫
+∞

∞−
== dxxfxgxgEYE )()())(()(  
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,�&�
  ا�9ا�� ا��	9Vدة ��&4وم و موا�&4 .3 ا

  ا
*Kوم 

58دة 
�*Kوما�

5ا
! ا 

1  F%f1��Les moments 

����� 9��0 
�#���0 7$ �s��� J��� 7������ �& .�8s��� 7$ w �B w! s�� :Hs��-� �s���8 k�)�! h�0�-� �s��� .

$ ��  =�L� R �8s��� ��:�L0 k��&��� k$��$ k;$ _���#-� 7(coefficient d'asymétrie) α3 ���,��� k$��$8 

(Kurtosis ou coefficient d'aplatissement) α4. 

) L( rf���� Ff1�� µr Le moment central.  

 �l>��� 7$ Hs��-� �s��� W���r z *�� X��� �&� :  

( )( ) ...,2,1,0, =−= rXE
r

r µµ 

( )[ ]
( )[ ]
( )[ ] ²)(

00)()(

11)1(

2

2

2

1

1

1

0

0

0

σµµµ

µµµµ

µµµ

==−=

==−=−=

===−=

XVXE

EXEXE

EXE

  
��e KL� Hs��-� �s��� KLo��� �&� 3�&�L$ 8Z ���#�$ 3.4�-� ��:    

  
( )∫

+∞

∞−
−= dxxfx

r

r )(µµ
                      

( ) )(xfx
r

i ir ∑ −= µµ
  

 G
N�. �l>��� 7$ ��s��-� �8s��� KL�Z 0 Q1 Q28 3�U�;P�� ���� 
�m z 3.4�&�� :   



 <<

=
sinon0

20,2/
)(

xx
xf

  

  
( ) 1)(1)(

0

0 ∫∫
+∞

∞−

+∞

∞−
==−= dxxfdxxfx µµ

  
( ) ∫ ∫∫

+∞

∞−

+∞

∞−

+∞

∞−
=−=−=−= 0)1()()()(1 µµµµµ dxxfdxxxfdxxfx

 

( )
9

4
²)(

2

2 ==−= ∫
+∞

∞−
σµµ dxxfx

  

( ) ∫ ∫ ∫∫ ∞−

∞+∞+

∞−
=








−+








−+








−=−=

0 2

0 2

333

3

3
)5(27

)67(16
)0(

3

4

23

4
)0(

3

4
)( dxxdx

x
xdxxdxxfx µµ

  
G
N� : �l>��� 7$ ��s��-� �8s��� KL�Z0 Q1 Q28 3>�� i�  ?�
y� 
��$ ��  k;� O�� ���#�-� z 3.4�&��  3

���#B ���#� w��$> R.  

) O(   "DT
= s�5��� Ff1��Moment autour de la moyenne µ'r    

��� �&� k�)�! h�0�-� �s��� W���:         ...,2,1,0),(
' == rXE

r

rµ  
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





<<

=

sinon0

20
2

1

)(
xx

xf

2

'

22

'

2

'

1

1'

1

'

0

0'

0

²²²²

)()(

11)1()(

µµµµµσµµ

µµµµ

µµ

−=−=−=

====

====

XEXE

EXE

  
G
N� : �l>��� 7$ k�)�! ���0�-� �8s��� KL�Z0 Q1 Q2 Q38 4�U�;P�� ���� 
�m ��
�-� z 3.4�&�� :  

3

16

62

1
)

2
(',

5

16

52

1
)

2
('

,
9

12

9

4

3

4
²',3/4',1'

2

0

6
2

0

4

4

2

0

5
2

0

3

3

2

2210

=







===








==

=−







=−====

∫∫
x

dx
x

x
x

dx
x

x µµ

µµµµµµ

  
G
N�2.    k�)�! ���0�-� �8s��� KL�Z     �l>��� 7$ 0  Q1  Q2  Q3 8 4          
��³$ ��³  k;� O�� ���#�-� z 3.4�&�� 

���#B ���#� w��$> R 3>�� i�  ?�
y�.  

) e(  rf���� Ff1�� t= �#!1��% "DT
= s�5��� Ff1�� 

rri

ir

i

r

i

rrrr CC µµµµµµµµ ⋅⋅−++⋅⋅−++⋅⋅−= −− 0

1

1

1 ')1(...')1(...'' 

 �l>��� 7$ k�)�! ���0�-� �8s��� i�  ?�
y� �\�Z 7P�r �8s��� 3��c�-� ������ ��#��� ?'E 7$ r3�$ .  

2 ��F%f1�� � &E��� ���& La fonction génératrice des moments Mx(t)  

 3.4�r ���0�$ ���� �+ �8s��� 3��c�-� ������)�&��$ (t = �Se��0>� VN �U����! XQ8 ��� �&� z � �:  

)()( tx

x eEtM =  
���#�$ z � ���� R: ∑=

x

tx

x xfetM )()(3�&�L$ z � ���� R 8:  

∫
+∞

∞−
= dxxfetM

tx

x )()(  

G
N�: c�-� ������ K��Z klZ 7$ �>s��� 3�� t ≠ 0��� �&� R �U��-� z *��:  







<<

=

sinon0

20
2

1

)(
xx

xf

  

0
2

1
0)0()()0()(

2

02

2

0

0

++=++= ∫∫∫∫
+∞

∞−
dxxedxedxxfedxetM

txtxtxtx

x

  

t

e
VdxedVdxdUxUVdUUVUdVtM

tx
tx

x =⇒==⇒=




 −== ∫∫ ,.][

2

1

2

1
)(

2

0

2

0

2

0  

²2

1
2

2

1

2

1
)(

2222
2

0

2

0
t

e

t

e

t

e

tt

e
dx

t

e

t

e
xtM

tttttxtx

x −=

















−








=














−








= ∫

  
 �l>� 7$ Hs��-� �s��� =�Ly �8s��� 3��c�-� ������ ��:�L0r:     

0  
)(

==′ tavec
dt

tMd
r

x

r

rµ
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             Q�@��$ ~8�� g#� �@  ';$ Qw���&��� w��<�0 H8�L0 
���� z � ��� ��:�L0 �&� 8      �³@  �³��E ��m n��»

��&���� 
���<���� w! =>�#��� �(�>��� .�«�� �+ ��m R �S�&��LB O�� ���A@��:  

 z � 7P�� X8 Y z � ��� �&[ Mx(t) 8 My(t)  z � aZ ?�#B jX8 Y��mN ��&���� 9�<���� _,B �&[ :  

     Mx(t) = My(t)  

w���&��� w��<�0 ?'#�(N 
���� z � ��� ��:�L0 �&� .�«�� �+ ��m R �S�&��LB O�� ���A@��:  

  �mNX8 Y z � ��� �&[ Qa���#�L$ z � Mx(t) 8 My(t) a�U j  :    Mx+y(t) = Mx(t) . My(t)  

3 ��
�  

  �s���       �+ �8s��� ��c�-� ������ 8  ���0 7  3>�� ?�8� 
�)   �ABZ56�-� g!�L��  .(       p³�! =�L³� R �s��� kE��

k��&��� k$��$ 8 ���,��� k$��$ Q������� 9����� 8 7������ k;$ 
����-� .  

 �l>��� 7$ Hs��-� �s��� W���r z *�� X��� �&� :( )( ) ...,2,1,0, =−= rXE
r

r µµ  

��� �&� k�)�! h�0�-� �s��� W���: ...,2,1,0),( ==′ rXE r

rµ  

  

��� �&� �8s��� 3��c�-� ������ W��0:                 )()(
tx

x eEtM =  

 8 ����&��� 
���<�0 w! =>�#��� 
���� �8s��� 3��c�-� ������ ��:�L0w��(�(Z w���AB ?'E 7$ ��m.  

�  z � aZ ?�#BX8 Y��mN ��&���� 9�<���� _,B �&[       : Mx(t) = My(t)  

�   �mNX8 Ya�U a���#�L$ z �   :    Mx + y (t) = Mx(t) . My(t) 
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  >��� �Y���C% و >��� ا9�Xاد ا�M���ة .4 ا

 )"L"&"W !�^ا�
1  
�5اد ا
D&"�ةBا !��M' 

1 4�0���n �j6���� Inégalité de Bienaymé CHEBYCHEV  

     ���#�-� z � f´ ���AB �+ 8 h(��$ �[ a�P� O�� Q	��L�� i�  3�&�L-�8 �8�� 7���0 .  R �³��A@�� F/+ ��:�L0

 9����� ?�� ��2��� G���µQ8  ?�&��� g��e 7  ��m)��LB 8Z ( �U�L-� O�� 
���,-�)��,�� (�S@�!8  w!µ 7  ��s0 

�$ >��#$  : P(-ε ≥ (x - µ) ≥ ε)�>�
�E� �;�Z 3>���! 8Z :  P(|x - µ| ≥ ε) .  F/³+ a�U ¦�2���� ���AB KL�

 7  ��s0 � ��L@��σ²/ε² ،9�<���� ����e �B�� �&S$ ��m8 .��� �&� ���A@�� F/+ 7  J�B8 :  

 �B�� �mNX h(��$ �[ Q���#�$ 8Z ��
�$ z � µ�8�� 7���08  σ² 7P� �&S$ TB�U QεKl�$ ��  �$�� :  

²

²
)(

ε

σ
εµ ≤≥−xP
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9\B Q���� �;�Z �b��� klZ 7$ 8    :  ε = k σ �c@U :    
²

1
)(

k
kxP ≤≥− σµ  

 �\�Z �@��� Q�c��@�� _,B 7$ ��'�B� QTBZ ��� : 

      
( ) ( )

²

²
1)(

ε

σ
εµεµε −><−=<−<− xPxP

 
G�u@:    �6�6� 3>����� F/+ k+  :     7$ k�Z a�� �mN10 %          i³�  a��
o ��>�������� a�6�$� R 7�s1�,��  7$ 

        7$ �;�Z aZ ��� �/SU Q7L� 7$ �;�Z ���#090%   7³$ k³�Z ���#0 i�  a��
o ��>�������� R 7�s1�,�� 7$ 

7L� .*�B =��`�.  

G
N� : 7P��X h(��$ �[ ja�� ��Z ���<�0 9��0 z � µ�8�� 7���08  σ²،و εj�$�� Kl�$ ��    

1.  ?�&��'� i
�)� �y� KL�ZP(-ε ≥ (x - µ) ≥ ε) klZ 7$ ε = 2 σ Qε = 3 σ Qε = 4 σ.  

2. �'� È�)� �y� KL�Z ?�&�P(-ε < (x - µ) < ε) klZ 7$ ε = 2 σ Jε = 3 σ Jε = 4 σ.  

( ) ( )

( ) ( ) ( )

( ) ( ) ,
16

1
4)(4

,
9

1
33,

4

1
2)(2

²

²
)(

≤≥−=≥−≥−⇒=

≤≥−⇒=≤≥−=≥−≥−⇒=

≤≥−=≥−≥−

σµεµεσε

σµσεσµεµεσε

ε

σ
εµεµε

xPxP

xPxPxP

xPxP

  
( ) ( )

( ) ( ) ( )

( ) ( ) ,16/15
16

1
14)(4

,9/8
9

1
133,4/3

4

1
12)(2

²

²
1)(

=−><−=<−<−⇒=

=−><−⇒==−><−=<−<−⇒=

−><−=<−<−

σµεµεσε

σµσεσµεµεσε

ε

σ
εµεµε

xPxP

xPxPxP

xPxP

 G
N�2 . ?�&��� ��  a�0�>�$ R ��>�2&�� *S6���0 klZ 7$ >�cy� K��$ ?�&  a�<8Z /EZ *��1H�$  .  

1.  k�)� i�  ����0 *�� 5�{ ?��#�� ?�� ���� 7P� ¦��75% 7$ k�Z ����0 pU> Q?�&��� 7$ 25% 

°?�&��� 7$  

2. �� �+ �����U�� h(��-� a<��� a�� �mN ?�²� *�� �70QÇ� 8  H>���-� W��»��5Ç�. 

( ) ( )

( ) ( ) %75
4

1
12)(.2

²

²
1)(

=−><−=<−<−=

−><−=<−<−

σµεµεσε

ε

σ
εµεµε

xPxquePdéjàsavonsnousLorsque

xPxP

 

( ) ( )

( ) %25
4

1
2.2

²

²
)(

=≤≥−=

≤≥−=≥−≥

σµσε

ε

σ
εµεµε

xPquedéjàsavonsnousLorsque

xPxP

  
1.  7$ �;�Z aN75 %7$ �;�q! ����0 � a�<8Z *[ ?�&���  σ 2 �#���! T@  .����� 7P� �/+8 Qh(��-� 7  

 ?�#��! d�EZ  :      7$ H8�L� 8Z k�Z aN25          a<��� 7$ ��!Z a�<8Z *[ ?�&��� 7$ �£-�!     7³$ �;�q! h(��-�

σ2 . ?��� ?�� m�´� 7P� �mNµ±2σ��L-� W�[� g�#6�� .  

2. h(��&�� 3���-� *�#�� KL� W�[� g#o H/�� ?�²�8  7$ �+ H>���-� W��»��60 VN 80Ç� .  
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 G
N�3 . �+ w�$ 9&�� R G>�&��� 3�$ h(��$8 H>���-� W��»��8 Q
��@( σ = 1 .   

1. ?�&��� È�Z KL�Z w! G>�� 3�- 68 109&�²� �/+ 7$ ��1��2  >��¶ ��,� 
��@( .  

2.  7  ��s0 � G>�� 3�- ?�&��� i
�Z KL�Z6 7  k#0 � 8Z 
��@( 10
��@( .  

4/3
²2

1
1)2()610(

:2.26,2101,8.
²

1
1)(

=−><−=>>

=−=+=⇒==−><−

σµ

σµσµσµσµ

xPxP

kPour
k

kxP

  
 w! G>�� 3�- ?�&��� È�Z68 109&�²� �/+ 7$ ��1��2  >��¶ ��,� 
��@(  C� 0.75.  

4/1
²2

1
)2(

:2.26.
²

1
)(

=≤≥−

=−=≤≥−

σµ

σµσµ

xP

ksoit
k

kxP

  
 7  ��s0 � G>�� 3�- ?�&��� È�Z6(  7  k#0 � 8Z 
��@10 �+ 0.25.  

2  �[�V��  �&�T� ���*+Théorème des grands nombres  

�@���-� ���AB R ��E kP2! �S@$ ��,�L�8 ¦�2���� ���AB I1��B 7$ 3.�P�� ��� )� ���AB J��0 . ���A@�� F/+ É�
0

�«� kP2��! : 
�.4�-� 7P��X1 QX2 Q . . . .�#�L$ ��1��2  
�.4�$ ��&���� 9�<���� _,B �[ � �S@$ kP�8

 h(��-� _,Bµ8 7������ σ² �B�� �mN  
Sn = X1 + X2 + . . . +Xn                                    (n = 1, 2, . . .),   

0lim =







≥−

∞→
εµ

n

S
P n

n

 

 aZ �rE(Sn/n) = µ  3.4�-� ����0 aZ ?�&��� aZ �+ ���A@�� F/+ a�&\$ a�U Sn/n;�q! �����-� �S�&�� 7   7$ �ε 

 �+0�$�@    n →∞. ¦��\�� 3.�P�� ��� )� a�B�#! �\�Z �b��
�� F/+ i&L0 . 3.�P�� ��� )� a�B�� aZ 5��

�+ H�#��:  
Sn/n = µ] = 1   P[lim n→∞ 

3 �D!R  

 3.�P�� ��� )� ���AB8 W�2���� ���AB �+ 8 3.4�-� ��20 _�#0 O�� 
���A@�� 7$���� 9��0 
�#���0 7$:  

�  B�� �mN  �X         h(��$ �[ Q���#�$ 8Z ��
�$ z � µ  �8�� 7���08  σ²     7P� �&S$ TB�U Qε   ��³  

�$�� Kl�$: 

²

²
)(

ε

σ
εµ ≤≥−xP

  
�    
�.4�-� 7P��X1  QX2  Q . . . .        ��&���� 9�<���� _,B �[ ��#�L$ ��1��2  
�.4�$  k³P�8

 h(��-� _,B �S@$µ7������8  σ²�B�� �mN  

Sn = X1 + X2 + . . . +Xn                        (n = 1, 2, . . .),      

0lim =







≥−

∞→
εµ

n

S
P n

n
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�����  IV.  ت��ز"� ا�آ*� ا��(�ا��ا�������� ا��

  
!*�G
�

"! ا��

	ز�*�ت ا��
  ا

��ة>�

"! ا��

	ز�*�ت ا��
  ا

  

,�&�
  ا�	�ز�&�ت ��	����� ا��	�A&� اXآ�K ا)	�9ا,� .1 ا

�ZU

	ز�T ا

?، ا	'�7 Tز�	�5د، *
�

	ز�T ا
�5Z-? ا
Kا;5 ا

	ز�T ا
�5Z-? ا
Kا;5، ا

E ا�>

	ز�T ا
�ZU;? ا
;?، ا

*5د، �	ز�T 7	ا-	ن)�D-�7ل(�

	ز�T ا

	ز�T ا
�5Z-?، ا
  .، ا

  

��1��2��� 3.4�-� ��S,$ �@U�  aZ ��!8 3.S2�� ����&���� 
���<���� 7$ ��  G>�B aZ a«� �@@P� ��&���� 9�<���� .

          ��� ?�� R k1�L-� 7$ ������ k� R 
���<���� F/+ ��:�L0 � �@
�� .�L 8 H>�c��� 8  3>���� R .    F/³+ �;�Z 7$8

 � ��� 
���<���� :   a�(��! 9�<�08 �1�@;�� 9�<���� .           >��/�³(� i�  �>��� K����� a�P� aZ D��,� 3����� ���� R

                  7³P� ¦³��8 �³$ �U��$ 7$ 7P&�� aZ D��,� 
�#������ ?'E 7$8 Q��(�()� �S
1�
E8 �(8>�-� wB��#��

� ���:�(�a�B�� k.  

1     &Q�f�� C@&AX� l�>����:Distribution hyper géométrique  

) L( &Q�f�� C@&AX� l�>���� ��+
# �k�D e
�A�@�  :  

  G
N�1 .   T! �8�@�6    �S@$ 
���� 4 	�\�!  8 2 	��¿  .    z�l>N a8�! K6LB3
���� .   ?�
y� ?�&��� KL��

 Q7�8�\�! w0�� i� 38 Q	�\�! 3���8 ���� Q	�\�! 
����	�\�! ���� �.  

       
���� �8�@� 7$ K6LB �@BZ D��,B _
6,� �%&=   �+��  n       i�  H��o �8�@
�� a�� �mN QN     �S³@$ ���� b 

	�\�!8 r 	��¿ (N = b + r) w�$ ��  i�  ?�
y� ?�&��� a�U x ≤ b k
» aZ 7P� 	�\���� 
���P�� 7$ 

       
��&��'� �P�('P�� a�B�#�� ?'E 7$ T�� )  � 
��y� z  �&1'-/    �³@P&-� 
��³y� z(8    ���:�³(�! �³�m


�#�U����:  

     
n

N

xn

r

x

b

C

CC
xXP

−⋅
== )(

  
�4�
�� F/+ i&L0 :�1�s�� �(�@[� 9�<���� a�B��8 K�PB   b, p)  X ~ H(N, 5��:  

p = b/N 8  =1-p q = r/N  

��� �&� ?�;-� ��£(Z i�  �!�l�� a«� 7P�: 

P(X=2) = C4
2
 . C2

3 
/ C

1
6

  
 

= 12/20     , P(x = 3) = C4
3
 . C2

0 
/ C6

3  
 

= 1/5 , … 
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) O(  &Q�f�� C@&AX� l�>���� 2Q
9R  










−

−
==

1
²,

N

nN
npqnp σµ

 
�A�'$ :.E)� �/[ ����B �$�@  �+��/@( �1�@;�� 9�<����! ��'  �1�s�� �(�@[� 9�<����. 

2  &1��� &Q�f�� C@&AX� l�>����:Distribution Multi-hypergéométrique  

) L( ��� &Q�f�� C@&AX� l�>���� ��+
# �k�D e
�A�@� &1 

  w,@� 7$ �;�Z ��l8 ���� i�  g!�L�� a�B�#�� *�&�0 ���SL! 7P�)k¦@� ( �@��� ¦@� k� 7$ 5�� QNi 

Q����  

) ΣNi = N ( ';$ j�@��$ �c��B ?�&��� =�Ly8 Q2 	�\�! 
���� )X1 = 2 ( Q5 Q	��¿1 Q	��><  . . . 7P�

� 
�#�U���� ?'E 7$ �@P&-�8 �&1'-� 
��y� ��  =�L���� �&:  

nxNN
C

CCC
xXxXxXP

k

i

k

in

N

k
x

k
N

x

N

x

N

kk ====== ∑∑ 11

2

2

1

1

2211 ,
...

)..,.,(

  

) O(   &1��� &Q�f�� C@&AX� l�>���� 2Q
9R 

i

i

i np
N

N
nXE ==)(

 

 �*)!�:.E)� �/[ ����B �$�@  �+��/@( �1�@;�� 9�<����! ��'  �1�s�� �(�@[� 9�<���� . 

3 :�+�= l�>�51  Distribution de Bernoulli   

) L( :�+�= ��+
# �k�D e
�A�@� 

  ��Z �!�^ 7  ?�#B"����B�! "�c��B k&�� �B�� �mN w)w��� ( w��U�@�$A8 A’.  �&LBA¢�ª 8 A’k2U .  

 z 3.4�-� J��BX k;� O�� w
EA�� ����  &� /Eq0 Q X �&�#��1 ­�y� g#� �@  A8 0�L���-� ���y� R .  

 = 3��  s$�Bp" ¢�c@�� ?�&��� " ­�y� g#� ?�&���A8 q = 1 - p _���-� ­�y� ?�&��� )k2,�� .(  w³��

�! 9�<�0 ��� �&� ��B:  

                              .1,0,)0(,)1( ===== XqXPpXP  
 K�PB8X ~ B(1, p) 

) O(  :�+�= l�>�5 2Q
9R  

= 1.p + 0.q = p   =>          E(X) = p.                  E(X) = Σxipi  
V(X) = E(X²) – E(X)² = (1².p + 0².q) – p² = p – p² = p(1- p) = pq =>      V(X) = qp.      

��� ���&��F%f1�� � &E M(t) = E(e
xt

) = e
0t

q + e
1t

 p =>    M(t) = q + pe
t
.           

                                                 
1  *(�! Jacques Bernoulli  a�#�� �E�8Z R 9�<���� �/+ G>� H/�� 17 .  

( ) ²)²()1()0()( 33333

3 pqqpqppqppqpxpx −=−=−+−=−=∑ µµ
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 "x
���� "�
1�    

qp

pq

qpqp

pqqp ²²²)²(
3

3

3

−
=

−
==

σ

µ
α 

4 CQ
AN�� l�>���� Distribution binomiale   

) L( CQ
AN�� l�>���� ��+
# �k�D e
�A�@�: 

 ��B�! �!�^ �B>�� �mN n a�U 3�$ X) ¢�c@�� 
��$ ��  (*�#�� /Eq0 :          X = 0, 1, 2, 3, . . . n  

 ���#B ���� �$> ����BJ�� �!�c��� D��,@� 3>�P$ �� nQ
��-� 7$ 8 X 3>�� i�  ?�
y� 
��$ ��  )F:(  

 ����  :  n = 2      X = 0, 1, 2.     
P(X = 0) = q*q = q²,   P(X=1) = P(FP) + P(PF) =  p*q + q*p =  2p

1
q

1 

 ���� :    n = 3     X = 0, 1, 2, 3.    

P(X=3) = P(FFF) = p*p*p = p
3
, P(X=2) = P(FFP ou PFF ou FPF) = 3p

2
q

1
  

 ���� :   4n =     X = 0, 1, 2, 3, 4.    

P(X=3) = P(FFFP ou PFFF ou FPFF ou FFPF) = 4 p
3
q

1
   
      ����� ��'B 3.E)� �c��@�� R3   �+ x    ����� Q 1   �+ n-x Q  8   �����4        i³�  ?�
6�� �&1'-� ����� ��  �+ 

'� 
���ª ­ w! 7$(n=4)��� �&� T!�L� 7P�8 Q=>�^   : 

)!(!

!

xnx

n
C x

n
−

=
 

  
 �$ ��  ?�&���U �����!8xw! 7$ 
���c@�� 7$ n   ��� �&� KLo ����B�! �!�^:  

  

....,3,2,1,,....,3,2,1,0,)( ==== − nnxqpCxXP xnxx

n  
 5��x Q¢�c@�� 
��$ ��  p ¢�c@�� ?�&���  3������ �!�c��� R) �³!�c��� >��P0 �@  �!�� i#��( Qq = 1-p 

 k2,�� ?�&��� 8 n  �c��� ��  =>.     ¦���0 �+ 8 "  �1�@;�� 9�<���� a�B��"       �&� �\�Z ��&���� 9�<���� a�B�� K�P�8 

���:  
xnxx

n ppCxXP
−−== )1()(  

Z8 X ~ B(n, p).  

) O(   CQ
AN�� l�>���� F�&3�@� m%�n  

o 
��-� 7$ ��� ��  3>�P$ ����B�! �!�^  

o �!�� �!�c��� R ¢�c@�� ?�&���) ��#�L$ =>�c���(  

 G
N� : �@  KL�Z���#B ���� �$>  �B<���$4i�  ?�
y� ?�&��� 
��$  :  

 Qw0�$ Q3���8 3�$ Q3>�� 3�$ �8 3 Q
��$ 4
��$  .  
P(X = x) = C

x
n  p

x
 q

n-x
 => P(X = 0) = C

0
4  0.5

0
 0.5

4
 = 1/16 

   P(X = 1) = C
1

4  0.5
1
 0.5

3
               P(X = 2) = C

2
4  0.5

2
 0.5

2
   

 G
N�2 : K6LB z�l>��!3��  7$ 
�� �8�@� H��o5 �S@$ 
���� 3	��¿ .   
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npq

pq61
34

−
+=α

 i�  ?�
y� ?�&��� KL�Z���w� 	��¿.   

 P(X=2) = C
2

3  (3/5)
2
 (2/5)

1
  

) e(   CQ
AN�� l�>���� 2Q
9R  

9�����8 7������ : >��� � 7P�X����B�! ��#�L$ 
�.4�$ z�&�  X = X1 + X2 + … X i+ … + Xn    _³,B �[

 *��-�p ��� _,B �����!8  9��(E(Xi) = p) �\�Z .9����� f1�
E ���:�(�! �mN8 �ª 7������:  
 E(X) = E(X1 + X2 + … Xi + … + Xn)  = ΣE(Xi) = Σpi = n p   => E(X) = np 

V(X) = V(X1 + X2 + … Xi + … + Xn),  

XiamN ��#�L$        V(X) = ΣV(Xi) = Σpq =>V(X) = npq 

G
N� :9����� KL�Z8 �� ?�;&�� 7������ g!�L:  
  

�8s��� 3��c�-� ������ : >��� �!X  ��#�L$ ����B�! 
�.4�$ z�&� X = X1 + X2 + …Xi + … + Xn  _,B �[

 *��-�p 8 �8s��� 3��c�-� ������ _,B :  MX(t) = [q + pe
t
]�8s��� � ������ ��
· �#!�L�� ���A@�� ���:�(�!8 :  

"klZ 7$1  X8 X2 �[ ��#�L$ z � �� � �����8s��� Mx1(t)% Mx2(t) a�U: Mx1 + x2 (t) = Mx1(t). Mx2(t) " j

I�@�LB:  
MX(t) = Mx=x1+x2+…xn(t) = Mx1(t) . Mx2(t) … Mxn(t) 

MX(t)= E(e
x1t

) . E(e
x2t

) … E(e
xnt

) =>                 MX(t) = [q + pe
t
]
n   

       "x
���� "�
1�  

( ) ( )∑∑ −==−=−== )(...)()(.
33

33

3
3 pqnpqxpnpxxpx µµ

σ

µ
α

      
[ ]

σ
α

p

npqnpq

ppnpq 21)1(
3

−
=

−−
=⇒

npq

pq
encoreou

−
=3: α

 
�&�$ �1�@;�� 9�<���� u6@$ a�P��$�@  '�   α3 = 0 =>  2 p = 1   =>  p = ½  

y������ "�
1�    

  

�$�@  ����$ 9�<���� u6@$ a�P�   α4 = 3 =>  qp = 1/6  

)  ( O,
�5 �&�
# :&Q�f�� C@&AX� l�>���� t= �#!1��% CQ
AN�� l�>����  

 ���� RN ��l .�� ) VN ?8��∞ (a�U   (N-n) / (N-1) VN ?8�0 1) n�8�� .(8 $   �³��� d�³EZ �Sl 7

z�l>��! K6L�� ����#0 �#!��$ z�l>N a8�! K6L�� ��
�8 �1�s�� �(�@[� 9�<���� 7$ ����� I1��B �1�@;�� 9�<����.  

 

5  U�
S�� CQ
AN�� l�>����)G
V@
= (Distribution binomiale négative 

) L( U�
S�� CQ
AN�� l�>���� ��+
# �k�D e
�A�@�:  

G
N�:      VN ��#B ���� �$�B  i�  ?�
y� ���b3 3>�� 
��$ )� 8Z ������$ .(  �³�m i�  k
» aZ ?�&��� KL�Z

 ��!5 Q
��$> 4 Q
��$> 3�$<'�� 
��$��� ��  9��0 Q
��$> 8 7������ KL�Z.  
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       ����B�! �!�^ �@��� 7P�� ���l 7$)  k2U8 ¢�ª w�c��B (     3�-� F/+ 7P� Q3>�P$      t1�  &� 8�� G�9I� ��
� ��

)r  (� $��
)
EA�.X  �+ ���y� F/+ R �=�E��� ,��V5 ����  &� i�  ?�
y� ���b VN r¢�ª  .  

         ¢�c@�� g#� aZ *��B ° ?�&���� KLo ¦��r    T��&��� 3�$ p
r     k2³,�� ?�&���8 x-r      H8�L³� 3�³$ q

x-r .  �mN

 w��&���� 7�/+ 	��l 7&\�� =���-� ?�&����p
r
 q

x-r . -� ����� 7$ ���  ¤�@+ 7P�'&1 g�#6�� �r 7$ ¢�ª 

 w!X¢�ª �+ �!�^ �E¡ aZ *���� 9$ �!�^  . >���E� �&1'-� ����� ��  �mN H8�L� ����� �/+r-1w! 7$ ¢�ª x-

1 �!�^ C
r-1

x-1   ) �c��@�� �$���$ 3.E)� �!�c��� .(  

∞+=∞+++=== −−
− ,...,3,2,1,...,2,1,,)( 1

1 rrrrXqpCxXP rxrr

x  
K�PB8 K��L�� �1�@;�� 8Z ?�P(�! 9�<�0 9�<���� �/+ i&L�: X~B (N, r, p)  

���� �r g!�L�� ?�;-� ��£(Z i�  �!�l�� �mN 7P:   
P (X =  5) = C

3-1
5-1  p

3
 q

5-3 
 = C

2
4  (½)

3
 (½)

2 
  = 6 (1/8) (1/4) = 9/32  

µ = r/p = 3/(1/2) = 6 ,  σ² = rq/p² = 3 (1/2) / (1/2)² = 12/2 = 6  

) O(   U�
S�� CQ
AN�� l�>���� 2Q
9R  

( )rt

t

qe

e
ptM

p

rq

p

r

−
===

1
)(,

²
², σµ

 

nq

nqq

q

q )1(3)²2(
3,

1
43

−++
+=

+
= αα

  

6  C@&AX� l�>���� Distribution géométrique  

) L(  C@&AX� l�>���� ��+
# �k�D e
�A�@�  

3>�� i�  k
» aZ VN ���#B ���� �$�B . ��m K���� aZ ?�&���4�+ 
��$>  :P(X= 4) = P(PPPF)   

             =���-� ­�y� 8Z �c��@�� i�  ?�
y� ���b VN �!�c��� >�PB 3�-� F/+8 ����BJ�� �!�c��� VN ���l 7$ ���B) ¢�ª

 3���8 3�$.(   ��1��2��� 3.4�-� X �!�c��� >��P0 
��$ ��  k;� O�� ) ¢�³c@�� �S�U k
� O�� 3�-� �S�U �r  (  9³��0

�(�@[� 9�<����.  

 = ¢�c@�� ?�&��� �Bs$> �mNp = k2,�� ?�&���8 q��� �&� T�!��� 7P� ?�&���� a�U  :P(X= 4)  = q
3
p  

? �&�� HZ ?�&��� a�U �$�  �,
!8 X T@  J��  ��� �&�:  

...,3,2,1,)( 1 === − XpqxXP x

  

) O(    C@&AX� l�>���� 2Q
9R  

  ( )t

t

qe

e
ptM

p

q

p −
===

1
)(,

²
²,

1
σµ

q

p

q

q ²
12,

1
43 +=

+
= αα

  
  

�A�'$ : 5�� ?�P(�! 9�<�0 7$ ���E ���� �N �+ �$ �(�@[� 9�<����r = 1   
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7  &1��� l�>���� Distribution multinomiale    

) L(   &1��� CQ
AN�� l�>���� ��+
# �k�D e
�A�@�  

G
N� . ��B ���� �$�B4 
��$ .w0�$ i�  ?�
y� ?�&��� �l8Z *���� 68  *���� w0�$1.  

                   9³�<���� k&��L³� Qh#U w�c��B k�#0 �!�^ ���� R k&��L� ?8)� �&@��U Q�1�@;�� 9�<���� *�&�0 �+ ����-� 9�<����

        ��  �!�c��� a�P� 5�� �$���� ���6�� ����-�k   �@P&-� I1��@�� 7$  .    �S\�! 7  =>�c��� ���'#�(� 9$ .   F/³[ s$�B

  = I1��@��A1, A2, . . . Ak8  = �C��&���p1, p2, p3, . . . pk .  ­���)� aN �r)I1��@�� ( Aia�U ��U�@�$:  
= 1  p1+ p2 + p3 + . . . + pk  

     �!�c��� F/+ �B>�� �mN� &1��    ��  I1��@�� n        ­�� kP� �@��� a�P�LU 
��-� 7$ )�c��B (    ��  k;� ��1��2  3.4�$

T ��8 
��$. .4�-� F/[ s$�B = 
� X1, X2, . . . Xk    5�� X1 + X2 + . . . + Xk = n.        

K��-� ­�y� ?�&��� KLo :X1 =  x1, X2   =  x2,  . . .,  Xk = xk   ��� �&� :  

kx

k

xx

k

kk ppp
xxx

n
xXxXxXP ...

!...!!

!
),...,,( 21

21

21

2211 ====

 

) O(   &1��� l�>���� 2Q
9R   

E(X1) = np1, E(X2) = np2, . . . ,               E(Xk) = npk  
V(X1)  = np1q1, V(X2) = np2q2,  . . .       V(Xk) = npkqk  

) e(     &1��� &Q�f�� C@&AX� l�>���� l� �#!1�� 

 �$�@  Q����-� �1�s�� �(�@[� 9�<���� RN�∞, Ni�∞, Ni/N �pi  =�Ly  ����-� 9�<���� ��:�L� j 


��&����.  

G
N� :��B ���� �@�$> �mN 42�@�� 
��-� 7$ ��  *�> k� �SA� aZ ?�&��� KL�Z Q3�$  T0�m *���� 9$ K() *����1 

 *���� Qw0�$ �SA�2 �SA� 4 *���� Q
��$ 3 �SA� 6
��$ 8 �/P+.(   

( ) 124

621 )6/1(...)6/1²(6/1
!12...!6!4!2

!42
)12...,4,2( ==== XXXP

 
G
N�3 .     T! �8�@� 7$ K6LB5     7$ �&��$ 
���� 1   VN 5          VN �S�l�B � ���� ������ i�  
��$ 9�(  

�8�@
�� .?�&��� �l8Z :3 *�> 
�m 
���� 1 *�> 
�m w���� Q28  *�> 
�m w����4.  
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8 ��@��= l�>�51 Distribution de Poisson  

) L(  ��+
# �k�D e
�A�@��5$@��= l�>  


��-� 7$ �1��� 8Z ��l .�� ��  3>�P$ ����B�! �!�^ �@��� 7P�� . 3.4�-� ��1��$X 9��0 
���c@�� ��  k;� O�� 

�@  9�<���� �/+ �4�� ?�&��(�! ?�&���� =�L� K�
� �� 7P� Q�1�@;�� 9�<���� a�P0 �$n3.��  . ?�&��N ';$

20 �B�� �mN ¢�ª n = 100�+ : 802020

100 999.0001.0)20( ⋅⋅= CP.  

Q7$s��! �(�#$ �!�c��� >��P0 
��$ ��  ��
� j>��&�(�! �!�c��� >�P�0 �$�@ 8  �Ay R ­�y� g#� ?�&��� a�P�

��l �.4� 7$< . �$�@  �1�@;�� 9�<���� �4�� ?���0 �$�  �4�� ��}N VN ���y� F/+ R n��»n�  VN ?8�∞.   

 9\Bλ5�{ �!��  p = λ/n :   
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 7P�: λλ −
∞→ =








− e

n

n

n 1lim

         
aZ �r8        ( ) 1011lim =−=








−

−

−

∞→

x

x

n
n

λ
  a�U    :  

...,2,1,0
!

)( ==
−

x
x

e
xp

x λλ

  
 ?�&��� �+ 8x 5�� a�(��! 9�<�0 KL� 3���8 7$< 3��8 R ¢�ª λ > 0  .K�PB8 X~P(λ)   

�A�'$:  ...71828.2
1

1lim ==







+∞→ e

n

n

n     

) O(  ��@��= l�>�5 2Q
9R 

[ ]
λ

α
λ

αλλ
1

3,
1

,)1(exp)(,)()( 43 +==−=== tetMXVXE

 

                                                 
1 (��! s�B8� a��&�( *(�!a�Siméon-Denis Poisson (1781-1840)  �@( a�B�#� �/+ ��:�(� H/�� �LB�,�� ������� 8 �1��s�,�� 1837 R 

 v�-� ?�²� R 8 ���`� ?�� R ��P�)� ?�&��� R 5{ T!���(Recherche sur la probabilité des jugements en matière 

criminelle et en matière civile) Z 5�� �1�@;�� a�B�#��8 ?�P(�! a�B�#� ���S@� kE� . VN ���� T�� k&o H/�� a�B�#�� T� ?�&��(� ?8Z aZ �N

1830 .¦�2���2� KL@0 O�� 3.�P�� ��� )� ���AB �+ d�EZ �&S$ ���AB R k\,�� K��� a�(��! aZ VN 3>���� >�^ . ��!<8�>� n n �ABZ[1997] .  



 T7ا�

"! اBآ�U ا-
#5ا�1    ا
Y�0 ا��

	ز�*�ت ا��
 ا

) e(  H�&)T� $�  &� G
��)� O
S) ' t$�> �&)%  .  

 >��#$ 8Z ��  klZ 7$t D��B 7$s�� 
���8 7$ λ  = λt�c@U : 

( )
...,3,2,1,0,

!
)( ===

−

X
x

et
xXP

tx

t

λλ 

G
N� . ?�³�r a�(��! 9�<�0 9��0 w�$ �,0�+ s��$ VN k
0 O�� ��,0�[� 
�-�P-� ��  aZ D�,! λ=5  R 

��B�;�� . KL�Z ?��8 ?�&���7��B�� R 
�-�P$ 8 ¦
B.   

( )
!7

)5(5.1
)7()5(5.1

)7(5.17 −

===
e

XPtλ
  

)  ( )� O
S) &� G
���A�1� �zZ $� H�&)T� $�  .  

 a�� �mNX ?��r a�(��! 9�<�0 9��� λ a�U QY= aX ?��r a�(��! 9�<�0 9��� �E«� �+ aλ.  

G
N� .?��r a�(��! 9�<�0 9��0 w�$ �,0�+ s��$ VN k
0 O�� ��,0�[� 
�-�P-� ��  aZ D�,! λ=5  Q��B�� R 

 aZ86%-�P$ �+ 
�-�P-� F/+ 7$ ���8� 
� . k
0 aZ ?�&��� KL�Z9��B�� R ���8� 
�-�P$ .  

!9

))5(05.0(
)9(

)5(05.09 −

==
e

XP
  

) 	( ��@��= l�>��� o
���� "�N���� 

  3�� a�P� �
��@�$ ���� �+ a�(��! 9�<�0 ����e ����( ) 3�� 7$ d��Z �+8λ(  Q 9�<�0 *(�� Q���#�$ ���<�0 TB�P�

 3�& Z n>�$ ?'E 7$ a�(��!(Diagramme en bâtons) .'$ K�
� �� �/+ �N 9�<���� ¤��( �A�

������� 9�<���� 7$ �£�2U �£�� =��#� 9�<���� aZ �SA� 5�� QI�>����! 3� �
�$ ¥��r ��;$Z 3�  ���:�(�! �- λ 

���,P�� T�U �r .�� . ��B����� ��(�����m w�0 ������� .  

 

 �
� 7     0 ¤��( 7$ �&��-�  3���< �@  a�(��! 9�<�1  VN 2 VN  5) w&��� VN >�L��� 7$( 

) %( CQ
AN�� l�>���� $� (&= ��@��= l�>�5 F�&3�@� .  

 �$�@ n�∞8 a�(��! 9�<���� VN �1�@;�� 9�<���� ?8�� �!�� h(��-� . 7$ ����� I1��B a�(��! 9�<�0 ���� ���& 

�- �1�@;�� 9�<����:  

 30 ≥ n       %        5 < np  %L 5 < nq 



?J���
    ص.   ب    1���Jات ا)���ء ا
 

8 ������� 3� �#�� �1�@;�� a�B�#�� 7$ ��! a�(��! a�B�� ?�&��(� ~�2� �\�Z w�1�
��� 7$ p�! ��:�L�1 :  

n ≥ 25   %  p ≤ 0,1    

G
N� :    ��1��2  /EqB10         ¦����� �Sl��BN ��LB ��¡ n��B� 7$ 
���8 10 %  .        ¤�³@+ a�³P� aZ ?�&��� KL�Z

a�0��8a��,��0 .  

P(X = 2) = C
2

10 (0,1²) (0.9
8
) = 0.1937 

~2 .a�(��! 9�<�0 ?�&��(�! : �&��-� �&�� �8Z KL»    λ) a�(��! a�B�� �&��$:(  
λ = µ = np = 10 * 0,1 = 1  

            P(2) = λx
 * e

-λ
/x! = (1

2
 * e 

-1
) / 2 ! = 1/(2e) = 1,1839    

) >( ��@��= l�>��� C��1�� F�&3�@(�  

¨               3����$ 
��� R k&��L� ����� T@P� Q3>��@�� ­���)� k�;&�� h#U k&��L� ����e 3��,� a�(��! 9�<�0 k .  7³&U

? 3.S2�� �(�>���(Ladislaus Bortkiewics)   ��³�Z ���`� R ���`� 
�P
! ��@`� 
�!��N ­���� 7  

         3��`� �����$ �S@$ j
��²� �� R k&��L� a�(��! 9�<�0 �����       
��
0�� Q>�A�B�� �+��¨ .�L0 Q��1�
�N ) �� 

7$< 3��8 R 
�-�P-�(Q  ��:�L� �&�	��s�,�� R ��l������� R8 ��2$ 3��$ 7$ �;��@-� 
�£�s`� ��  �(�>�� ��8�@�� 

�#����� (microbiologie)=>�^ k#� R ��.�P��� ���P0 �����-  Q ��:�L� �&� ?���)� *�  R ��8 ��l������� R

H�`�  .  

             �#���$ k1�L$ �(�>� �@  ��E kP2! a�(��! 9�<�0 ��:�L� Q.�L��� ?�� R"  >�A�B��  �+��A!"    z�@�� �/+ �,U j

   Qk1�L-� 7$           a�(��! 9�<�0 9��� �$��� a�P$ VN 71�!s�� ?��8 aZ D��,� �$ �.;� .  ��m ��;$Z 7$ :  
��1���� �� 

  O��                     VN a��
³� 7�/�� 71�!s�� ��  Q7$< 3��8 R 	�@�$ VN k
0 O�� �E����� ��  Q7$< 3��8 R >��-� VN k
0

                  k
0 O�� ����c��(�� 
��y� ��  Q�,0�+ s��$ VN k
0 O�� ��,0�[� 
�-�P-� ��  Q7$< 3��8 R H���! K�P$

 Qi,2�L$ VN ...B�� W�,� ���AB R �+��A�� F/+ i&L0 >�A�"?����� �+��A! ."  

G
N�1 .��$�� w����� ?��r a�(��! 9�<�0 9��� w�$ k&�$ R k&��� ­���� ��  aZ �(�>� �@�! .  

w�$ ��� R ­��� HZ kcL� � aZ ?�&��� �l8Z .��� R k�)� i�  ­��� ?�&��� �l8Z:  

P(X = 0) = λx
 * e

-λ
/x! = λ0

 * e
-λ

/0! => P(X = 0)  =  e
-λ  

 = e
-2

           

P(X ≥ 1) = 1- P(0) = 1– [λ0
 * e

-λ
/0!] => P(X ≥ 1) =  1 - e

-λ 
 = 1 – e

-2  

G
N�2 .                � �L³�� w³! �³@��$ 7³�Æ! ��� VN k
0 O�� 
�>��L�� ��  aZ �#!�( ��1�
�N �(�>� �@�!12:00 

812:05     h(��-� R �+ 3          VN k
0 O�� 
�>��L�� ��  aZ �(�>��� �@�! �&� Q
�>��( a�(��! 9�<�0 9��� ���� .

 k
0 aZ ?�&��� �l8Z4 w! 
�>��( 12:008 12:05.  

 � �L�� R 
�>��L�� ��  h(��$  =2 * 3 = 6T@$8 :  
= 1296 * e

-6
/24 = 54 *  e

-6
                   P(X=4) = 6

4
 * e

-6
/4 !  

          �1�@;�� 9�<���� �\�Z8 a�(��! 9�<��� aZ VN 3>���� �4�@� Q.E)� R         >�eN R �+��/� ��#-� 9L�� � �&S$ f1�
E 

                  �³&� j�
³
:�-� 9l��-� R �S�����$ VN K����� k�» ��/� Q
�#������ R �S\��� D���@( 7P�8 QG>��� �/+

                                                 
1
   ��!<8>� �ABZ1997 � Q262 .  
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 k��&�-� 9�<���� k;$ �C�$��:�(� ����� ��AB �&S$ d�EZ 
���<�0 �l�0(distribution uniforme) ����B ¥ Q

��� �/+ R �[���� T;{ ?'E 7$ �[�&P�(� K����� � �B QG>.  

9  �D!R   

@�� *+Z f:�� g6�-� ?8�`�3.S2�� ���#�-� 
���<���� ?�� ~�#.   
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xnx

n
C x

n
−

=

l�>����  F&3�S� {�  �[k���� �AV��� ^����  G
��)(�  l#����% $�
����  

&Q�f�� C@&AX�  
b,p)  X~ H(N,   

z�l>N a8�! K6(.  

w,@� 7$ 
����.  

X  ={0,1,2,…,b} 

, 

 

b ≤  b + r = N 

  

 

n

N

xn

r

x

b

C

CC
xXP

−⋅
== )(

 

= ,npµ










−

−
=

1
²

N

nN
npqσ

 
p = b/N 8 q = r/N 

n �!�6L-� 
���P�� ��   

N �� ���� ��P�� 
���P�  

b 	�\���� 
���P�� ��    

r 	��&y� 
���P�� z   

   &pQ�f�� C@&AX�

 &1���  

 
 ~8�³³� _³³,B

     9³$ �³1�s�� �(�@[�

    w,@� 7$ �;�Z ��l8


���P�� 7$.  

Xi 

={0,1,2,…,Ni} , 

 

Σxi = n, ΣNi = 

N 

P(X1=x1,X2=x2,…Xk=xk)= 

 

n

N

xk

Nk

x

N

x

N

x

N

C

CCCC ⋅⋅⋅
=

3

3

2

2

1

1

 

E[Xi] = n (Ni/N) 

= npi 

:�pppp+�= 

X~B(1, p)  

    3�³��8 �!�^)  .³b

3>�P$ (w�c��B k�#0.  
X = {0, 1} 

P(X = 1) = p,  

P(X = 0) = 1 - p = q 
µ = p,    σ²= pq 

CQ
AN��  

X~B(n, p)  

   Q�c��@�� ��1�@� =>�^

3>�P$8  ��#�L$) p 

�!��.( 

X = {0,1,2…,n} 

P(X = x) = C
x
n p

x 
q

n-x
 

 µ= np, σ² = npq  

  G
V@
=) CQ
AN��

U�
S��(  

X    =>�c��� ��  �+ 

   i�  ?�
6�� �$<'��

  �� r   
���c@�� 7$ 

 �³³���B�! =>�³³^ R

3>�P$.  

X = {r, r +1, r 

+2, …, +∞}  
P(X = x) = C

r-1
x-1 p

r
 q

x-r  
µ = r/p , 

 

σ² = rq/p²  

C@&AX�  

X    =>�c��� ��  �+ 

  �$<'��  i�  ?�
6��

 R ?8)� ¢�³³³c@��

3>�P$ ����B�! =>�^.  

X = 

{1,2,…,+∞} 
P(X = x) = q

x-1
p 

µ = 1/p,  

 

σ² = q/p²  

 &1��� l�>����  

     9³�<���� *�³&�0 �+

     �³!�^ i³�  �1�@;��

I1��@�� 3����$ 3>�P$ .  ∑
∑

=

=

≤≤∀

=

=

NNi

nxi

Nixii

k

i

k

i

1

1 ,

,0,

 

==== ),...,,( 2211 kk xXxXxXP

kx

k

xx

k

ppp
xxx

n
...

!...!!

!
21

21

21 
 

E(Xk) = npk 

 

V(Xk) = npkqk 

 ��ppppp@��=

X~P(λ)  
λ > 0  

  

  X  
���c@�� �� 

  � ��  R   7$ ��l .�

 �³³���BJ�� =>�³³c���

)   �,����� 
������ �� 

 �@6� R .(   �\³�Z 8Z

    R ­���)� 7$ �� 

7$< 3��U.  

X = 

{0,1,2,…,+∞} 

!
)(

x

e
xXP

x λλ −

==
  
P(X = 0) = e

-λ 

P(X ≥ 1) = 1 - e
-λ

  

E(x) = V(x) = λ 



 T7ا�

"! اBآ�U ا-
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 ا�	�ز�&�ت ا��	����� ا�B�C&� ا��L	��ة .2 ������

 ?*"&�

	ز�T ا
    ا
 ?-Bا Tز�	

   ا

 �1�N Tز�	�  

 �	ز"7 T��  

1 ��# �!=( l�>�5 %L C1����� l�>����1 D. Normale ou D. de Laplace -Gausse  

  ��� 7$ 3.�� ��LB i�  g��@0 f1�
E 7$ T� �- ���:�(�� ��1�� ����&���� 
���<���� *+Z 7$ ������� 9�<����

����
����8 �� �&�l��8 �������� �+��A�� .�Z 8Z �£$ �U�
��! �B��E� ��U *[��eZ �@L�8 �$ z >�� R 7�>�-� 7$ �,

�$�#�� ?��e 7$ ����� ��LB8 Q�$ h(��$ 7$ ����� �S@$ 3.�� ��LB �B�l��8 �$�#�� >�
� 7$ �[ �!>�#$ ��LB . k;$8

a�<8Å� ��L@��! �/+ .Z 7P� �$ 8Z Q��L@�� k;� H/�� u6@-� a�P� _B�c�$ �$���$ *��$ R 
�B����� F/+ �@�;$ ��8 a

 Q?�&���� T�&LB������� 9�<���� 
�,� �+8 h(��-� ?�� k��&�$ �(�l kP� �m )kP2��9 (: 

) L(  ��+
��� �k�D 

   �U�;P�� ���� K�P0 u6@-��� �&� ������� 9�<���� :  

 

∞<<−∞

−
−

=























x

x

exf

2

2/1

2

1
)(

σ

µ

πσ  

 5��µ8 σ9����� ������ i�  �§ 8 H>���-� W��»�� .  K�PB8 X ~ N(µ, σ)  

 9�<���� ����)���&c��� ������� (������� 9�<���� ��� �&� K�P0:  

∫ ∞−








 −
−

=≤=
x

v

dvexXPxF

2

2/1

2

1
)()( σ

µ

πσ 

&��
�L0Z = (X-µ)/σ:�� �-�3.4 �-���<�� :  ا��	��Dة ا���آ��4 أو ا��&��ر������1 �'�
��� ?8��`� 7��P��  :  

  P(0 ≤ Z ≤ z) 8ZF(z) = P(Z ≤ z)Q  

 ������ �!��P! �&L0 5��f8 F� ����!  ���8 ?�SZ 7$ ��! 3�  k�+�x8 µ8  σ ��m8��� �&� :   

∞<<∞−= −
zzf e

z 2/²

2

1
)(

π  

                                                 
1  *(�!  �LB�,�� a��P�,�� 8 a��1��s�,�� a�������� a�-����Pière Simon de Laplace   (1749-1827)8 v�-)�Carl Freidrich Gauss   " 

.E)� �/[ 3>�
�� " Q (1777-1855)a�B�#�� �/+ ¦2��� 7$ k1�8Z 7$ �B�� 7�/�� . �SU ������� 9�<���� ��&L0 F�� Z 7$ �$ZPearson   R 1893 .�ABZ 

(1997) J. J. Droesbeke � Q 329.  

f(x) 

x µ 

     ا�JMC ا�&�م ��	�ز�I ا����&81 ر-�
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0
3

3
3 ==

σ

µ
α

∫ ∞−

−

=≤=
z u

duezZPzF 2

²

2

1
)()(

π  
 ��'��� VN �A@��! �����w0.4�-� w! X 8 Z Q a�UZ 9�<�0 _,B 9��0 X������� 9�<���� HZ .8 BaZ *��:  

E(Z) = 0 V(Z) = 1   

) O(  C1����� l�>���� 2Q
9R     

F%f1�� � &E��� ���&��:      
  

  

 J��� TBZ ������� 9�<���� f1�
E 7$ � ����$�!�$�6��,$ �8 5�� Q� J���  ���,��� k$��$ = 34α 9�<���� 

 �������@6@-� ?��� � �>���$
��. 

 ������� 9�<���� f1�
E 7$ �\�Z TBZ ?�� k��&�$�����-� �&�#��   

|jA� "x
} X  h(��-� ?��) kP2�� �ABZ3 ( u6@- k��� ���Z ?�� 0 3.4�&�� �&�� HZ klZ 7$ TBZ ��� �� Q

��>���-�  

  z > 0:   
P(0 ≤ Z ≤ z) = P(-z ≤ Z ≤ 0) = P(-z ≤ Z ≤ z) / 2 

 P(Z ≤ -z) =  1- P(Z ≤ z) = P(Z ≥ z)  
 

 

  

  

  

  

  

 

 

 

  
 ��>���-� 3.4�-� ���:�(�! Ë �#� 8Z 
��&���� =�L� )
���L-� (���E �S@$8 u6@-� ��  :  

P(-σ ≤ X ≤ σ) =  P(-σ ≤ Z ≤ σ) = 0.6837,  

P(-2 σ ≤ X ≤  2 σ) =  P(-2 ≤ Z ≤ 2) = 0.9544,  

P(-3 σ ≤ X ≤  3 σ)  =  P(-3 ≤ Z ≤ 3) = 0.9973.  

            9l��-� 7$ .;P�� R �+�ª O�� ��1�
��� ?8��`� R 3�U��$ �+.b8 *�#�� F/+Q     t�L³� 7³P� �&� � �!  ³( ���:�

=�(�y�.  

ا)	�9ام ���\J ا��ز�I ا����&1   9 ر)�
 ��L� 1ب ا��	���ت









+=

2

²²
exp)(

µ
µ

t
ttM x

Z 

P(Z ≥ z) P(Z ≤ -z) 
P(-z ≤ Z ≤ z) 

-z         0         z 

           µ           X 
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µ - 3σ µ - 2σ µ -1σ µ µ +1σ µ + 2σ µ + 3σ

2σ = 68.26%

4σ = 95.44%

6σ = 99.73%

8σ = 99.9937%

  
G
N� :&��(�! ��1�
��� ?8��`� ?�1  ( KL�Z :P(0 ≤ Z ≤ z) 5�� z =1, 2, 3  

2 ( KL�Z   P(-z ≤ Z ≤ z) ? *�#�� _,B klZ 7$ z.  

1( 0.3413 Q  0.47725  Q  0.49865  

2   (0.6827    Q0.9545    Q0.9973  

) e(   C1����� l�>���� t= �#!1��%  CQ
AN�� l�>����  

���� Rn 3.�� 8 p 7$ K��� .b 0� ������� 9�<���� ��l K��#�� �1�@;�� 9�<���� >��� � 7P.8  a���<���� ����

 �B�� �&�� �!>�#0 �;�Z I1��Bn�;�Z 3.��   .K�PB8:  

npq

npx
zdzebzaP

b

a

z

n

−
==≤≤ ∫

−

∞→
,

2

1
)(lim 2/²

π  
 

 a�� ������� 9�<���� 7$ �1�@;�� 9�<���� =>�#0 z�L�8p 7$ K��� 0.5.  

U������ �&�
# :  

� �&A� 
�Q!� CQ
AN�� l�>���� �� U������ ~�1+ 
���� 
np % nq  $� ~�L 
�!� 5.  

� w�1�
��� 7$ �� 17��U��$ w������ we�2�� ��Z a�P� aZ �+ d�EZ 3� �� �&��� : 

10,10,209 ≥≥≥≥ nqnpnounpq  
 

                                                 
1
  �ABZ ��!<8�>� 1997 . �262 . 


[    10 ر)�� ��(�(Xت ا���L��&1ا��ا�� Iز��	ا� ^_
_, 



?J���
    ص.   ب    1���Jات ا)���ء ا
 

)  ( C1����� l�>���� t= �#!1��% ��@��= l�>�5  

 �$�@  λ→ ∞ ������� w��<���� a�U8  �#!���$ I1��B a����� a�(��! .K�PB8:  

∫
−

∞→
=










≤

−
≤

b

a

z

dzeb
x

aP 2

²

2

1
lim

πλ

λ
λ

 

 

   ) a�(��! 9�<�0 ¤��(1  VN 2 VN  5) w&��� VN >�L��� 7$  @� >���3  �-��&� $7    11 � ر-

U������ �&�
#: 

o  ^Q!� U������ �L ~�1+ 
���� C1����� l�>���� �� ��@��= l�>���� $� 
�&A�λ ≥10      

o t�Q
9)P� $�  &� &��1� 
��Z1 U������ m�0� λ≥15 

­';�� 
���<���� I1��B =>�#�0 aZ 7P�8��$ :a�(��! Q�1�@;�� 8  3>��/-� ~8�2�� KL� �������) k� �ABZ

g������F�B�Z (.  

2 C@T� l�>����  Distribution exponentielle  

7$s�� G��#! �#���$ k1�L$ R �()� 9�<���� ��:�L� �$ 3��  .-�P$ 3�$ Q��J�� ¤��� �$�E 3�$ ��m 7$ Q��,0�+ �

 3�$ 3�$ Q��¡ ���
0 3�$ Q76� 3�E�! Ç��,0�$��� i�  ?�
y� k�� a�!< >�A�B�... ��:�L� �#����� ������ R

 �()� 9�<���� ��2-� 
�>/�� 3��� 3�$ k�;&��(atomes radioactives) 7  h�(��� J�� 5�� Q�P,�0 aZ k�� 

���)� 9&�²� ¦
B �S�U i#�� O�� �A6���2.  

 7$�«� *SU H>8�\�� : a�� �mN �$ 3�+�¨ 3��� 3�$ k�;&�� �()� 9�<���� ��:�L� �$�  3� �#� �[h(��$ �!�� 

1/λ  ���#��� 9\´ � 3�+�A�� F/+ �B��8  (vieillissement)  �$ �Ay ��! 3�+�A�� 3��� 3�$ aZ HZT 9��0 � 

 �A6���T�� 7$ 3�+�A�� �S�$�� O�� 3�-�! ��q�0 � HZ jk . ';$B �� ��¡ 3��� 3�$ k�;&�� �()� 9�<���� ���:�(� ����L

 ��L@��! �$)� ��/� Qk�� 7$ ��«� �S��&  O�� 3�-� 7  '#�L$ _�� �Ay R �S���0 ?�&��� a) �S���0 k�� ��$� 

a�LB�� 3��� 3�-.  

 �()� 9�<���� k�;� ��� 7$ g#6�B Q���& _�E¡ 9�<�0 HZ 8Z _$ �$ 3�+�A� ?'E 7 
��@#0D8�,�� 
�>���E� Q

k������ 8 _B�c��� >���E� ���6���!8.  

 w! 3�-� a�U Q9�<���� �/+ 9��� �$ ­���Z z��8 a�� �m�U Qa�(��! 9�<����! ��'  �()� 9�<���� aZ VN �.EZ .2B

�()� 9�<���� 9��0 w��� z��8$�E s��$ VN 71�!s�� ?��8 a�� �mN Q��m i�  ?�;&� j a�(��! 9�<���� 9��� �$ �

                                                 
1
 TL,B 9l�-� . 

2
  � �(�$ 9��$ 9l�> Wikipédia.  
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 a�!< ?��8 w! ��@$s�� 3�-� a�U"Z "�()� 9�<���� 9��0 ���-� a�!s��8 . �@  ��'��� F/+ w��0 a�B�#�� �4�� n��@�(�

�()�.   

) L( ��+
��� �k�DC@T�  l�>���� ��1��E��� ���&�� % �Z
NV�� ���  %L. 

 w�$ k&�$ R k&��� ­���� ��  aZ �(�>� �@�!0� ?��r a�(��! 9�<�0 9�λ ��$�� ­���.   

 k�)� i�  ­��� kcL� aZ ?�&��� �l8Z)�;�Z 8Z ­��� ( R 3�$t ���.  
      P(X ≥ 1) = 1-e

-λt
  P(X ≥ 1) =1- P(0) =1-[λ0t

 * e
-λt

/0!]     =>  
 = s$�@�T 7$s�� )�����! (w���� w!  �@��� a�P�( amN f(t) Qw���� w! 7$s�� �U�;P�� ����8 F(t) = P(T ≤ t)  

 ? 9�<���� ����T .     

 KL6@� ?�&���P aZ  w���� w! 7$s�� a�P� ���k�Z 8Z:  

   �@���P = P(T ≤ t = 1) amN :  

        )1 ............ (P = F(t = 1) 

 ��� d�EZ ����B 7$Z aPw�$ ��� R ­��� k�)� i�  kcL� aZ ?�&��� ?���$ �+ :  

)2..........( P = P(X ≥ 1) = 1-e
-λt   

 7$)1(8 )2 (    aZ I�@�LB                             )   3............(
  tλ-

e - 1 = )t(F  

    T@$ 8                     f(t) = F(t)’ = (1 - e
-λt

)’ 

���λ e
-λt                                                                  f(t) = 

3� ��:a�(��! 9�<�0 gU8 7$s�� R >�P�� �$ �1��2  ­�� a�� �mN :  

( )
!

)(

x
xp e

x λτ

τ

λτ
−

=
  

 7$s�� a�UT����� 9�<���� 9��� w���� w! :  





≤

>
=

−

0,0

0,
)(

τ

τλ
τ

λτ
e

f

  
 5��λKl�$ �#�#� ��   .  

a�(��! 9�<��! T��'�� K��L�� �()� 9�<���� �\�Z i&L�8 �()� 9�<���� 9�<���� �/+ i&L� 8.  

) O(  C@T� l�>���� o
���� "�N����  

  

  دا�� ا����KM ��	�ز�I اX)1  12 ر)�
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( ) 0
0

1 >=Γ ∫
∞

−− αα α dtet t

) e(  C@T� l�>���� 2Q
9R 

t
tMMed x

−
=<===

λ

λ
µµλσλµ )(,)2ln(,²/1²,/1

 
     

3  
�
# l�>�5Distribution  gamma 

 3����$ 
���<�0 ����0 i�  3>��8 �B8�r s�&�0 w�&��$ 
�m 
���<���� 7$ ��(�8 � �&� a';� ���! 8 �$�� ���<�0

w�&��-� *�� KL� . 
���<����! �&S��'�� �\�Z w��<���� 7�/+ G>�BF Qt 8 Q¤2 . k�;&�� �$�� 9�<�0 ��:�L�

�@��$ ~8�� �� >�E���8 kE��� 9�<�0 k;$ �+��A�� p�!1 .  

) L( ��+
��� �k�D. 

��� �&� �S�U�;� ���� �B�� �mN �$�� 9�<�0 9��0 ��Z ��1��2  3.4�$ 7  ?�#B:  

0,0,

0,0

0,
)()(

/1

>>








≤

>
Γ=

−−

βααβ α

βα

x

x
ex

xf

x

  
 5��Γ(α)�$�� ������ �+  :    

  

K�PB8 Γ(α, β)  X ~  

) O(  R�
# l�>�5 2Q
9
   

 µ = α β   ,   σ² = α β²,   M(t) = (1 - βt)
-α 

  
  

Pour α>1:  Γ(α) = (α-1)Γ(α-1)      et  si α ∈ N : Γ(α) = (α-1) !  ,  Γ(1/2) = √π    
�()� 9�<����! T��'  �$�� 9�<�0 f1�
E 7$��L�L�� R d�@( �&� .  

?�;$ .��� �$ KL�Z :  

( ) ( ) ( ).5.2,5.4,7,,,
0 2/10

6

0

4 ΓΓΓ∫∫∫
∞

−
∞

−
∞

−
dx

x

e
dxexdtet

x
xt

  

( ) ( ) π=Γ====Γ===Γ= ∫∫∫∫
∞

−−
∞

−
∞

−
∞

− 2/1,720!67,24!4)5(
0

2/1

0 2/10

6

0

4 dxexdx
x

e
dxexdtet x

x
xt

( ) ( ) ( ) ( ) ( )

( ) π

π

5.1)5.0(5.1)5.2(,720!67

)5.0)(5.1)(5.2(5.35.0)5.0)(5.1)(5.2(5.35.2)5.2(5.35.35.315.35.4

=Γ=Γ==Γ

=Γ=Γ=Γ=+Γ=Γ

  
?�;$2 .8 h(��-� KL�Z
�.4�&�� 7�������1��2��� � X  8Y 8 Z��� �&� �U��-� :  

                                                 
1
  �ABZ : ��L�( Q
�B����� ���8)� �`��-� 8 �l/&@�� |���$ Qa8�E¡ 8 a��<�,�¡ :Mathématiques QEditions Mir Q�P(�$ Q19837$ Tx�0 Q 

 Q¤>��$ �'�l ��LB�,�� VN ��(8���1986 .�158.  
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( )








≤

>
=









≤

>
=









≤

>
Γ=

−−−

0,0

0,
6)(,

0,0

0,
)6(4)(,

0,0

0,
52)(

2

4

4/3

5

2/4

z

z
ez

zf

y

y
ey

yf

x

x
ex

xf

zyx

3²,3)1(3,64²)4(4²,16)4(4,20²)2(5²²,10)2(5 ============= zzyyxx σµσµαβσαβµ  

4  
��= l�>�5Distribution bêta 

 3.�P�� T�B8�r ���! 9�<�0 s�&�� T��&��$ *�#� ���0) *(��� �ABZ14 ( 5�� 9�<�0 =�Ly ��:�L�t² QF 9�<���� Q

�+.b8 K��L�� �1�@;�� Q�1�@;��1 Q w! ¢8���0 O�� 
�.4�-� p�! k�;&�� ��:�L080 8 1�LB k;$ Q ¦����� ��L@� �$ �

ÍN Q
����-� 8Z .  

) L( ��+
��� �k�D.  

��� �&� �S�U�;� ���� �B�� �mN ���! 9�<�0 9��0 ��Z ��1��2  3.4�$ 7  ?�#B: 

( )
( ) )0,(

0

10
,

1

)(

11

>







<<

−

=

−−

βαβαβ

βα

ailleurs

x
xx

xf

 
  

   5��B(α, β)���! ������ �+ :      0,,)1(),(
1

0

11 >−= ∫
−− βαβα βα duuuB     

K�PB 8 B(α, β)   X ~ 

α = 4, β = 2 

 

 ���&;�� v����� k���� ��klZ 7$ ���! 9�<���� �U�;P ��* ¶��,� ��&��¥  13 ر)� 

                                                 
1
  g!�L�� 9l�-�.  

0     0,5                           1,0                x 

f(x) 

 

α = 2, β = 4 

 

α = 4, β = 2 

 

α = 1/2, β = 1/2 
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) O(  
��= l�>�5 2Q
9R  

( ) ( )1²
²,

+++
=
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=

βαβα

αβ
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βα

α
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) e(  
�
# t���&�� t= �#!1��% 
��=:  

)(

)()(
),(

βα

βα
βα

+Γ

ΓΓ
=B

  
?�;$ .��� �$ KL�Z :

)()1,(),,1(),2,(),2/1,2/1(),4,3( NnnBnBnBBB ∈  

( )( )
BB ,

)2/1()2/1(
)2/1,2/1(,

60

1

120

2

)!17(

)!14()!13(
)4,3( =
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===

−
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= π

ππ

  

nn
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1

)!12(
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)2,( =

−
==
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=
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=
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=
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−
=

  
?�;$2 .��� �$ KL�Z: ∫∫ −−

1

0

1

0

34 )1(,)1( dxxxdxxx,)2,3(B  

12/1)]4(3/[1)]1(/[1)2,3( ==+= nnB  
( )

6/1
!3

!1!1
)2,2()1(,

280

1

!8

!3!4

)45(

)4(5
)4,5()1(

1

0

1

0

34 ===−==
+Γ

ΓΓ
==− ∫∫ BdxxxBdxxx

  
  

 ��'��� ?�&��(�!8
)(

)()(
),(

βα

βα
βα

+Γ

ΓΓ
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 �ª�\�Z K�P0 ���! 9�<���� �U�;P�� ���� aZ:  

( ) ( )








<<−

ΓΓ

+Γ

=

−−

ailleurs

xxx
xf

,0

10,1
)()()(

11 βα

βα

βα

  
<����9�!�0 H�� 9�<�08 �()� 9�<����� �&S-� 
���<���� 7$ ���! ��'  ���!8 �$�� w�� ��m 7$ Q!N�  aZ 9�<����

 �$�@  �$�� 9�<�0 7$ ���E ���� �+ �()�α = 1 , β = 1/λ   .  

?�;$3 . �����-� ��L@�� KL�Z�� n��BY�¦��� 8��7����9�<���� 9��0 ¦����� n��B�� ��LB �B�� �mN Q����� :  

 

 <<−

=
sinon,0

10,)1(6
)(

5
xx

xf

  
�@��� g!�L�� ?�;-� 7$ :).6,1(/16/1),1( BnnB =⇒=      

9��!α   8 β a��8�L� 1 8 6������ i�   aZ �ª Q B(1, 6)   X ~ 

T@$8 :( )
.20/1

)5(16

4

)1²(
²,2/1 ==

+++
==

+
=

βαβα

αβ
σ

βα
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µ  

?�;$4 .����� 9�<���� 9��0 �L(�$ R z��-� n��B�� ��LB . ��L@�� Ç��0 aZ ?�&���8 Q�����-� ��L@�� KL�Z 7$ �;�Z

35% .   
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5 �D!R   

E f:�� ����� ?8�`��$��:�(� �;�)� 3�&�L-� ����&���� 
���<���� f1�
.  

l�>����  �Z
NV�� ���   Jl#����% $�
����  l�>���� 2Q
9R  

  C1����� l�>����

r,
�1��  

X~N(0, 1) 
  

 

 

 

  
E(Z) = 0, V(Z) = 1 

P(Z ≤ -z) = 1- P(Z ≤ z) =   
P(Z ≥ z) 

P(-σ ≤ X ≤ σ) =  

 P(-1 ≤ Z ≤ 1) = 0.6837,  

P(-2 σ ≤ X ≤  2 σ) =  

 P(-2 ≤ Z ≤ 2) = 0.9544,  

P(-3 σ ≤ X ≤  3 σ)  =  

 P(-3 ≤ Z ≤ 3) = 0.9973. 

C@T� l�>����  
 

 

µ = 1/λ,  

σ² = 1/ λ² 

F(x) = 1- 

e
-λx

 

P(X ≤  µ) = 0.63  


�
# l�>�5  

 

X~Γ(α,β)   

  

  
µ = α β,  
σ² = α β²  
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?J���
   ص. ب    1���Jات ا)���ء ا

�����  V. دا���� ����ا�   ا�
��دة������ات ا��


R"�ة �

&��         �ZU;"!ا
ا
 ا�ر�&�ط و ا�-
CGل ا

  
 �@(>�*�+�,-� ?8)� k
,�� R8 h�L��� ?�&����� 
��&���� ���AB R ��(�()� � ��#��8 -� ?�&�������� 

8
��&���� =��8 9x 3� �� . � �L0 *�+�,-� F/+ k1�L$ F�^ K(�@-� >��#�� m�´� i� 8 ���#��� i�  .L-�

I1��@�� 3���$ .b8 ���2�$.  v�;�� k
,�� R ��&���� 9�<����8 ��1��2��� 3.4�-� ��S,$ �@(>�) a�B�#�� 8Z

��&���� (�� 
���<���� 7$ ��  VN �@���083.S2�� ����&�� . ��1��2��� 3.4�-� ��:�L0� 7$ �,��:-� �+��A�� k�;&�

��q2! 9�����8 �S�(�>� klZ ..4�-� �+8 �C���<�08 ��1��2��� 
�.4�-� 7$ � �B ?8�@�@( k
,�� �/+ R 
� ��1��2���

��! 7$ �;�Z 
�m d�EZ *�+�,$ VN �U����! Q �&S$4�-� w! ~��0>��! �#���$
�.. �+��A�� 7$ ������ aZ ��m 

�8\�0 .L-� ��$Z ¢��0 O�� k1�L- Q¦���P���8 �1���� ��
� �+ �L(�$ ~�2B �c��@U Q3���8 3.4�$ 7$ �;�Z 7&

� 8>s-� ���L-�8 3��)�8 >��$)� ��&� k;$ 3�  
�.4�r ��q�� � �>< *(�$ ?�
�8 . �@�(�>� R �
�#B W�(

! 
�m 3.4�-� i� ��1�@;�� 3.4�-� T��  g��� �$ �+8 w@�� 7��� .  

,�&�
  ا��	��Dة ا���B�_K    .1 ا

!*�G
�

�آ! اL�

	ز�*�ت ا
  )ا
��L1"!(ا
5وال ا
��5!  وا
  !��
�

�آ! اL�

	ز�*�ت ا
  ا

?b�L

	ز�T ا
   ا
    

1 �1����� ����0�� �
1�>����% ��0�
X� ���&�� )��&I�  (Fonction marginale  

) L(  4��15 

.4�-�            �&�� �+ 3���8 �&�� i�  _�� ¦���0 3.4�$ �+ ��1�@;�� 3X w�@�� w0.4�$ �&�� i�  ¦���0 ��N 8 ';$  .$ ?�;

��mQ                   �(��L³�� �³�#B8 ?8)� �(��L�� ��#B 8Z g������ ��#B 8 3�&�L-� �!����� ��#B i�  ¦���� K����� ?��$ 

v�;�� .      �.4�$ i�  ¦���0 ����-� �@L�� �c��B ��/�    �/P+8 Q
������� 8 ¦���P���  .    ��1�@;�� 3.4�&�� g����� ¦������

 i0q����� �&� s�$���� ���:�(�!: 

7P�� �@���  a����#�$ a���1��2  a�0.4�$X 8 Y Q?�&��'� s$�@� :P(X = x,Y = y) = f(x,y):   

f(x,y) = P(X = x,Y = y)  

f(x,y) ≥ 0 

∑x∑y f(x,y) = 1 

 ��1�@;�� i&L0(X,Y)�$ 7���! 
�m 3.48 f(x,y) ���� ��U�;P ����2-� �U�;P�� ���� �\�Z ?�#B8 �[ ����&���� �

 w0.4�&��X 8 Y8 @  .����� 7P� �S ����2-� 
��&��'� ?8�l g��e 7 )¤��2-� 9�<���� ?8�l.(   



 k1�#

R"�ة ا
*L	ا;"! �Zn;"!     ا
Y�0 ا�
 ا
&*5ا

f1(x) ym  . . .  y2  y1  
      Y        

X             

f1(x1)  f(x1,ym)  . . .  f(x1,y2)  f(x1,y1)  x1  

f1(x2)  f(x2,ym)  . . .  f(x2,y2)  f(x2,y1)  x2  

. . .  . . .  . . .  . . .  . . .  . . .  

f1(xn)  f(xn,ym)  . . .  f(xn,y2)  f(xn,y1)  xn  

1  f2(yn)  . . .  f2(y2)  f2(y1)  f2(y)  

  ?�&���X = xKLo  8 ��� �&�  K�P� P (X = x) = f1(x) = ∑
k=1

m
  f(x,yk)                            

 ?�&���Y = yKLo  8 ��� �&�  K�P�  P (Y = y) = f2(y) = ∑
i=1

n
  f(xi,y)                             

w������f1(x) 8 f2(y)������ a��&L0 ���2$�[� a� a)���y��a ( 5��: ∑ f1(x) = 1 8 ∑ f2(y) =1   

) O(  ��1��E��� ���&�� 

����&c��� ������  3.4�&�� ��1�@;��(X,Y)  K�P0���� �&:  
F (x, y) = P (X ≤ x, Y ≤ y) = ∑ 

u≤x

 
∑ 

v≤y
f (u, v)  

G
N�: s$�B Q��B �c�8 ���#B ���� �$�B =XQ3>�
�� >�S¨ 
��$ ���� 8 Y��@�� K�P$ 7$ �SA� H/�� *���� .  

o w0.4�&�� ¤��2-� ��&���� 9�<���� K��ZQ  

o ������� ­���)� 
��&��� KL�Z: ?�
y� *���� 9$ 3>�� i�  6 i�  ?�
y� Q3>�
�� i�  ?�
y� Q

 *����6 .  

o  ?�&���� KL�ZP(X ≤ 1, Y ≤ 3) Q P(X ≤ 2, Y ≤ 6).   

f1(x) 6  5  4  3  2  1  X\Y  

/2  1/12 1/12 1/12 1/12 1/12 1/12  0  
1/2 1/12 1/12 1/12 1/12 1/12 1/12  1  
1  1/6  1/6  1/6  1/6  1/6  1/6  f2(y)  

  ?�
y� ?�&��� *���� 9$ 3>�� i�6  :P (X = 1 et Y = 6) = f(1, 6) = 1/12  

3>�
�� i�  ?�
y� ?�&���= 1/12 + 1/12 + . . . = 1/2   P (X = 1) = f1(1) = ∑
k=1

n
  f(1, yk)  

*���� i�  ?�
y� ?�&��� 6  1/12 + 1/12 = 1/6                =P (Y = 6) = f2(6) = ∑
i=1

m
  f(xi,6)  

P(X ≤ 1, Y ≤ 3) = F(1, 3) = ∑ 
u≤1

 
∑ 

v≤3
 f(u,v) = 6(1/12) = 1/2 , P(X ≤ 2, Y ≤ 6) = 1  

G�u@.°����2$ ���<�0 J��� �S�Z v�;�� k
,�� R �@�Z> O�� 3.S2�� ����&���� 
���<���� w! 7$ ) =��`� : 9�<����

����-�.(  



?J���
   ص. ب    1���Jات ا)���ء ا

2   ��9��� ����0�� �
1�>����  

) L( 4��15  

 �@��� 7P��X 8 Yz a�0.4�$&[ ����2-� ����&���� �U�;P�� ���� W��B Qa���
�$ �1��� �&� :  

P(X = x, Y = y) = f(x, y) 

f(x, y) ≥ 0 

∫
-∞

+∞
∫
-∞

+∞
f(x, y) dx dy  = 1 

) O(  ��1��E��� ���&��  

B 9�<���� ���� K�P)����&c��� ������ (��� �&� :  

F(x, y) = P(X ≤ x, Y ≤ y) = ∫
 u=-∞

x
∫
 v=-∞

y
f(u, v) du dv    

� 8��� �&� ��#����! ��&������ ������ 7$ ����2-� �U�;P�� ���� n��@�(� 7P :f(x, y) = ∂²F / (∂x ∂y)      

�EZ �Sl 7$d  ∫
u=-∞

x
∫
v=-∞

∞
f(u, v) du dv                    F1(x) = P(X ≤ x) =  

∫
u=-∞

∞
∫
v=-∞

y
f(u, v) du dv                    F2(y) = P(Y ≤ y) =   

������ �&LB8� aF1(x)8 F2(y)������ ���&������ a� a)����&c����a (��2$�[�� a)���y��a.(  

 ?�&��� ���6��8X8 Y0>�
� �K�PB �$ w��� R a : 

P(a ≤ x ≤ b, c ≤ y ≤ d) = ∫
x=a

b
∫
y=c

d
f(x, y) dx  dy  

) e(  ��0�
X� G�%&��  

 a���2$�[� a�������)a����y� ( ��1�@;�� ����&���� �U�;P��(X, Y) ��� �&� �S@  J��U :  

f1(x) = ∫
v=-∞

+∞
f(x, v) dv ,          f2(y) = ∫

u=-∞

+∞
f(u, y) du 

G
N�: w0.4�&�� ����2-� ����&���� �U�;P�� ���� �@��� X8 Y��� �&� �U��-�  :  







<<<<

=

sinon0

51,40,
96),(

yx
xy

yxf

 

 w0.4�-� 7$ kP� ��2$�[� 9�<���� ���� K��Z ?�&��� KL�Z0 < x < 2?�&��� KL�Z Q  1 < y < 3. 

F1(x) = P(X ≤ x) =  ∫
u=-∞

x
∫
v=-∞

∞
f(u, v) du dv 

* x < 0 : F1(x) = 0,  

                                                 
1
   ��1�@;�� ����&���� �U�;P�� ���� �\�Z ?�#B8(X,Y).   



 k1�#

R"�ة ا
*L	ا;"! �Zn;"!     ا
Y�0 ا�
 ا
&*5ا

*  0 ≤ x  < 4 :  

F1(x) = ∫
u=-∞

x
∫
v=-∞

∞ 
uv/96 du dv = 0 + ∫

u=0

x
∫
v=1

5
uv/96 du dv  

         =1/96 ∫
u=0

x
[ ∫

v=1

5
uv dv] du = 1/96∫

u=0

x
[12u] du = x²/2  (12/96) = x²/16.  

*  x ≥ 4: F1(x) = 1 









≥

<≤

<

=

41

4016/²

00

)(1

x

xx

x

xF

 

F2(y) = P(Y ≤ y) =  ∫
u=-∞

∞
∫
v=-∞

y
f(u, v) du dv 

Pour  y < 1 : F2(y) = 0,  

* 1 ≤  y  < 5 :  

F2(y) = 0 + ∫
u=0

4
∫
v=1

y
 uv/96 dudv = 1/96 ∫

u=0

4
[ ∫

v=1

y
uv dv] du  = 1/96 ∫

u=0

4
[u (y² - 1) / 2] du  

= (1/2 * 1/96) (y² - 1) (u²/2)0
4
 = (1/(2*96)) (y² - 1) (16/2) = (y² - 1) / 24 

*  y ≥ 5 : F2(y)  = 1 









≥

<≤−

<

=

51

5124/)1²(

10

)(2

y

yy

y
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P(0 < x < 2) = F1(2) – F1(0) = 4/16 = ¼ ,   

  P(1 < y  < 3) = 8 / 24 = 1/3 

3  C;�0�� l�>����Distribution conditionnelle  

���� RX Q  Y? ��e�2�� ����&���� �U�;P�� ���� a�U Qa����#�$ a���1��2  a�0.4�$ (X|Y = y) � K�P0&� ��� 

f(x/y)��� �&� KL�8  : 
)(

),(

)(

),(
)/(

1 xXP

yYxXP

xf

yxf
yxf

=

==
== 

'� H���#��� a�B�#�� VN ���@�(� �/+ 8��e�2�� 
��&�� :
)(

)(
)/(

AP

BAP
ABP

∩
=  

� ? ��&���� 9�<���X5�� = y  Y 3.4�-� *�� � �&� �+ X ���;0 �@  Y8 
��&���� f(x/y)�[ ��!�#-� .  

G
N� . 7P��X � i�  ?�
y� 
��$ �� w0�$ ���#B ���� �$> �@  3>�8 Y 
��$ ��  w! �#��-� �&�#��! ��,�� 

�!��P�� 
��$ �� 8 3>�
�� .  

? ��&���� 9�<���� K��ZY|X = 1 Q��<���� K��Z����&���� a� ? aX|Y = 08 X|Y = 2.  

  

  

 

���� RX 8 YK�PB a���
�$ z a�0.4�$ :P(c ≤ Y ≤ d / x ≤ X ≤ x + dx) = ∫
c

d
f(y/x) dy 

X  0  1  2    Y 1  0  

P(X/Y=0) 0  1  0    P(y/x=1) 0  1  

P(X/Y=2) 1/2 0  1/2      



?J���
   ص. ب    1���Jات ا)���ء ا

4 �D!R  

 ��1�@� ?�&������ �&� KLo 8 ��1��2  :f(x,y) = P(X = x,Y = y) 

�K�PB w0.4�-� d��� �$ �&�� ?�&��� 7  .����  :P (X = x) = f1(x) ��2$�[� �U�;P�� ���� i&L0 8  .  

�&c��� ?�&��������2-� 9�<���� ���� ?'E 7$ T@  J��U w0.4�- ��:  F (x, y) = P (X ≤ x, Y ≤ y)   

3�&�L-� 8 ���#�-� 
�.4�-� 7$ k� i�  ¦�>����� F/+ g��@0.  

 �$ �&�� ��B�;�� 3.4�-� /Eq0 aZ ~�2! w0.4�-� d��� ��&���� 9�<���� 7  .�����)0';$ Q (K�P@U: 

 P(X/Y = 0)  

 ? ��e�2�� 
��&���� =�LyX3� �#�� ��:�L0  :
)(

),(

)(

),(
)/(

1 xXP

yYxXP

xf

yxf
yYXP

=

==
===  

  

,�&�
  ا�ر���ط   وا�)	PAل ا�	����     .2 ا

     "��"R
  �*��( ا-
CGل 1
TN	�7*�د وB5دة ا*

R"�ة ا
*L	ا;"! 1�
  �&��  ا


�كL�

&��  ا
  ا
  Y1�*1 ا�ر�&�ط     

 

1  t5[k�� G!��@� 4��15  

 ?8)� k
,�� R �@�Z> w�1��2  w��� aZA8 Ba�� �mN a'#�L$ a�B�P� :  
P(A et B) = P(A) P(B)  

 7$ ��'�B� F/+#�-� a���1��2��� a�0.4�-� a�P0 Q3� �#�� a����X  8  Ya���#�L$ �mN  8 a�� �mN h#U:  
P(X = x, Y = y) = P(X = x) P(Y = y) 

f(x, y) = f1(x) f2(y)  

        w0.4�-� a�� ���� RK�PB w��
�$  :P(X ≤ x, Y ≤ y) = P(X ≤ x) P(Y ≤ y)  

F(x, y)  = F1 (x) F2 (y)  

§ a���#�L-� a�0.4�-� aZ HZ�� � �&[ ����2-� 9�<���� ���� �!��� 7P� a���)����2-� �U�;P�� ���� 8Z ( 	��l kP� R

 w��&���0 w��2$�+ w����)�U�;P�� w��2$�+ w���� 8Z.(  

G
N� .� 7P�X8 Y�  7��&�L$ z��� �&� �U��$ �&[ ����2-� �U�;P�� ���� 5�� :  



 <<<<

=
sinon0

51,40,
),(

yxcxy
yxf

  
 w0.4�-� aZ w!X8 Yw��#�L$ .  

Soit c = c1*c2 => f(x, y) = c1 c2 xy = c1x * c2y =>   f(x, y) = f1(x) * f2(y)           cqfd 



 k1�#

R"�ة ا
*L	ا;"! �Zn;"!     ا
Y�0 ا�
 ا
&*5ا

G
N�2 . 7P��X8 Y8 Z ����#�$ z  . k;�X�� i�  ?�
y� 
��$ ��  8 ���#B ���#� ��$> R 3>Y 
��$ ��  

�����$ ��$> R 3>�� i�  ?�
y� .8Z w! �#��-� �&�#��! ��,�� X’8 Y’ 
��$ ��  ������ i�  a';� a�/��� 

3>�
�� i�  ?�
y�/���#B ���#� w��$> z�&� R �!��P��.   

 aZ ������ 7$X8 Y a���#�L$ a) P(X = x,Y = y) = P(X = x) P(Y = y) *�� k� �@  X8 Y.  

Q��m 7$ _P��� i�  aZ �ª  Z7  ��#�L$ �L��  X’';&U :   
  P(X’= 0,  Z = 2) = 1/2  ≠  P(X’ = 0) P(Z = 2) = (1/4  . 1/2) = 1/8 

2 #�5l%  
1=T� � &1�� ��Q��01�� �[k��� $�
�5  

 3����$ ��1��2��� 3.4�-� i�  g�( �&�U �§�@�8�@0 7�/�� 7������8 ������� 9����� ¦���0 7$ k� g��@�

���!)� .7P��X 8 Y�$ a���1��2  a�0.4�$a����#Q8 f(x, y)�&[ ����2$ �U�;� ����  .  
µx = E(X) = ∑x∑y x f(x, y)    ,  µy = E(Y) = ∑x∑yy f(x, y)       

σ²x = E[(x – µx)²] = ∑x∑y (x – µx)² f(x, y) , σ²y = E[(y – µy)²] = ∑x∑y (y – µy)² f(x, y)  

 R ����X8 Y $ a�0.4�$ a�0�&�L   :  

µx = E(X) = ∫
-∞

+∞
∫
-∞

+∞
x f(x, y) dx dy , µy = ∫

-∞

+∞
∫
-∞

+∞
y f(x,y) dx dy .  

σ²x = E[(x – µx)²] = ∫
-∞

+∞
∫
-∞

+∞
(x – µx)² f(x, y) dx dy , 

 σ²y = E[(y – µy)²] = ∫
-∞

+∞
∫
-∞

+∞
(y – µy)² f(x, y) dx  dy  

G
N� . �@��� 7P��¤��2-� 9�<������� �&� W��-�  :  

=�L� =���-�: 

 E(y), E(x) Qσ²x, σ²y    

 

E(x) = ∑x∑y x f(x, y) = 1(1/8 + ¼ + 1/8) – 5(1/4 + 1/8 + 1/8) = 1/2 – 5/2 = -4/2 = -2 

E(Y) = ∑x∑y y f(x, y) = -4 (1/8 + ¼) – 2 (1/4 + 1/8) + 7 (1/8 + 1/8) = -1/2 

σ²x  = E[(x – µx)²] = ∑x∑y (x - µx)² f(x, y)  

      = (1 + 2)² (1/8 + ¼ + 1/8) + (-5 + 2)² (1/4 + 1/8 + 1/8) = 9 (1/2) + 9 (1/2) = 9 

σ²y = E[(y – µy)²] = ∑x∑y (y - µy)² f (x, y)   

       = (-4 + 1/2)² (1/8 + 1/4) + (-2 + 1/2)² (1/4 + 1/8) + (7 + 1/2)² (1/8 + 1/8) 

       = 49/4  (3/8) +  9/2 (3/8) + (15/2)² (2/8) = 651 / 32 = 20,34  

�� ���:�(�! �#!�L�� *�#�� 7$ k� =�L� 7P� �&�����[� ?�8� f1(x) 8 f2(y).  

     X 
Y 

0 1  
       Z 

X’ 
0 1  2  X’ 0 1 2  Z 0 2 

0 ¼ ¼    0  0 1  0  px  ¼ ½ ¼  pz ½ ½ 

1 ½ ½   2 ½  0  ½          

7  -2  -4       y   
X  

1/8  1/4  1/8  1  
1/8  1/8  1/4  -5  



?J���
   ص. ب    1���Jات ا)���ء ا

E(x) = ∑x x f1(x) = 1(4/8) – 5(4/8) = -2 

V(x) = E(x²) – E²(x)  

         = [1²(4/8) + (– 5)²(4/8)] – (–2)² = 9 

3 ?��0�� $�
���� Covariance   

W�������&� ¤��2-� 7������ :   
Cov (X, Y) = σxy = E[(X – µx)(Y – µy)]  

 ���� RX 8 Y a����#�$ a�0.4�$:   
σxy = ∑x∑y(x – µx)(y – µy)f(x, y)  

 ���� RX 8 Y  a�0.4�$a�0�&�L$ :  

σxy= ∫
-∞

+∞
∫
-∞

+∞
(x – µx) (y – µy) f(x, y) dx dy  

) L(  2Q
9R?��0�� $�
����   

1.  7������ ¦���0 7$� aZ 7PI�@�LB:   

   Cov(X, Y) = E[(X – µx)(Y – µy)] 

= E[XY – Xµy – µxY + µxµy]     

                               = E(XY) – E(X)E(Y) – E(X)E(Y) + µxµy   

= E(XY) – E(X) E(Y)    

Cov(X, Y) = E(XY) – E(X) E(Y)  

2.  ���� RX 8 Y  a���#�L$ a�0.4�$1 9����� f1�
E 7$ *��B aZ �������  E(XY) = E(X) 

E(Y)  8T@$:   

 Cov(X, Y) = E(XY) – E(X) E(Y) = E(XY) – E(XY)   
Cov (X, Y) = 0  

3.  ���� RX 8 Y w��#�L$ .b 8Z a���#�L$ a�0.4�$: 

2 Cov (X, Y)  ± Var (X ± Y) = V(X) + V(Y)  

4. � wU��»�� 	��l 7$ J�Z a�P0 � ¤�2-� 7������ �#��-� �&�#��w�>���- :    |σxy| ≤ σxσy  

5.  ���� RX 8 Y  ';$ �$�� a����0�$ a�0.4�$Y = Xa�U :    Cov(X, Y) = V(X) V(Y)  

   

                                                 
1  '�U a���#�L$ a�0.4�-� a�P� aZ .b 7$ �,
�� ��8�L$ ¤��2-� 7������ a�P� �#U Q��6� �$8� 3>8�\��! _�� _P��� . �#�#y� R �+ �����-� T@P�8 �e�� k;�

��U�� �e�� _�� .w! Q���l�$ a�� �mN Q~��0>�� ¦�� i�  ������ ¤��2-� 7������ ��$8��$ �c��B ?�&��(� 7P� k!�#-�!w0.4�-�  . ?'#�(� R�P��8 �<�� ~�2��

?'#�(�� ¦���0 R �#!�( >��/-� �+ w0.4�$.  

f1(x) 7  -2  -4       Y   
X  

4/8 1/8  1/4  1/8  1  
4/8 1/8  1/8  1/4  -5  
1 2/8 3/8 3/8 f2(y) 



 k1�#

R"�ة ا
*L	ا;"! �Zn;"!     ا
Y�0 ا�
 ا
&*5ا

4 m
�5,(� "�
1�   

����� 7$ �)2 (�LP�� aZ I�@�LB
yx

xy

σσ

σ
   H8�L�0 ���� R X 8 Ya���#�L$ 8  ������ 7$ )5 ( TBZ I�@�LB R

 ����X 8 Y �$�� a����0�$ a�0.4�$  H8�L� �LP�� a�U1.  

      ������ 7$ d�EZ �Sl 7$4   �� aZ I�@�LB   ��L@    w! T�&�� ¢8���0)"1( 8 )1(: 11 ≤≤−
yx

xy

σσ

σ
 .   �/+ klZ 7$

��L@�� k&��L0:  
yx

xy
r

σσ

σ
=   ~��0>�� k$��$ i&L08 Qw0.4�-� w! ~��0>�� G��#� .  

 ���� Rr  �8��$ aZ ?�#B5[k��� �
���5�� [�t��#�L$ �&�Z �sª aZ .b 7$ Q�a.  

?�;$ .g!�L�� ?�;-� R >��/-� ¤��2-� 9�<���� ~��0>��8 ¤��2-� 7������ �l8Z.  
Cov(X, Y) = E(XY) – E(X) E(Y) 

E(XY) = 1(-4)(1/8) + (1)(-2)(2/8) + (1)(7)(1/8) + (-5)(-4)(2/8) + (-5)(-2)(1/8) + (-

5)(7)(1/8) = 1.75 

E(X) = 1(4/8) + (-5)(4/8) = -2,    E(Y) = -4(3/8) – 2(3/8) + 7(2/8) = -1/2. 

Cov(X, Y) = 1.75 – (-2)(-1/2) = 0.74 

V(X) = E(X²) – E²(X) = 1(4/8) + (-5)²(4/8) – (-2)² = 9 => σx = 3, 

05.0
)5.4(3

75.0
===

yx

xy
r

σσ

σ
       V(Y) = E(Y²) – E²(Y) = 20.34 => σy = 4.5.                        

  

5 �D!R 

7P$Z �mN a���#�L$ �&�Z a�0.4�$ 7  ?�#B �&[ ����2-� 9�<���� ���� �!��� )����2-� �U�;P�� ���� 8Z ( 	��l kP� R

 w��&���0 w��2$�+ w����)�U�;P�� w��2$�+ w���� 8Z :(f(x, y) = f1(x) f2(y)aZ HZ :  

P(X = x, Y = y) = P(X = x) P(Y = y) 

~��0>�� k$��$ ?'E 7$ w0.4�$ w! ~��0>�� _�#B d�EZ �Sl 7$ Q  

  ¤��2-� 7������ a�P� ���y� F/+ R8 Cov(X, Y) = E(XY) – E(X) E(Y) 

   a�U ?'#�(�� ���� R ������� 9����� f1�
� ���0 TB) �$8��$ E(XY)  =  E(X) E(Y)  

��6� 3>8�\��! _�� _P��� 7P�.  

    ~��0>�� k$��$ ��:�L�
yx

xy
r

σσ

σ
=       } �1�
��� 7P� Qw0.4�-� w! ~��0>�� i�  ���&�     VN �S�@�$ a�P� aZ K

���-� �/+ ���8��.   
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�����  VI. رب����وا ����ا�  دوال ا������ات ا��

 !"�#
  ، �"�L و-
"	د'2eك : ا
5وال d"� ا

�Gرب

�Gر��M' ،?7! ا
���Z! ا
��آ�K! ا
<�	ك وا
  ا

  

 R ?8�@�B56�-� 7$ ?8)� �(�� 
�m 
���<���� 7$ ��  k
,�� �/+���: R 9(���� 	�
����� ����( �#������8 

 ��� R ���E"���#���"8 "D8�,�� >���E�" Q5�� ��:�L� �1�
��� VN ?����� klZ 7$ T�&  R 
���<���� F/+ 

">��� " aq2!"9&�²�"  G8>�-��@�  7$ �S��  k
6�� 
�B��! 7$ ��'�B�. R 56�-� w! =>�#��� ����@( v�;�� 

�,��:-� ����&���� 
���<����� k�� 7$ �+�@(>� O�.  

,�&�
   ، ���C و)	��د [2ك : ا�9وال :�� ا�����   .1 ا


"	د'e       2�	ز�T ك- Tز�	�        �L"� Tز�	� 

1 ? l�>�521    Distribution en Khi-carré (ou Khi-deux)  

¤ 9�<�02��� �&� T,���0 7P�8 Q�S ��Bq! D8�,�� >���E� ?�� R �$��:�(� 
���<���� �;�Z 7$ �+ :  

 7P��X1, X2, . . . Xν  H>���-� ������� 9�<���� 9��0 �S@$ k� ��#�L$ ��1��2  
�.4�$ Q )µ = 0, σ =1 .(

  3.4�-� 

X = X1
²
 + X2

²
 + . . . + Xν

²
  

������� �U�;P�� ���� �[ :  
( )

( )








≤

>
Γ=

−−

00

0
2/2)( 2/

2/12/

x

x
ex

xf

x

νν

ν

 

 5��Γ(α)�$�� ������ �+ :   
             

( ) 0
0

1 >=Γ ∫
∞

−− αα α dtet t
 

  

  

  

  

  

 aZ ?�#B 8X ¤ 9�<���� 9��02=  νK�PB8 ���� �l>�      X ~ χ²
ν

.
 

 ����&c��� ������χ²) F(��� �&� K�P0 :  

 

                                                 
1
  VN 9�<���� �/+ W�2��� R k\,�� 9l�� 
�&�+ W (F. Helmert, 1876)   a�(.! ?>�� 8(Karl Pearson, 1900).   

x 

ν = 15 

ν = 10 

ν = 6 

ν = 3 

ν = 1 

ν = 2 

0 6 12 18 24     

0.25 

f(x) 

  �iL در�h ا�
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







<

≥
Γ=≤Χ ∫

−−

00

0
)2/(2

1

)²( 0

2/1)2/(

2/

x

xdueu
xP

x
uν

ν ν

 
 

) L(  ? l�>�5 2Q
9R 2    

E(X) = ν,     V(X) = 2ν,      M(t) = (1-2t)
-ν/2 

¤ 9�<���� ����2 �+  9��! �$�� 9�<�0 7$ ���E ���� �+α = ν/2, β = 2 .   

 u6@$ /Eq�8f(x) �!�;�� �&�� KL� T�P� νννν@-� aZ *(��� 7$ ��'B8  >��� 7  �£�2U �£�� ����� u6

 �&�� 
��< �&�� ��(�l 'P� /Eq�8 H��&���ν . �@  TBZ 7+JB8ν.��   (ν ≥ 30) a�U 12²2 −− νχ 

H>���-� ������� 9�<���� 9��0.  

�  Q��1�
��� ?8��`� R ��#B w�0)3.4�-� �&�� (¤2 �#U)� >��� i�  )k!�#-� *(��� �ABZ ( ?'E 7$

νVN �U����!�  ���L-p ¤ >�L� i� 2 u6@-� �� (p  = P(X ≤ χ²ν;p) .¤ ��#@�� ��� �B���Z82 ����! 

 �S@�� i�  ���L-�)α  = 1- p  ( ��/�w�!��P�� 7$ k� 	�
��� K�� R �ª :χ²p,ν 8 χ²α,ν  

  

 B w��02�� i�   �&�� ?'E 7$ >�p#�� ¤  15 ر)� 

 

� ���*+:  7P�� �+��  ��#�L$ z �n5��  X1 ~ χ²
ν1

 , . . . , Xn
 ~ χ²

νn
     F/+ z�&�


�.4�-� 

~ χ²
νT

∑
=

=
n

i

iT XX
1

 

νT = ∑νi  
 

2 a+ ���@ l�>�51Distribution de Student  

 a���#�L-� a���1��2��� a�0.4�-� 7P��Y8 Z 5�� Y~ N(0, 1)8  χ
ν² Z ~j   3.4�-� 

ν/Z

Y
T =

    
 9��0

<�09�  ������� �U�;P�� ���� �[  
                                                 

1   �(�� ���( �����8 VN a�B�#�� �/+ ��}N R k\,�� 9l��(William Sealy Gosset) (1876-1937) �2B8 Q�B����( *(�! �S�� T0��#$ �2B H/�� 

 ��  a�B�#�� �/+ ?�� T���#$1908 a��@�! « The probable error of a mean » �ABZ  : ��!<8�>�1997 � Q262.  

x 

0 

f(x) 

p=1- α 
α 

χ²p,ν 
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∞<<∞−







+









Γ








 +
Γ

=








 +
−

t
t

tf
2

1

²
1

2

2

1

)(

ν

νν
νπ

ν

  
( ) 0

0

1 >=Γ ∫
∞

−− αα α dtet t

  
 3.4�-� aZ ?�#B 8X 9�<�0 9��0  = �B����(νννν���� �l>�8 K�PB :    T ~ tν  

) L( a+ ���@ l�>�5 2Q
9R   

 E(T) = 0,        V(T) = ν/(ν-2)   si  (ν > 2)  

  

   �B����(  ���y� �l>� K�nu6@$L 0�< 16  ر)�

�
  u6@$ aZ ��'B t h(��-� ?�� k��&�$0 ��l�$ ��#B kP� aZ ��� �� t ����( �[ 3�¨�@$ ��#B 

 w� i�  u6@-� �� ���L-� 5��t >�L� ��  u6@-� �� ���L-� H8�L0 (–t)Q8  K�PBt1-p = - 

tp.  

�
  u6@$ a�U ��m VN �U����!f(t)������ u6@-� 7$ =��#�  �&�� 
��< �&�� H>���-� �ν .  Q�$�& 8

 �@  ����#0 a�#!���� a��@6@-� aZ a��1�
��� J���ν ≥30 . 

�
  Q��1�
��� ?8��`� R ��#B w�0)3.4�-� �&�� (t ?'E 7$ ν ���L-�8p  >�L� i� t u6@-� ��  

) (p = P(T ≤  tν;p) .��#@�� ��� �B���Z8 t @�� i�  ���L-� ����!  �S)α = 1 - p (  K�PB8 :tp,ν  

 8Ztα,ν.  

?*"&b 

ν = 4 

ν = 1 

0.4 

f(t) 

-4     -3 -2      -1      0       1       2        3        4 

t 
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3  �0�Z l�>�5)F(1 Distribution F de Fisher-Snédecor 

 

x 

(10, 50) 

(10, ? ) 

(10, 10) 

1.0 

(10, 4) 

f(x) 

0,5 

     0  1  2  3

  4 

 

 0� �2�U u6@$ n>����y� �l>� KL   17 ر)� 

 a���#�L-� a���1��2��� a�0.4�-� �@��� 7P��  X1 ~ χ
ν1

²8    χ
ν2

² X2 ~ .  3.4�-� :
22

11

/

/

ν

ν

X

X
X =   ���� �[

��U�;P�:  

( )














≤

>+









Γ







Γ








 +
Γ

=

+
−−

00

0

22

2

)(
2

12

1)
2

(

2
2

2
1

21

21

21
1

21

x

xxx
xf

ννννν

νννν
νν

νν

  
 3.4�-� aZ ?�#B 8X  = �2�U 9�<�0 9��01ν8 2ν���� �l>� 8 K�PB:    X ~ Fν1, ν2  

) L( �0�Z l�>�5 2Q
9R :  

( )( )
)4(

24

)2(2
²,)2(

2
22

221

21

2

2

2

2

2 >
−−

−+
=>

−
= ν

ννν

ννν
σν

ν

ν
µ

  
 u6@$ ����0 �����-� 7$ �SA�8f(x) ? �U����! x7$ k� VN  ν1 8 ν28  ��#B HZ ��� ��/�F ��'� ?'E 7$ 

¥��$ :ν1 8 ν28  p)  i�  u6@-� �� ���L-� ��#@�� >�L�F ( K�PB8 QFp, ν1 , ν2  

 
8  *�� ��1�
��� ?8��`� ���0 K��4�� RF �@  p = 0.95  8 p = 0.99.   

 

  P و  ν1, ,ν2 �	� �1 ا�9Vول �	� ,� PQل �S ���&� F�� 18 ر)�

                                                 
 1  �2�U �&��¡ ���B8> (Ronald Aylmer Fisher) (1890-1962)) ����ªN ( >�P���@( ?��8 n>�l 8 ���#��� ���AB _(�$ J��� (George 

Waddel Snédecor) (1881-1974)) �P��$Z ( � Qg!�L�� 9l�-� �ABZ258.  

x 

0 

f(x) 

p=1- α 
α 

Fp,ν1, ,ν2  
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 ���*+1  .  

1221 ,,,,1 /1 νννν pp FF =−  
 ���*+2 .  

2

),2/(1,1,1 νν pp tF −− =  
 ���*+3  .  

ν

χ ν

ν

2

,

,,

p

pF =∞

  
  

4 �D!R  

 �/+ T@&\0 �$ *+Z f�:�0 7P�56�-������ ?8�`� R :  

l�>����  ��Q��01�� �[k���  �Z
NV�� ���  $� ��Z�1� U� 
� ^�L  

? l�>�52  

X ~ χ²ν   

 �B�� �mNXi  k� ��#�L$ ��1��2  
�.4�$

   8 QH>���-� ������� 9�<���� 9��0 �S@$ 

X = X1
²
 + X2

²
 + . . . + Xν

²  

  X ~ χ²ν: إذن

f(x) = 0   si    x ≤ 0 

 

E(X) = ν,     V(X) = 2ν 

 lppppp�>�5

a+ ���@  

T ~ tν  

a���#�L-� a���1��2��� a�0.4�-� 7P�� Y8 Z 

 5��Y~ N(0, 1) 8 χ
ν² Z ~j amN :  

  ~ tν 
ν/Z

Y
T = 

E(T) = 0,    
 V(T) = ν/(ν-2)   si  (ν > 2) 

 

�0�Z l�>�5  

X ~ Fν1, ν2
   

       ��2³  a�³0.4�$ �@��³� �B�� �mN a���1

5�� a���#�L$:  

   X1 ~ χ
ν1

²  8 χ
ν2

² X2 ~Q    

 a�U ~ Fν1, ν2 
22

11

/

/

ν

ν

X

X
X = 

f(x) = 0   si    x ≤ 0 

ν

χ ν

ν

2

,

,,

p

pF =∞ , 
2

),2/(1,1,1 νν pp tF −− = ; 

1221 ,,,,1 /1 νννν pp FF =−  

  

  

�	
 ا���Lك ا�	�Aر;� 1�j& ا�	�ز�&�ت ا��	����� .2 ���

?;�ZU

	ز�T ا

�Gرب 7"  ا
�&"*? وا

	ز�T ا
  ا
1
R"�ة 1<
��ة g
�*! إG
  ا�'
�Gل 1  1
R"�ة 1

�ZU

	ز�T ا

�Gرب 7"  ا
  ;? و�	ز�T 7	ا-	نا
!�Kآ��
  '��M! ا
���Z! ا

 

    �/+ R ?8�@�B56�-�             3.S2³�� �³���&���� 
���<���� 7$ ��  w! k
o H/�� =>�#��� 
��� p�! .  �
³#B8

    w��<�0 w! =>�#���!)  ';$ a�(��!8 �1�@;�� (            �³�� �³� Qw�$ ?�&��� ��
· �!>�#�$ I1��B a���<���� ���� aZ




�Gرب    ا
Y�0 ا
<�دس

R"�ة ا
*L	ا;"! و ا�
 دوال ا

 ���:�(� ��B�P$N    w���&��� w��<�0 ) �;�Z �B���Z8 (  w�$ ?�&��� =�Ly .         �/+ VN <�}�! k�� 7$ �@���0 �� �@BZ �&� 


���<���� F/[ �@�(�>� �@  ��S,-�.  

1 CQ
AN�� l�>���� t= O,
����% C1����� l�>����  

 �1�@;�� 9�<���� 3.4�- ©>�#��� ¤��L�� G>�@�X~B(n,p) ?8�0 �$�@  n.�� ��� qÏ�N ��l 3 .  

 7P��X ���#B ���� �$> �@  3>�� i�  ?�
y� 
��$ ��  k;�  : Qw0�$4 Q
��$ 8 Q
��$ 16
��$ .  

  

 

 

  

  

  

 *(�! 
��@6@$Pi 
��6�� n = 2 Q n = 4 Q n = 8 Q n =16�SA�   3.4�&�� ©>�#��� ¤��L��X.   
 

n = 2

0
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X

p
(x

)

n = 4
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X

P
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)

n = 8
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n = 16 
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X

P
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)

 

  ��L�� p = 0.5¤ ���#�<© ����>�9 ��;@��1 -�   19ر)� 

 �&�� 3���< aZ ��!>)� 
��@6@-� �B>�#$ 7$ �SA�nu6@$ i�  ?�
y� VN H��0 �(�l kP� �m 8  ?�� k��&�$

 9�����µ.   

 ���� R �\�Z ��
0 �A�'-� F/+p ≠ 0.5q�! �;�Z a�P� ?�6��� 7P� .  

 ��>���-� 3.4�-� J��B *�&���� klZ 7$z = (x - µ)/σ �1�@;�� 9�<���� 
�m 3.4�-� 
�/! �#6�-� X .  ¤��L�� aN

? ©>�#���Z��;0 �$ �+ T�,(Z kP2�� R �l'-� ������� ���A@�� T :  

).1,0(:),(~ N
npq

npX
YpnXsoit

n
 →

−
=

∞→
B

  

2 1  0  Xi 
¼  1/2  1/4  Pi  

4 3  2  1 0  Xi 
1/16  4/16  6/4  4/16  1/16  Pi  

8 7 6 5 4 3 2 1 0 Xi 
0,004 0,031 0,109 0,219 0,273 0,219 0,109 0,031 0,004 Pi  
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    ص.  ب    1���Jات ا)���ء ا
 

K�PB8N(0,1)  Y ≈.  

 

n=2

0

0,4

-4 -2 0 2 4
z

n=4

0

0,4

-4 -2 0 2 4
z

n=8

0

0,2

0,4

-4 -2 0 2 4
z

n=16

0

0,1

0,2

0,3

-4 -2 0 2 4
z

 

 ^@,20     �1�@;�� 9�<���� ©>�#��� ¤��L����>���-� 3.4�-� ?'E 7$ ��>���-�    

�&�
# :  

���� Rn 3.�� 8   p 7$ K��� .b 0������� 9�<���� ��l K��#�� �1�@;�� 9�<���� >��� � 7P� .8 ��� a���<���� �

 �B�� �&�� �!>�#0 �;�Z I1��Bn�;�Z 3.��   .K�PB8:  

∫
−

∞→
=≤

−
≤

b

a

u

n
dueb

npq

npx
aP 2

²

2

1
)(lim

π 
 a�� ������� 9�<���� 7$ �1�@;�� 9�<���� =>�#0 z�L� �� 8p 7$ K��� 0.5   3� �#�8 :  

�  
�&A� ^Q!� U������ �L ~�1+ 
����np % nq  $� ~�L 
�!� 5.  

� w�1�
��� 7$ �� 1Z a�P� aZ �+ d�EZ 3� �� �&��� 7��U��$ w������ we�2�� �� :  
o npq ≥ 9  

o n ≥ 20 , np ≥ 10, nq ≥ 10 

 ���� Rp = 0.5 ~�2�� Q )1 ( �@  g#6��n = 368  �@  v�;�� n = 20 .  

 ���� Rp = 0.10 �@  a�##6�� we�2�� Q n = 100.   

2 ��9�� �[k�� �� �1���� �[k�� $� G
��+(� .  

��! ������� 9�<���� ���:�( � 7$ �1�@;�� 9�<���� 3.4�-� �&@�! �&�L$ 9�<�0 g��e 7  ?�&���� =�L� ���

���#�$ . ��m klZ 7$��� ����)� 3.4�-� R �&�� k� >��� � *��.  

                                                 
1
  � Qg!�L�� 9l�-� 262. 

Pi Pi 

Pi 
Pi 




�Gرب    ا
Y�0 ا
<�دس

R"�ة ا
*L	ا;"! و ا�
 دوال ا

�;$? . ?�&���4 ?'E 
���ª n��� �&� É�
� �!�^  :   P(3.5 ≤  X ≤  4.5) .  

G
N�2 : ���#B ���� �$�B203�$  . 7P��X��$ ��  3>�� i�  ?�
y� 
 . KL�ZP(X = 8) ��B�P$N G>�Z � 

�U��$ ���AB ���:�(�"?�&���� _,B =�Ly G'!�  .  
 X ~ B(20, 0.5) , P(X = 8) = F(8) – F(7) = 0.2517 – 0.1316 = 0.1201. 

 �@���np = 10 >5 ��/�8 nq = 10 >5Q 8  aZ �\�Z �ª �@B�U ��B�;�� 3� �#�� ���:�(� �@£� �mN: n =10 Jnp 

=10 Jnq=10 >��� � �mN 7P� QY = (X-10)/√5  ~ N(0 ,1) .  3�&�L-� 3.4�-� ��:�LBX* 7$ ��! X 

 �&�#�� 7  J�-� ?�²� ?�&��� =�Ly88 �+ [7.5, 8.5]  

12.0)67.612.1(
24.2

105.8

24.2

105.7
)5.8*5.7( =−≤≤−=







 −
≤≤

−
=≤≤ ZPZPXP

 

3 CQ
AN�� l�>���� t= O,
����% ��@��= l�>�5  

 �- �1�@;�� 9�<���� 7$ ����� I1��B a�(��! 9�<�0 ����n ≥ 30       8 np < 5             8Z  nq < 5 

������� 3� �#�� �1�@;�� a�B�#�� 7$ ��! a�(��! a�B�� ?�&��(� ~�2� w�1�
��� p�! ��:�L� 81:  

  n ≥ 25 8  p ≤ 0,1 

 G
N�:  10  % /EqB Q�,��0 ��� �$ ��¡ n��BN 7$30��8 3��1��2  ��«� F/+ n��B� 7$ .  

P� aZ ?�&��� KL�Z a��,��0 a�0��8 ¤�@+ a�.  
        P(X = 2) = C

2
30 (0,1²) (0.9

28
) = 0.22        

 �@���n ≥ 25 Qp ≤ 0.1  : �&��-� �&�� �8Z KL» a�(��! 9�<�0 ?�&��(�)a�(��! a�B�� �&��$(  
  λ = µ = np =30 * 0,1 = 3 

P(2) = λx
 * e - λ/x! = (3

2
 * e 

-3
) / 2! = 0.22 

4 �� ��
-A�� ���*+��f��   

 
�.4�-� 7P��X1 QX2 Q . . . .7���� h(��$8 7����! ��&���� 9�<���� _,B �[ ��#�L$ ��1��2  
�.4�$ . �mN

�B��  

Sn = X1 + X2 + . . . + Xn            (n = 1, 2, . . .),      

  a�USn �$�@  ������� 9�<���� 9��0 n →∞.  8  aZ �rE(Sn) = nµ  8  σSn = σ√n   K�P0 �@B�U :  

∫
−

∞→
=










≤

−
≤

b

a

z
n

n
dzeb

n

nS
aP 2

²

2

1
lim

πσ

µ

 

 ��#�L-� 
�.4�-� a�P0 �$�@  �##� ���A@�� a�U �#�#y� RXi �[ 7P� ¥ ��8 �� 7������8 h(��-� _,B �[ 

 _,B 
�.4�&�� a�P� aZ ~��2� � 5�� ���A@�� F/[ d�EZ Ç�� �l�0 TBZ *���� 9$ Q9�<���� _,B 3>8�\��!

�L$ a�P0 aZ �� �8 ��&���� 9�<������#.  

�U��$ ���AB aZ VN 3>���� >�^" aZ ��m Q��s��-� ���S@�� ���AB 7$ ���E ���� �+ �#!�( �S��N �@���0 O�� G'!� 

 a�B�#�� 9��0 3.4�$B(n, p) ��BJ�� 9�<���� 
�m ��#�L-� 
�.4�-� 7$ ���� � �&� �+>��� � 7P� B(1, p) . 

                                                 
1
  g!�L�� 9l�-�  
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5 �D!R   

������� 9�<���� ���:�(�! � 7$ � �1�@;�� 9�<���� 3.4�-� �&@�! �&�L$ 9�<�0 g��e 7  ?�&���� =�L� ���

���#�$ . ��m klZ 7$��� ����)� 3.4�-� R �&�� k� >��� � *��.  

 ��s��-� ���S@�� ���AB aZ i�  f@0Sn ) 7���� h(��$8 7����! ��&���� 9�<���� _,B �[ ��#�L$ ��1��2  
�.4�$

 (0 �$�@  ������� 9�<���� 9��n →∞ h(��r E(Sn) = nµ  8  σSn = σ√nK�PB8  :  

∫
−

∞→
=










≤

−
≤

b

a

z
n

n
dzeb

n

nS
aP 2

²

2

1
lim

πσ

µ

  
 w�� ����� v����� *(���������&���� 
���<���� w! K��#��� ~8�2� �$�:�L-� � ��#  �,B¡ 3>��/-� 56�-� R

 VN �U����! d�E)� 
���<���� �#!�L�� ?�
,�� R �(>� O��)s$���cr.4�$ ��� ��>���$ 3.(  

  

 

  

[N(0, 1)]² tν² 

Χν
2 
/ ν Fν1, ν2 

 

ν→ ∞ 

 

ν = 1 ν1 = 1 

ν2 = ν 

ν1 = 1 

ν2→ ∞ 
ν1= ν 

ν2→ ∞ 

 �UآBا !"
��

E��G 7"  ا
G	ا'"  ا��
ر-� �&"  N	ا�5 ا
 !"
��
  ا-
#5ا�1ا��

B (n, p) 

 

Bcr(n, p) 

H(N, n, p) 
P (λ) 

 

Pcr(λ) 

N(0, 1) tν 

n < N/10 
n ≥  25 ; p ≤ 0,10 

np = λ 

 n ≥ 20 

np ≥10 

nq ≥10 
λ≥15 

ν→ ∞ 
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�����  VII. �1"����ز"# ا�
 �"�23  

   إ���;"!�01ه"� 
��ت ا
�*��Z!�ت�	ز�*-	
��
   

!&>Z�
 !Z"*�
  �	ز�T ا
T"1�8�

��0وق و ا !Z��*�
  �	ز�T ا

 ��&
�
 !Z��*�

 !&>Z�Z��&"  و �	ز�T ا !Z��*�
  �	ز�T ا
  

�2�@0  � R                g��L³��� ��
³$ g��e 7  
�L(�-� ��#0 ?�& )� ¥�  �,U Q	�
#�(�� 
���&  3����-� �@0��&�

        wP�S�L-� 
�Sl�0 i�  z'eY� 
�	�
#�(� 	��l�! �������8 ­�6��� ��
$8  Q       ��³� �� � �' �� k1�(8 R8

         ��� T0�lZ 	�
#�(� I1��B 7  7��� aZ a8�  8Z  ��$�l�?�      ��³(��( 9�³���$        �S³@$ Q3��³��$ �³� �&�l� 8Z

        � 	�@�Z w@e��&�� ��(��L�� 	�>)� ?�� ?�c�� 3.;-� 
�	�
#�(�� ��!�:�B�� 
'&y .      �³��A@�� _³()� �+ �&U

                 f1�
E i�  �@�  
�B��! ?'E 7$ ?���(�� 7P� ¦�� 8Z ° �,��:-� 
�	�
#�(�� �S��  �@�L0 O�� ��������

     °T@$ 
/EZ H/�� 9&�²�l��  �!�    �+.b 8 ��£()� F/+ i�  *SU K���0  �³,��:-� f1�
�� w! �������� 
��'���

  9&�c&��     Q�+.b8 7������ Qh(��-� k;$8 �@-� f1�
��¨   �@���� R �[ 3�   �+8  k
,�� �/+ R T�8�@�@( �$ . ?�
,�� R

�������� 
��'��� F/[ 
�#������ 7$ ���  G>�@( ���#-�.  

,�&�
  ,+�ه�� إ�����B .1 ا

!Z"*
8
�T وا�
 ا

 ا
*"d !Z"� ا
�0Zد�! وا
*"Z! ا
�0Zد�!

 ا
*"Z! ا
*L	ا;"!

T�
81 �
�*1 

!Z��*�
  إ���;"! ا

1 l��\�%  �A�1�� Population et échantillon  

������� ��;$)� ?'E 7$ w6��
-� 7�/+ ¢�2B:  

• 8Z /EZ ��#�U QH�@c�� h(��-� a<��� ���#0 R ���PL��� 3>���� Kb�0 �� 7$ �@�  a�<100 7$ H�@l 

 ��@`� z�&� w!)9&�²�.( 

• R w�$ ���- 7��B�L-� w�E�@�� ��LB ���#0 R ��(��L�� ­�6���! �@��$ 3q�+ Kb�0 10 ��#�U Q
������ 

 =��c�(�!100���8 k� 7$ KE�B  . ?� �&@�! 9&�²� a��;� �2��� 
������ R a��E�@��1000 KE�B 

� a�!�c�L-��@���� a��;. 

•  ���#�� i$�0 ���#B ���� 9@� ��� d�$ �U��$ klZ 7$1003�$ 8  i�  ?�
y� 
��$ ��  KL»

3>�
��8  �+ �@+ �@���� *c� Q�!��P��100. 

• �8�@� kE�� 
��P�� ��LB ���#��Qw�$ a�� 7$ O�� Q � ���� kcLB 3�� K6L! 
��-� 7$ ��  ��#B 

�+���B .� �!�6L-� 
��P�� �� �@���� *c� k;. 



 T7�>
 '��M! �	ز�T ا
�*��Z!    ا
Y�0 ا

*�#�� 8Z 
�(��#�� T! �
#� 9&�²� ���
$ aZ ��'B8  �S(��� Ë O�� 	���)� 8Z ���U)� _��) Qa�<8)� 9&��

w�E�@�� 	�>¡ 9&��(.. �8�� .b 8Z ��8�� a�P� �� 9&�²� aZ �&� Q)�#@�� ���� 
��$> I1��B( �SU �@���� �$Z Q

 3��  s$�B8 Q3�8�� a�P0 3��  = 9&�²� *cyN = �@���� *cy8 Qn.  

2 �� 
�A�� [� �A�1��% �� 
�A�� �A�1��  Echantillon exhaustif et non exhaustif  

 � ���&��� >��P0 a) ����,B .b �@���-� F/+ �&LB Q�@���� R 3�$ 7$ �;�Z 3��,-� �SA0 aZ 7P� 5�� z�l>��! K6L�� a�P� �$�@ 

��  f��#0 VN H���Q9&�²� R 
���,-� 8 ����,B �@���$ z�l>N a8�! �@���-� �&LB _P��� . 7$ ��  R a�>�P�0 a�����U ¤�@+

�#�� �+��@( O�� �������� 
��'��� Q��#�L$ �@���� 
���,$ *�� aZ ����U �§8 �1��� 9&�²� . �@���-� �B�� �mN ?'#�(�� ~�� g#6��

�/� �B�� �mN8 Q����,B .b�8�� .b ��&�� 9&�²� >��� � 7P� Q� .  

3  ��Q��01�� �A�1��Echantillon aléatoire  

 a�P0 aZ klZ 7$9&�c&�� ��;� �@������1��2��� �@���� �+ �$�:�L-� ����� ��Z Q . ���AB)9����� R ��m g�#� K�
� ��( 7  ?�#B  Q

 a�� �mN ��1��2  ��Z �@� _,B 9&�²� R 3��,$ kP��@���� R a�P0 a) ?�&����  .���! �@���� F/+ i&L0���L��� ��1��2��� �@� . <�ª�

 ?8��`� 7$ /E�0 ��� )� 7$ � �&� ?'E 7$ �@���� ��» � 9&�²� 
���,$ *��B 8Z ��1��2  �#���! 
���,-� K6LB aZ �$N ��m

��1��2��� ��� Å� ��1�
���1. 

4  l��\� �
1�Paramètre d’une population  

 Qk��&��� k$��$ Q7������ Qh(��-� k;$ T
1�
E 7$ � �&� 9&�²� ¥��r �
#B  ... ��&���� T��<�0 ����e �\�Z 9&�²� f1�
E 7$

f(x)F.b 8Z �����e a�P� aq� .  

5  �A�
1�� ��Q
9)�Statistique de l’échantillonnage   

 9&�²� ¥��$ ���#��)�²� h(��$ 9&µ9&�²� 7���0 Q σ² ��L@��    p (... k;$ ¥��$ =�L� VN n��» 5�� Q�@���� 
�B��! 7$ g��@B

�@���� h(��$ m �@���� 7���0 QS² �@���� R ��L@�� Qp’  . ���#0 klZ 7$ �@���� 
�B��! 7$ ��'�B� KL� �&�� k� �&LB Q�$�  �,
!

�@���-� ��1�
�N 9&�²� ¥��$ �&�� .���AB) �����> ( R �S��  k
�� *�#�� k;� O�� ��1��2��� 
�.4�-� R ���� k� �+ �@���-� ��1�
�N

�@����. 

,�&�
    ���	�)��ت ا��&�;_� ��ز�I .2 ا

i-	
��ت1-	
��
 !Z��*�
   �	ز�T ا
��ت�&��  -	
��
 !Z��*�
  �	ز�T ا
 !*"&bت��-	
��
 !Z��*�
  �	ز�T ا

1 �
�@����� �A�
1�� l�>�5 s@���  

�hS�� :9&�²� 7P�� 1 Q3 Q5 Q6 Q8 . �!�6L$ �@�  h(��- �����-� �&�#�� �+ �$z�l>��! w0��,$ 7$ �B�P$ 

)m(9&�²� h(��$ KL�Z ° µ . w! a>��m8 µ  . h(��&�� �@P&-� 
��y� 9�x KL�Z ��m ���� klZ 7$

mi�@�  k� KL� . 

  *cy� 
�m �@P&-� 
�@���� �@P&-� 
�@����n = 2 T&c� 9&�� 7$ 5 �+��  :5*5= 25  

                                                 
1
  ��1��2��� ��� )� ?8�l �ABZ.  
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    ص.   ب    ?1���Jات ا)���ء ا
 

�@P&-� 
�@���� 
  �@���� �@P&-� 
��(��-�) �@���$

����,B É          (mi 

(1, 1) (3, 1) (5, 1) (6, 1) (8, 1)  1 2 3 3,5 4,5 

(1, 3) (3, 3) (5, 3) (6, 3) (8, 3)  2 3 4 4,5 5,5  

(1, 5) (3, 5) (5, 5) (6, 5) (8, 5)  3 4 5 5,5 6,5  

(1, 6) (3, 6) (5, 6) (6, 6) (8, 6)  3,5 4,5 5,5 6 7 

(1, 8) (3, 8) (5, 8) (6, 8) (8, 8)  4,5 5,5 6,5 7 8 

 �����-� �&�#��m ? mi �+8 �S&�� h(��$ �+ m = (∑i mi) / 25 = 4,6 .   

9&�²� h(��$ =�L� :µ = (1 + 3 + 5 + 6 + 8)/5 = 4.6                           

N�G
2 . ?�;-� K���$ _,B �l8Z1 . K6L�� ���� Rz�l>N a8�!. �+��  �@P&-� 
�@���� :C2
5 = 10   

   

 �����-� �&�#��m ? mi�+8 �S&�� h(��$ �+ :  
 E(m) = µm = (∑i mi) / 10 = 4,6   

 9&�²� h(��$: µ = (1 + 3 + 5 + 6 + 8)/5 = 4.6                    

 

   �l��< 1 . �$ 9&�� k;� z � �B�� �mN 8 m� z 3.4�$    �³&�#�� a�³U Q9&�²� 
�m 7$ �!�6L$ �@�  h(��$ k;

 �@���� h(��- �����-�E(M)��� �&� K�P0  : E(M) = µm = µ  

  

 a�+J�� : = s$�@�Xi����)� 3.4�-� *�#�  X .   

.
11

)(
11

)( µµµ ====







= ∑∑∑ n

nn
XiE

n
Xi

n
EXE

iii

  

2  �
�@����� �A�
1�� l�>�5 $�
�5  

) L(    _
6,P
= �A�
1�� ��
)  

G
N�. ��qL-� R 9&�²� 7���0 KL�Z 1�Z Q 7������ KL)H>���-� W��»��8 ( 
��(��&�� �@���-� 9�<���σ²m �&�  

 z�l>��! �!�6L$ �@���� aZ)����,B É( �@P&-� 
�@���� 
��(��$ 7���08 9&�²� 7���0 w! a>�� Q) �@���-� 9�<�0


��(��&�� .(  

 

z�l>N a8�! �@P&-� 
�@���� 

  8Z �@���� �@P&-� 
��(��-�  

 �
�@����� �A�
1�� l�>�5)�� 
�+ �A�
1�(   
mi 

(1, 3)     2       

(1, 5) (3, 5)    3  4    

(1, 6) (3, 6) (5, 6)   3,5 4,5 5,5   

(1, 8) (3, 5) (5, 8) (6, 8)  4,5 5,5 6,5 7 



 T7�>
 '��M! �	ز�T ا
�*��Z!    ا
Y�0 ا

 

σ²m = [∑i (mi – m)² ]/25 = 2.92;    

σ² = [∑i (xi – µ)² ]/5 = 5.84  

2.92 = 5.84 / 2 

  

������� ���A@�� �S� ?�;-� �/+ : 

 ���< 2.�$ 9&�� k;� z � �B�� �mN 8 mi a�U Qz�l>��! 9&�²� 
�m 7$ �!�6L$ �@�  h(��$ k;� z 3.4�$ 

 7���0mi ) 9�<�0 7���0
��(��&�� �@���-� (��� �&� K�P� :  
n

m

²2 σ
σ =           5��n�@���� *c� .  

a�+J�� : = s$�@�Xi ����)� 3.4�-� *�#� X .   

.
²

²
²

1
²

²

1
)(

²

11
)(

n
n

nn
XiV

n
Xi

n
VXV

iii

σ
σσ ====








= ∑∑∑

  

) O(  _
6,� �%&= �A�
1�� ��
).  

��nL,:��qL-� R  1 �@���� �@P&-� 
��(��-� 7���0 KL�Z  σ²m a8�! �@���-� ���� R 7���0 w! a>�� Qz�l>N

���08 9&�²��@���� �@P&-� 
��(��-� 7.  

    

�@���� �@P&-� 
��(��-� 7���0:  
     σ²m = [∑i (mi – m)² ]/10 = 2.19    

9&�²� 7���0             :σ² = [∑i (xi – µ)² ]/5 = 5.84    

 )8Z! ���B�� �#��:   
 σ² = E(X²) – E(X)²  

     = (1 + 9 + 25 + 36 + 64) / 5 - 4.6² = 5.84)  

9&�²� 7���0 8 �@���� h(��$ 7���0 w! �B>�#-� : 










−

−
=

15

25

2

84.5
19.2

 

������� ���A@�� �S� �/+ : 

 ���< 3 . �B�� �mNX T&c� �$ 9&�� k;� z � N8 mi��$ k;� z 3.4�$  �S&c� �@�  h(n 
�m 7$ �!�6L$ 

 7���0 a�U Qz�l>N a8�! 9&�²�mi )
��(��&�� �@���-� 9�<�0 7���0 (��� �&� K�P�:      










−

−
=

1

²2

N

nN

n
m

σ
σ  

 ��L@�� i&L08 
1−

−

N

nN k$��$ z�l>��.  

mi 

1 2 3 3,5 4,5 

2 3 4 4,5 5,5  

3 4 5 5,5 6,5  

3,5 4,5 5,5 6 7 

4,5 5,5 6,5 7 8 

 8Z �@���� �@P&-� 
��(��-�  

 
��(��&�� �@���-� 9�<�0)����,B �@���$(  
mi  

2       

3  4    

3,5 4,5 5,5   

4,5 5,5 6,5 7 
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3 l�>�5 �1��; m 

������� 
���A@�� ?'E 7$ 
��(��&�� �@���-� 9�<�0 h(��$ 9�<�0 ����e G>�B :  

 ���< 4  .²� a�� �mN h(��r �����e z<�$ 9&�µ8  7���0σ²  9�<���� �\�Z 9��� T@$ �!�6L-� �@���� h(��$ a�U

 h(��r �������µ8 7���0 σ²/nK�PB8 Q m ≈ N(µ, σ²/n)  

  

 ���< 5 .)��f���� ��
-A�� ���*+:(  h(��$ 8m �@���� T@$ K6L0 H/�� 9&�²� a�� �mNµ8  7���0σ² 7P�  _��

a�U �����e 3>8�\��! ? ��>���-� 3.4�-� m HZ 
n

m
z

/σ

µ−
=  a�P� �$�@  H>���-� ������� 9�<���� VN ?8�0n 

 �.��(n ≥ 30)K�PB8 :  

z ≈ N(0, 1). 

 3>����� ?���LB ����,B �@���-�8 �8�� 9&�²� ���� Rσ/√n =                1−

−
=

N

nN

n
m

σ
σ

  

 W��»'� z�l>�� k$��r ����-� �4�
�� F/+ w�1�
��� ��:�L� ���& �$�@  H>���-� n/N ≥ 0.05  

  


 �-& 9&��  900 h(��r  20 =µ8 σ =12 . �@P��K,: T&cل�@���� k� n�:�LB . W��»��8 h(��-� KL�Z

���� R 
��(��&�� �@���-� 9�<��� H>���-�) :1 ( �@���� *c� n = 36 Q)2( n = 64 .  
(1) n = 36 :   n/N = 36/900 = 0.04 < 0.05 => σm = σ/√n = 12/√36 = 2   

92.1
1900

64900

64

12

05.0071.0
900

64
900:64)2(

=
−

−
=⇒

>==⇒==

m

N

n
Nn

σ
  

E(m) = µ = 20  
$����
 �-;�? ���K,2 . g!�Lل ���)!�)�:n = 36( a�P� aZ ?�&��� KL�Z m �>�
� w! 188 22. 

 ���� R ?�&���� _,B KL�Z n = 64.  

 0.6827  ) Z  Z P(Z  22) m P(18   1  Z,  1-  
3612/

20-18
 

n/

µ-m
  Z 212

1
1 =<<=<<=>====

σ 

 0.70  )04.1  Z P(-1.04  22) m P(18   1.04  Z,  1.04-  
1.92

20-18
 

1n/

µ-m
  Z 2

1
1 =<<=<<=>===









−

−
=

N

nN

σ  

4 �D!R  


��(��&�� �@��-� 9�<�0 f1�
E *+Z w�� ����� ?8�`�.  



 T7�>
 '��M! �	ز�T ا
�*��Z!    ا
Y�0 ا

��D
7� �A�
1��  l��\�  

E(M) = µm = µ  z�l>N a8�! 8Z z�l>��! K6(  �$ 9&��  

n
m

²2 σ
σ = z�l>��! K6(  �$ 9&��  










−

−
=

1

²2

N

nN

n
m

σ
σ

 
z�l>N a8�! K6(  �$ 9&�� T&c� N 

m ≈ N(µ, σ²/n)

 
z�l>N a8�! 8Z z�l>��! K6(  

 h(��r �����e z<�$ 9&��µ 

 7���08σ²  

n

m
z

/σ

µ−
= ≈ N(0, 1)   a�P� �$�@ n �.�� (n ≥ 30)  

 h(��r 9&��µ 7���08 σ² 7P� 

�\��! _�������e 3>8 

 

,�&�
 ��ز�I ا��&��_� ��_L��   .3 ا

9�<���� ����e 8 Q7������ Qh(��-� w�0 ������� ���A@�� ��1�
���  p' : �@���� R �$ ����E ��LB.  

 ���< 6:  7P�� X 5�� �����e z<�$8 �8�� .b �$ 9&�� k;� z � p �,� 
�m 9&�²� R 
���,-� ��LB 

@��$�7P��8 Q p’B k;� z �  9�<�0 i�  k
» Q9&�²� 
�m 7$ �!�6L-� �@���� R 3>��/-� �,
�� 
�m 
���,-� ��L

 ��1�
�Y�’p T-��$ 5�� E(p')8 'σp Q H8�L0 ¥��-� F/+: 
n

pq
ppE pp === '' ²;)'( σµ 

 �@ n ≥ 30  :           (p, σp') p’ ≈ N  

 k$��$ R =�\B T���,B �@���-�8 ��8�� 9&�²� a�P� �$�@  z�l>���� =�L� �@ H>���-� W��» . 

  


��� �100 QK��e  403��S� i�  �.EZ��K,1.  7$ �@�  R TBZ ��$�`� 3>��N �Aل�  . ���<3 #0���� ���0

T��&��� a�P� ?�� kE�� 3��S2�� i�  a��
o 7�/�� ������ ��LB 90�1�-�! .  
P(p1< p’< p2) = 0.9 ; n ≥ 30,  

 aZ D��,BN 5�{ .�� :  n/N < 0.05  

0.9. = 0.482) <  < 0.318⇒

 0.082 ± 0.4 = 1.64(0.05) ± 0.4 = )±=⇒
(

 = 1Ζ

 1.64 =             1.64,− =  => )<Ζ<( = 0.9 = )<<(
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,�&�
  ا��I�,�V و��ز�I ا��&��_� ��+�وق .4 ا

T"1�8�

��0وق و ا !Z��*�
1
	-i و �&��  �	ز�T ا  
T"1�8�

��0وق و ا !Z��*�
 b&"*! �	ز�T ا

1 s@����% $�
���� 

 ��1�
��� ?8)� 9&�²� 7$ �!�L� �@�  k� R KL» Q��1��2  �@�  �&S@$ k� 7$ K6LB w�&�� �@��� 7P��S1 

8�
��� _,B KL» ��1) 7������ 8Z ';$ h(��-� (... �S�&LB8 v�;�� 9&�²� 7$ �@�  k� RS2 . ��,�� aN S2 –  

S1w������ 7������8 h(��-� �[ ��1��2  3.4�$ F>8�! kP2�  :  

µS – S2 = µS1 – µS2   σ²S1 – S2 = σ²S1 + σ²S2 

G
N� 1  .�+ ��1�
��� �B�� �mN s@����a�U  :  
µm1 – m2 = µm1 – µm2 = µ1 – µ2  σ²m1 – m2 = σ²m1 + σ²m2  =  σ²/n1 + σ²/n2 

  

G
N� 2 .�+ ��1�
��� �B�� �mN ��SA��a�U :  
µp1 – p2 = µp1 – µp2 = p1 – p2  σ²p1 –  p2 = σ²p1 + σ²p2  =  p1q1/n1 + p2q2 / n2 

a�U �&S@�! ��,�� 7$ ��! w��1�
��� z�&� i�  �+ ��&�+�� a�� �mN :  
µS1 + S2 = µS1 + µS2   σ²S1 + S2 = σ²S1 + σ²S2  

2  t�@��� t= ����� �A�
1�� l�>�5 �1��;  

 ���< 7: ���� R ≥ 30   n18 n2 ������� 9�<���� 7$ w�(��$ w! ��,�� ��>���-� 3.4�-� 9�<�0 =��#� Q 

H>���-�.8 K�PB:         µm1 - m2 ≈ N(0, 1 )  

  

  :�#�U11:  9&�²� 7P�� U1 : 3 Q7Q 8.8  9&�²�U2 : 2 Q4 . aZ 7$ gل

µU1 – U2 = µU1 – µU2 ;               σ²U1 – U2 = σ²U1 + σ²U2 . 

µU1 = (3 + 7 + 8)/3 = 6 ; µU2 = (2 + 4)/2 =  3 => 

µU1 – µU2 = 6 – 3 = 3 

µU1 – U2 = (1 + 5 + 6 – 1 + 3 + 4)/6 = 3  

σ²U1 = (3² + 7² + 8²)/3 - 6² = 14/3 ;   

σ²U2 = (2² + 4²)/2 - 3² =1 => σ²U1 + σ²U2 = 17/3 

σ²U1 – U2 = (1² + 5² + 6² + 1² + 3² + 4²) / 6 - 3² = 

 (1 + 25 + 36 + 1 + 9 + 16) / 6 - 9 = 17/3   

 
                                                 

1
     ?�l���( �1985 � 180  

   U1  

 U1 – U2 3 7 8 

U2 2 1 5 6 

 4 -1 3 4 



 T7�>
 '��M! �	ز�T ا
�*��Z!    ا
Y�0 ا

,�&�
  و��ز�I ا��&��_� �_L�� ����_1 ��_	����ز�I ا��&��_� ��	���� .5 ا

 ��&
�
 !Z��*�
  �	ز�T ا
 "Z��&� !&>Z
 !Z��*�
  �	ز�T ا

1  l�>�5 �A�
1��$�
����  

) L( _
6,P
= �A�
1�� ��
)  

��qL$ : ��qL-� R 9&�²� 7���0 KL�Z1 h(��$ ?'E 7$ z�l>��! �!�6L-� �@���� 7����� �����-� �&�#�� KL�Z Q

��8 9&�²� 7���0 w! a>�� Q�@P&-� 
�@���� 
�@���0 �����-� �&�#

�@���� 7�����.  

   
(∑i S²i)/25 = 73/25 = 2.92   =>E(S²) = 2.92 

 

 

σ² = E(X²) – E(X)²  

= [(1 + 9 + 25 + 36 + 64)/5] - 4.6² = (135/5) - 21 = 5.84 

E(S²) = 2.92 = 5.84/2 =  σ² (1/n) 

 

 ���< 8: �$ 9&�� k;� z � �B�� �mN 8 S² z�l>��! �!�6L$ �@�  7���0 k;� z 3.4�$ ) 7$ z�l>N a8�! 8Z

�8�� .b 9&�� ( �S&c�n a�U Q: 






 −
==

n

n
SE S

1
²²)( ² σµ   

)   �@ n ≥ 30    : E(S²) ≈ σ² (  

a�+J�� : 

( )

( ) 






 −
=−=−−+=+−+=

−=





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
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
−=

∑
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n

n

nn
xExVXV

n

xExE
n

xx
n

Exx
n

ESE

i

i ii ii i
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1²(²
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²²)²]()([²)(

1

²)(²)(
1

²²
1

²
1

²)(

σσµ
σ

µσµ
 

�A�'$ :aZ �ª ���A@�� 7$  :²
1

² σ=








−n

n
SE   8 7  ?�#B

1
²

−n

n
S >�#$ TBZ "W�6@$ .b " ?σ²و  s$��

 = T�‘S²5�� :  

1
²²ˆ

−
=

n

n
SS

 
 

 ���< 9 :  �S&c� ��1��2  
�@�  �B/EZ �mNn a�U Q����e 9&�� 7$ : 
2

1~
²

²ˆ)1(

²

²
−

−
= n

SnnS
χ

σσ
  

  

 �@P&-� 
�@������S²i 

0 1 4 6,25 12,3 
1 0 1 2,25 6,25 
4 1 0 0,25 2,25 

6,25 2,25 0,25 0 1 
12,3 6,25 2,25 1 0 
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G
N�  :  T&c� ����e 9&�� 7P��100 �S&c� �@�  T@$ K6LB n = 16  .  �@���� 7���0 a�P� aZ ?�&��� �+ �$S²  8Z 7³$ k�Z 

 H8�L�10Z �&�   9&�²� 7���0 a80. 

  
115 ²~

²

²
)),(~

80

16
²()2²()10²( −⇒≤=≤=≤ n

nS
NXSPPSP χ

σ
σµχ

 
      ?8�`� 7$P(X²15 ≤ 2) < 0.005  

) O(   ��
)_
6,� �%&= �A�
1��  

��qL$ :��qL-� R 1 �@���� �@P&-� 
��(��-� 7���0 KL�Z  σ²m a8�! �@���-� ���� R��0 w! a>�� Qz�l>N 9&�²� 7�

�@���� �@P&-� 
��(��-� 7���08.        

         
(∑i S²i) = 36.5 ;   (∑i S²i)/10 = 3.65   => E(S²) = 3.65 

σ² = E(X²) – E(X)²  

     = [(1 + 9 + 25 + 36 + 64)/5] - 4.6² = 5.84 

E(S²) = 3.65 = 5.84*(5/4) (1/2)  

      = σ² * [(n-1)/ n] [N/ (N-1)]  

 

 ���< 10 :   �$ 9&�� k;� z � �B�� �mN�8��8 S² �@�  7���0 k;� z 3.4�$ ����,B Q9&�²� 
�m 7$ �!�6L$ 

K�P0 �@���� 7����� �����-� �&�#�� a�U:








−







 −
==

1

1
²²)( ²

N

N

n

n
SE S σµ    

) a�P� �$�@ N ��l .�� N/ (N-1)   VN ?8�0 1( 

  

2  tA�
�5 ��SA� �A�
1�� l�>�5 

aZ g!�L�� k
,�� R �@�Z>  :~Fν1, ν2

22

11

/

/

ν

ν

X

X
X =�� R a���#�L$ a���1��2��� a�0.4�-� ��  

8   X1 ~ χ
ν1

²8    χ
ν2

² X2 ~.   ���A@�� 7$9��� �$ I�@�LB :  

 ���< 12:  �§�@���0 a�����e a��&�� �@��� 7P�� σ²1 , σ²2   . �&S&c� w��1��2  w�@�  w�&�²� 7$ K6LB

 ������ i� n1 , n2:  

1;12

2

2

2

2

1

2

1

2
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2

2

2

11

1

2
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1
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
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

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

−










−
=

nn
F

S

S

n

nS

n

nS

F
σ

σ

σ

σ

  
  

 �@P&-� 
�@������S²i  

1    
4 1     

6,25 2,25 0,25  
12,3 6,25 2,25 1 
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$� ���&�?  w�@� 8 810w�!�6L$  ������ i�  �§�@���0 w����e w�&�� 7$ 208 36 . a�P� aZ��K,1 .  �&S&cل

 °��B�;�� 7���0 ¦�� 7$ J�Z V8)� 7���0  
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= P(F7, 9 > 3.7) 

�ª ?8�`� 7$ 0.05 > P(F7, 9 > 3.7) > 0.01     �#�#y� R 8 P(F7, 9 > 3.7) = 0.036   

3 ij�� 

) L( �(� $�
���� �A�
1�� l�>��� r,
�1�� ��� 

 ���< 11:  �B�� �mN X 8 �$ 9&�� k;� z �S²a�U Q9&�²� 
�m 7$ �!�6L$ �@�  7���0 k;� z 3.4�$ : 









−=
sinon

~si/2²

44
²

n

NXn

S σµ

σ

σ

  

 klZ 7$n ≥ 100  9�<�0 QS² ������� 9�<���� 7$ �.;� =��#�  . 

) O(   r,
�1�� ����!� �A�
1�� l�>��� r,
�1�� ����(�  
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Z 7$ kln ≥ 100  9�<�0 QS ������� 9�<���� 7$ �.;� =��#� 8  µs ≈ S  

  

4 �D!R  

 
���A@�� R �>8 �$ f:�� ����� ?8�`� �#!�L�� 7$6 VN 10 .   
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��D
7� �A�
1��  l��\�  �A�1�� ��Q
9)�  

n

pq
ppE pp === '' ²;)'( σµ  

             

  

(p, σp') p’ ≈ N n ≥ 30  

�����e z<�$ 9&��  

 �8�� .b  

=�Ly σp'  k$��$ R =�\Bz�l>�� . 

 
T���,B �@���-�  
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�����  VIII. �"�����23"� ا  


��5G 7��8ل    �01ه"� أ-�-"!     
  �bق �k"-l ا
�5Gر     �bق ا

 �@(>� g!�L�� k
,�� R ?'E 7$ w! �������� ��'��� 
���A@�� 7$ � �&� ¥��$ 9&�²� R �[ 3�¨�@-� ¥��-�8 �@����

� Qh(��-� k;$��L@�� Q7�����...�@���� ¥��- ��&���� 9�<���� kP�8 9&�²� 9�<�0 kP� w! ��'��� �@(>� �&� . �SA0

 Q�(�>��� k� 9&�²� ¥��$8 f1�
E ���#�� �;�Z ��:�L0 �S@P�8 �S-��$8 �@���� f1�
� ¦����� 
��'��� F/+

k
,�� �/+ R T��  W���@( �$ �/+8 .  

,�&�
   ,+�ه�� أ)�)��  .1 ا

  f >��;: ا
�5Gر7*

��5G 7��8ل
�?، اGZ

��5G ا
 ا

1 ,&��� 2Q
9R �1=1  

�(�>� k� 9&�� ¥��$ 7$ �&��$ ���#��Q�&��-� F/+ ���#�� �@���� R ��(�@-� ��1�
��� >���E� VN n��»  . �$ ����b

 9&�²� h(��$ >�#B aq� Q>�#$ 7L�Z �+ �@���� R 3�¨�@-� �&��-� a�P0µ ?'E 7$ �@���� h(��$µm  . i&L0

>�#-� ���#��� R �$�:�L-� ��1�
��� .  

) L(  f�j��� [� ,&��� 

 s�6�$ .b >�#$ ��q! �$ ��1�
�N 7  ?�#Bsans biais�8�L$ ������� �S���0 8Z �S�(��$ a�� �mN 9&�²� �&��- � 

9&�²� �&��-.  

G
N� : �@���� h(��$ 7  ?�#Bm TBZ �- s�6�$ .b >�#$ 9&�²� h(�µ a) E(m) = µ .  �&LB k!�#-� R

 ��1�
���S²  ��Z z�l>��! �@���$ R ? s�6�$ >�#$σ²a)  E(S²) = σ² (n-1)/n ≠ σ² ��1�
��� J��0 �&@�! Q= 

S²n/(n-1)  S’²z�l>��! �@���$ R s�6�$ .b �>�#$  .  

) O(  �B
�V��  

 3	�,� g���0(efficacité)���� >��#r �$ >�#$  7�>�#- a�� �m�U Q��1�
�Y� �@���-� 9�<��� 7��)w��1�
�N ( _,B

3	�,� �;�)� TBZ �@���0 k�)� �@���-� 9�<�0 8m >�#-� 7  ?�#B h(��-� .  

G
N� :9&�²� h(��$ �+ h(��-� _,B h�(���8 h(��&�� �@���-� ���<�0 7$ kP�µ J  J��� 7P�  h(��-�m �>�#$ 

��- 3	�,� �;�Z9&�²� h(µ  
��(��&�� �@���-� 9�<�0 7���0 a) h�(��� 7$ V(m) = σ²/n  9�<�0 7���0 7$ k�Z

 h�(��� �@���-�:  

V(méd) = σ²π/2n = (σ²/n) (3.14159/2)      >      σ²/n .  

                                                 
 
1
  ?�l���(1985 � Q204.  
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 �S����� 7$ aZ���SL� d�EZ 
�>�#- qc�� �� TBZ �N Qk\U)� �+ 3s�6�$ .b8 ����U 
�>�#$ ���:�(� ?�
y� 

�S�� .  

) e(  O,
����  convergeance     

=>�#�$ TBZ >�#$ 7  ?�#B ���� � �$ VN �@���� *c� ?8�� �$�@  3>�#-� �&��-� �&�� VN ?8�� a�� �mN. 

G
N� :a) 9&�²� h(��- �!>�#�$ �>�#$ �@���� h(��$ J��� :  

.0
²

)(,)(  →==
∞→nn

mVmE
σ

µ
  

2 C��A�� ��&���� G
E� ��&����%1 .  

 ���#0 VN n��» �� TBZ ���#��� �/+ 7  ?�#B8 3���8 �&�#! 9&�� �&��-C��+ ��&�5d�EZ �B���Z 8 Q n��» VN 

 TBZ ���#��� 7$ z�@�� �/+ 7  ?�#B8 �&��-� �&�#� ?�� a���o w��#@! 9&�²� �&��$ ���#0G
E� ��&�5 .  

G
N� :  = �$ �#�@$ R 3�()� kE� �B>�� �mN18000E� �B>�� �� a�PB Qn� ���#B ����#0 3�()� k . �B���#0 a�P�

 H8�L� kE��� aZ ';$ �@�� �mN ?�cr18000 ± 2000w! ¢8���� TBZ HZ  160008 20000n�.  

) L( &�h��� �6,   

            8Z �³l>�! i&L³� �³$ ?�²�! g6�B ��/� Q���� ?�²� VN '�U �&�@0 �&��-� a�P0 aZ ?�&��� *��#0 �4�@� ��&�  ���#��� a�P� �P�

L$Q�#;�� d��  = T� s$��8p . = T� s$��8 q��� ?�&��� i&L� _���-� ?�&���� α �\�Z i&L�8 Q""���@�-� d��L$."  

G
N�: �#�@-� R 3�()� kE� )Z ( ?�²� VN �&�@�]16000 Q20000 [ ���@�$ d��Lr5%  �#� d��Lr HZ 95%  

 . �8�y� �&L08160008 20000 ��N��  %&).  

) O(   %&) t�15��N�� G
�   

               ���@�-� d��L$ ?'E 7$ ��� �+>8�! O�� �#;�� 
'$��$ ?'E 7$ �#;�� �8�� ���) �#;�� d��L$ .(   �³��� �,U

       w�&�#�� a�P0 ���#��� ������� 9�<���� ���:�(� ±1.96        �#� d��L$ klZ 7$ �#;�� 
'$��$ 95%   w�&�#�� �&@�! 

±2.58��L$ klZ 7$ �#;�� 
'$��$ a';�  �#� d99 % .   
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G
N�:  7P��µ s 8σs �$ ��1�
�� �@���-� 9�<�0 H>���$ W��»�8 h(��$ s 5�� µ s = µ .  ? �@���-� 9�<�0 a�� �mN

s �����e ���<�0 )�$�@  
��1�
��� K�b) ��L@��! ?�y� �+ �&� (n ≥ 30)  ( 9�<�0 VN �A@��!8 ';$ >�#B �@B�Us 

aZ:  

   w�&�#��µ s ± 1.96σs a';� ��N��  %&) = 95 % Q8  µ s ± 2.58σs  = �#;�� �8��99% .   

 = �#;�� �8�y s$�� ������� 9�<���� ���� RZc   8ZZ1-α/2  )*(��� �ABZ( .  

,�&�
  ا�	; ��9A��Vل .2 ا


	-iآ"0"! �*""  ��
 !GU
  �81ل ا

�Z<&!  آ"0"! �*""  !GU
  �81ل ا

&��  آ"0"! �*"" �
 !GU
  �81ل ا


 !&>Z�Z��&" �81ل ا
GU!  *"" آ"0"! �  

1 s@����� ��N�� G
� 

 9&�²� h(��$ >�#�µ ��1�
��� ?'E 7$ m.  

) L(  ��&�5µ  C1����� l�>���� F�&3�@
=  

������� 9�<���� 9��� �@���� T@$ ��6( H/�� 9&�²� aZ �@&�  �mN �#;�� ?�� ���6�� ������� 9�<���� ��:�LB.  

 3��&-� �@���� ���� R8(n ≥ 30)   7$ 3��,�(�� ��/� 7P���s��-� ���S@�� ���AB1 aZ m 9�<���� 9��0 

������� .  

��� �&� �#;�� ?�� �8�� K�P0:  
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S
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zm c

σ
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 �8�� 9&�²� a�� �mN �N �4�
�� F/+ ��:�LB 8) *c� �mN (����,B �@���-�8 �«�� �4�
�� ��
0 5��:  
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−
⋅⋅±

N

nN

n
zm c

σ

  
 9&�c&�� H>���-� W��»�� a�P� �$ ����b TBZ �Nσ D��B ��/�8 Q��S� σ  >�#-�! �#!�L�� Ç�
�� RS’ 8Z 

S.  

 *�� w�� �«� ?8�`� zc �#;�� d��L$ KL{ �#;�� ?�� �8�� k;� O�� :  

                                                 
1
   �@���� *�� z�&� 9�<�0 �#�#y� R f´ O��"���,P�� T�U �r 3.�� �@���� a�� ���� R "��8 h(��-� _.  
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   �#;�� d��L$1-α 0.99 0.98 0.95 0.90 0.8 0.5 

α ���@�-� d��L$   0.01  0.02  0.05  0.10  0.2  0.5  
  1- α/2 0.995  0.99  0.975  0.95  0.9  0.75  
Z1-α/2  82.5  2.326  1.96  1.645  1.282  0.674  

G
N� :  aZ >�#Bµ �l��  ?�²� kE��m  ± 1.96σm   �#� d��Lr95%) 0.95 ( ���@�$ d��Lr HZ5 %  

)0.05( Q ?�²� kE��8m ± 2.58σm  �#� d��Lr99%  ���@�$ d��Lr HZ 0.01... 

) O(   ��&�5µ l�>���� F�&3�@
= t:  

 3.4
�� �@���� ���� R(n < 30)8σ ? �#;�� 
��� ���6�� �B����( 9�<�0 ��:�LB ?�S� µ .*�#�� ';$-

t0.975 j  t0.975   ��  95%   aZ ?�#B8 u6@-� �� ���L-� 7$ -t0.975 ; t0.975 8Z �l�y� *�#�� k;� 

d��L$ �@  �#;�� 
'$��$ �#� 95% K�PB8 :  

975.0975.0
/ˆ

t
nS

m
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−
<−

µ

  
 ? �#;�� ?�� f�:�LB T@$8µ ��� �&�  :  

n

S
tm

n

S
tm

ˆˆ

975.0975.0 ⋅+<<⋅− µ
  

2 ��SA�� ��N�� G
�  

) L(  ��
)�� 
�+ [� �A�
1�� %L  %&� [� l��\� %  �&���� �A�1��(n ≥ 30) : 

 7P��s ��LB k;� ��1�
�N "
���ª " *c� 
�m �@�  Rn ≥ 30 5�� �1�@� 9&�� 7$ �l�:�L$ p ��LB �+ 

�c@��
��. 0 ���#�� ������� 9�<���� k&��Lp w�@U  ? �#;�� �8��p��� �&�  :p’ ± zcσp 7�Z p’ ��LB 
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4 tA�
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E ?8�@�0 �@���� 
��1�
�N$�$ 7h(� 

 Q�@������L@���@���� R  Q...9&�²� R �[ 3�¨�@-� 
��1�
���! �S��'  8 .   

�0>�9 �-���@� ��&��)��
 �9h  1   KLول ����e 9�<�0�@���� *c� 8 7������ ��$���$ Q9&�²�.  
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#x  xσ n  $�
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6 ij�� .l��
\�% �%���� ��N�� �(
�  

 �B�� �mNs18 s2 �#;�� �8�� K�P0 Qa���#�L$ a��@����8 Q������� 9�<���� 7$ =��#� 9�<�0 �[ �@���$ ���1�
�N 

� w��1�
��� �S�;� O�� ¥��-� w! �8�,����� �&:  

2121
²²2121 SScSSc zSSzSS σσσ +⋅±−=⋅±− −  

 z�&²� ���� R :  

2121
²²2121 SScSSc zSSzSS σσσ +⋅±+=⋅±+ −  

G
N� : �#;�� ?�� ��» Q7��8�� .b w�&�� 7$ w�!�6L$ Qw��#�L$ w�@�  ��(��$ �§ a���1�
��� �B�� �mN
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 ¦
�� � >�#-� �/+ a�� �mN8 Q�@���� R �C.AB 3����$ /EqB aZ 9&�c&�� �$ �&��$ >�#$ >���E� ����� ��Z

 '���0 T��  H�ª �!���-� f1�
��!)��:�(��S’²  7$ ��! S² ���#�� σ² .( KLB)� >�#-� ���6�� d�EZ ��e �l�0

�8s��� �#��e �/�8 �2�U ¥���� VN KL@0 O��8 J�)� ?�&���� �#��e �\�Z i �0 O��8 i&A��� ����#�-� �#��e �S@$.  

1 ; F%f1�� ���� 

 ��  ���#0 =���-� 7P��K  9&�²� ¥��$ 7$ :θ1, θ2, . . , θk .a�PB �+��  
����$ ��x K . k� 7&\�0

 �l>��� 7$ k�)�! h�0�-� �s��� 3�8�L$ �����$k 9&�²� 3.4�- X : µ’k = E(X
k
) �@���-� 3.4�- F.A@! Q x :  

m’k = (1/n)∑ixi
k
      k = 1, 2,    , K 

G
N�:  7P��X ~ B(20; p)  .  ���#0p � �&� *�� �@�  7$ ��'�B� �8s��� �#���! ��:  

 �+���#0 ���-� ¥��-� ��  �@���K = 1 3���8 �����$ VN n��» �mN  :µ = 20p. 8 T@$p = 20/µ �mN /EqB Q

? >�#&�p�&�#��  :p’ 8 ��� �&� �S�L» :p’ = m/20  .  

w�����-� ��x k&��LB aZ n��» 9&�c&�� w�&��$ ���#0 ���� R :µ = m   ,   µ’2 = m’2             

                                                 
1
  ��!<8�>� 1997�. 308. 
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N�G2:  7P�� X ~ N(µ; σ²) . h(��$ 
�m �@�  K6LBmQ 8 7���0S² . ���#��µ8 σ² ��x k� VN n��» 

w�����-� :
  

²²ˆ
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²²'

²²'
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���y� F/+ R �&� 3s�6�$ 
�>�#$ ���0 �� �#����� F/+.  

2  8�*1�� �����1�� ����;)~�T� G
��)(� ����;( 

    ���#�$ 9&�²� 3.4�$ a�� ���� : �&��$ ���#0 ���Bθ8  ����,B .b �@�  �@���8 Q9&�c&�� 3���) k;� O�� 
 �.4�-�

     ��#�L$ �@���� R �S��  k
�� *�� (   9&�c&�� 9�<���� _,B �[ .          = h�0�³$ �C�/! �@�  g#� ?�&��� aZ �S����� 7$

 ���S²� �&��-� �&�� :P(x1, x2, …,xn) = L(θ) . ? �&�� ¤�@+θ �³@���� i�  ?�
y� ?�&��� *A�0   k
³�� 

           k�,��! ��
� �@���� aZ �r �6�6
�� �+ �&�#�� ��0 aZ D��,B8 Q�S��  .  56��� R i&A��� ����#�-� �#��e k;&�0

�&�#�� F/+ 7  . 7  56��� HZθ *A�0 O�� L(θ) 5�� Q  :  

L(θ) = f(x1, . . . , xn ; θ) = f(x1) . f(x2) . . . f(xn)  . 

�  i&A��� ����#�-� �#��e �&��0����2-� ?�&���� ���� *�A�0 i   L(θ) .   

G
N� : 7P��X ~ B(p) ������ ��l8 �+ ¢�c@�� 5�� Q " Z "9&�²� 7$ ��1��2  =�6L$ ��U d�� . ���#0 ��Bp 

 �S&c� �@�  ?'E 7$2 . �&�#�� �+ �$p’ ? p �c��@�� k�^ O�� 1 Q0 �+ �$ HZ °��&��� �;�)� �+ p’   O³�� 

 k�^p(0.1) = pq °7P� �$ J�Z   

? �&�� J�Z aZ ������ 7$ p(0.1)   �³+¼  

8 �+ �S##� O�� �&�#�� p’ = 1/2  �/³t8 Q 

?®�L��� i�  K�ª.  
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*Y�5 ا>
&�ر 
k'�8 وا>
&�ر ا
  ا

�@���� 
�B��! ?'E 7$ 9&�²� ¥��$ ���#0 ��,�� �@�8�@0 g!�L�� k
,�� R8 ��`� >�#-� f1�
E p�! . �/+ R

k
,��1�;�Z 8Z 9&�� ¥��$ ?�� � ���$ 
����U >���E� ��,�� ?8�@�@(  . 7$ �$ ����$ R �B���Z G>���� n��o

�
· �;�Z 8Z ����U >���E� VN T;{G8>�-� 9&�²� � .��m ��;$Z 7$ : R kE��� ?��$ ��
· ����U >���E�

 Qw�$ 	�8�� 	�,� ��LB ����U >���E� Q�@��$ �#�@$ ... G8>�-� 9&�²� 7  ����U �b��
! ��m *��) 
��&�²� 8Z

�(8>�-�(8 ����,�� F/+ ��;� 8Z �,@� �1�
�N k��� i�  ?�
y� ��8�� � 7$8 ?'E 7$ ��m �@�  
�B��! ) 8Z

�;�Z (���L! ��1��2  .Q7������ 8Z ��L@�� Qh(��-�� 9&�²� ¥��$ ��Z ����,�� f´8  i�  �S\U> 8Z �C���N R �&��B

3>��¶ �@���$ ��1�
�N f1�
E . G>� i�  Q���#��� G>�� ��L@��! ?�y� �+ �&� QG>��� �/+ �&��� ��m klZ 7$

�@���-�.  

  

,�&�
  اQ	��ر ا��	�)< .1 ا


&�ر ا�<
 m�8�ا� ?;�Zni-	
��  

&�ر ا�<
 m�8�أ��دي ا�i-	
��  


Si-Kا-
#5ام �
8
�T �? ا>
&�ر ا�

&��  ا
   آ�5Gر 
 Tز�	�5ام #
-�7 i-K
�
 tا>
&�ر ا

 

 9&�²� h(��$ >���E�� �/+ ?8�@�� )µ( Qw�$ I�@$ a<8 h(��$ QkE��� h(��$ k;$ Q..8  h(��-� >���E� ����

0�8�L$ ����U �$ �&�#� Tµ0.8   h(��-� �S�U KL» ��1��2  �@�  n�:�LB >���E��! ���#��m 9�<���� ��:�LB � 

 ? ��&����m 7$ �&�#�� F/+ ��! 8Z =�� G��#� µ0  .  

1 s@����� 	
�(� CQ
Ax ,
��R�  .  

?�;-� �/+ ?8�@�@� :�´ 7$ V8)� �@L�� R K����� kE� h(��$ ?�� ����U >���E� ���B ������U�� �&�#�� 7P��8 QTl

 �+15000H�S2�� kE��� h(��&� n� .������� 
����� VN n��» : Q>��#�� 3� �� ���� Q
����,�� ����

>��#�� m�´� Q3.4�&�� ����,��  �&�#�� =�L� Q3.4�&�� ���8�`� �&�#�� =�L�  .  

) L( �
�]���� &�&�) ����9��% ���&���:(  

↔ H1 : µ ≠ µ0    H0 : µ = µ0 

                                                 
1
   W�( w1s`� 7�/+ w! k
,�� aZ d�B �@BZ .b jD8�,�� >���E� 
�#���0 v�;��8 ��(�(Z *�+�,$ ?8)� QD8�,�� >���E� z���$ ?�� w�
U I$�BJ�� 7&\0

��(�()� *�+�,&�� ������ >��P0 VN H��� .�(�()� *�+�,-� ¢�� K�
� Qd�EZ �Sl 7$ ��@! 7  ?s�r HZ 
�#������ 7  ?s�r �56�-�v�;��  . W�LU ��/�

 R 3����$ D�À56�-� R 3>��/-� *�+�,-� VN ����@( T1�@�Z R8 Q
�#������ 	sl HZ Qv�;�� 56�-�?8)� .  



 T-�

 �01ه"� ا>
&�رات ا
�0وض و ��&"�G���    ا
Y�0 ا

 ����,�� i&L0H0 ����9�� ��]����Q����� ����U 8Z 8 �S\U> VN �$N >���E�� H���8  K�PBRHo8  ���y� F/+ R

 k�#B���&��� ��]�����S\U> ��  8Z �L���-� 8Z 8  K�PBR’H0 .µ0  ? ������U�� �&�#�� �+µ8  ���y� F/+ R �+

15000�&� 
����,�� K�PB ��/�  ���:  

↔ H1 : µ ≠ 15000    H0 : µ = 15000  

 a�P0 �$ 3�� µ0 ���L! ��1��2  �@�  
�B��! i�  �	�@! 3��� (µ0 = m) ���y� F/+ R8 Q������ ���:�(� 7P� 

 m ~ N(µ, σ²/n) �� TBZ 5�� Q>���E�� 	��l� H0  a�U:     m ~ N(µ0 , σ²/n)   

 a�P� aZ ?�&��� ��$���$ ��� ��m$ �l>� VN K���  7$ �µ0 ';&U :  

P(µ0 – 1.64(σm) ≤ m ≤ µ0 + 1.64(σm)) = 0.90 

P(µ0 – 1.96(σm) ≤ m ≤ µ0 + 1.96(σm)) = 0.95 

P(µ0 – 2.58(σm) ≤ m ≤ µ0 + 2.58(σm)) = 0.99 

K�PB �$�  �,
!8 :  

P[µ0 – z1-α/2(σm) ≤  m  ≤ µ0 + z1-α/2 (σm)] = 1-α  

� ��� �;�)� �!��P�� KL� 8Z:     

α
σ

µ
αα −=≤

−
≤− −− 1)( 2/1

0

2/1 z
m

zP
m 

5��:  

� (m - µ0)/σm ) :,����� �[k�� ( ? ��>���-� 3.4�-� �+m8  = �[ s$�Bzc 5�� Qz ~ N(0, 1)    .  

� σm��� �&� ���   : σm= σ/√nz�l>��! �@���-� ���� R )  8Zn ≤ 0.05N( 8  

1−

−
=

N

nN

n
m

σ
σ�L���-� ���y� R  .  

� 1 - α/2 :  >�L� i�  ���L-�z.  

� n : �@���� *c�.  

 a�� �mN 7P�m²� n>�E  ?�1-α?�²� �/+ �S(�(Z i�  ��� O�� ���,
�� ����,�� pU�B aZ Q8  �����! k�#B

������� ����,��.  

 F/+ i&L0)���� (>��#�� 3� ��.  

) O(   ,����� �&�
# &�&�  

?�;-� R >��#�� 3� �� K�P0   3� �� �+8 Q�@���Z w! H/��CQ
Ax ,
��R� 	
�(� ) kP2�� �ABZ1(  �&� Q

���:  
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  $@�#R pU��� 8 ?��#�� O ���� �� � ��#��< ��;@���1  23 ر)� 

         	ie�E >��� VN ?����� R k;&�0 3�e�¶ ���� F/+ 7&\�0:     ����,�� a�P0 �#UH0      �&�� �B��#0 �&@�! �6�6� m 

 �/+ i&L�8 Q�S\U> VN ��
�� h�7�G%T� _�A�� $�Q8  T��&��� α K�P�8 Q:   P(RH0 / H0) = αQ  

 �&�� �B��#0 �� 8m?��� VN H0  �/+ i&L�8 Q�£e�E �+ �&�U o
N�� _�A�� $� h�7�8  T��&���1- α8 K�P�  :  

P(R’H0 / H1 ) = 1-α  

'� ?�&��� f��#0 7P� � 7P�8 Qv�;�� =�L� i�  7�q��� ��Z ?�&��� f��#0 7P� 8 3���s! �N ��$ 7�q��� 

�@���� *c�  .  

 ���,
�� ����,�� pU> ?�&��� _�#� 8P(RH0)  >���E�� 3��) kP2�� �ABZ2 ( �[��� ?�&��� _�#� �&�U

P(R’H0) >���E�� �����U)  kP2�� �ABZ2(.8  �&�#�� i�  w��&���� '� ¦���� ? ��#�#y�µ  .  

  

z 

RH0 RH0 
R’H0 

-z1-α/2         0         z1-α/2 

µ0-z1-α/2(σm)         µ0         µ0+z1-α/2(σm) 

1-α 

 

   µ0   

 µ 

P(RH0) 

α 

1 

µ0    µ 

P(R’H0) 

1-α 
1 

 


_^ ا�+&����  (1)   25 ر)�_,   


_^ ا��Aة_,  


_^ ا��Aة  (2)_,  
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 �01ه"� ا>
&�رات ا
�0وض و ��&"�G���    ا
Y�0 ا

) e(   O
S)z���%&�� :  

8 = �[ s$��zt  >��#�� 3� �� R �S��N >�2-� �+8 Q5��)v�;�� kP2��(Q8  �@���� R)���@�$ d��Lr �1�@� >���E� 

5%: (  

zt = z1-α/2 = z1-0.05/2 = z1-0.025 = z0.975 

 aZ �ª ?8�`� 7$8z0.975 = 1.96  .   

)  (  O
S)z ���1��� :   

8 = �[ s$��zc 8 �-� .4�-� �+ ? ��>��m) ?8)� kP2�� >��#�� 3� �� �ABZ: (  

33.5
100/1500

1500158000 =
−

=
−

=
X

c

X
z

σ

µ

 

) 	(  ,�����:  

 pU> 8Z ?��� >�#BH0>��#�� 3� �� KL� .8  pU�B �@���� RH0 a) zc > zt   k�#B8H1 kE� h(��$ aZ HZ 

 _�� ¦�¨���� 5��� I����15000n� .  

2 s@����� 	
�(� r 
)L ,
��R(�.  

,�� R H���)� 7  �1�@;�� >���E�� s�&���1�@;�� >���E�� R 3�8�L$ ��  �+ O�� ������� ����8  �4�Z 8Z �$�� J�Z

 �$��)���y� KL� (>��#�� 3� �� R .�40 T��  K0��� �/+8 QH���)� >���E�� R.  

) L( t���� $� 	
�(� r 
)L ,
��R(� . 

$ a�� �mN �$ >���E� ���B �@BZ �+ ��� .�40 9$ g!�L�� ?�;-� VN 9l�@� I��:�� kE��� h(��15000 �;�Z �Z n�

)w&��� 7$ >���E�.(  

Z"  �
�]����:   ↔ H1 : µ > µ0    H0 : µ = µ0 

 ���y� F/+ Rµ0 = 15000 K�PB ��/�  :   ↔ H1 : µ > 15000    H0 : µ = 15000  

=" ,����� �&�
# :          







>

−
−

.sinon
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0
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0

0

HR
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n"  O
S)z���%&�� :)  ���@�$ d��Lr w&��� i�  >���E�5% (:     zt = z1-α = z1-0.05 = z0.95  

aZ �ª ?8�`� 7$8         z0.95 = 1.645     

�"  O
S)z ���1��� :            33.5
100/1500

150015800
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=
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F�,�����  : pU�BH0 a) zc > zt   k�#B8H1 _�� ¦�¨���� 5��� I���� kE� h(��$ aZ HZ 15000n�8  ��N

J�Z �+.  

) O(    ,
S��� $� 	
�(� r 
)L ,
��R(� 

$ VN ���B�@��;8  a�� �@���� h(��$ aZ D��,B14200n�8  k�Z �Z H8�L$ kE��� h(��$ a�� �mN �$ J�À aZ ���B

 7$15000n�.  

Z� �
�]���� :   ↔ H1 : µ < 15000    H0 : µ = 15000  

=" ,����� �&�
#:         
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n"  O
S)z���%&�� ) : ���@�$ d��Lr >�L��� i�  >���E�5 %: (   

  = -1.645  zt = - z1-α = - z1-0.05 = -  z0.95  

�"  O
S)z ���1��� :    33.5
100/1500

150014200

/

00 −=
−

=
−

=
−

=
n

XX
z

X

c
σ

µ

σ

µ
    

F",�����  : pU�BH0 a) zc < zt   k�#B8H1 7$ k�Z ¦�¨���� 5��� I���� kE� h(��$ aZ HZ 15000 n�.  

3  F�&3�@�S G ,&��� σs@���� ,
��R� ' .  

 aZ �@���U� �#!�L�� ��;$)� Rσ�»�� a�P� �$ ����b 9����� R Q����$ ��S� H>���-� W�8  ���:�(� VN �����! n��»

 �@���� H>���-� W��»��)S ( =�L� �@ σm) ���#��� G>� �ABZ(3>����� D��B 5�� Q  

  
σm = σ/√n  =       

 1−
=

n

S
mσ

  
8Z 
 n

S
m

'
=σ

  

G
N� :�� H>���-� W��»�� 7P� Q?�S� K����� H�S2�� kE��� H>���-� W��»�� aZ D��,B g!�L�� ?�;-� R �@��S 

= 1600  . 7$ k�Z H�S2�� kE��� a�� �mN �$ >���E� 7P� ¦��15000°n�  

.�40 a8�! i#�0 n Q = QZ 
����� .  

�"  O
S)z ���1��� :  97.4
99/1600

150014200

1/
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F�,�����  : pU�BH0 a) zc < zt   k�#B8H1 _�� ¦�¨���� 5��� I���� kE� h(��$ aZ HZ 15000n�8  ��N

k�Z �+.  

4  l�>���� F�&3�@�t�R� ' s@���� ,
�.  

 ���� Rn< 30 8 σ) 9&�c&�� H>���-� W��»�� (7P�8 Q������� 9�<���� ���:�(� 7P� � Q��S�  �@��� :  
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 �B����( 9�<���� ���:�(� �mN 7P�)kP2�� �(�l k�)� i�  8Z �����e 9&�²� 9�<�0 a�P� aZ ~�2!. (  

 >��#�� 3� �� .4�0 8��� �&� �1�@;�� >���E�� ���� R K�P�U .�4��� �/[ ���0 :  
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  wU8��$ .b  : D��Bµ4  = m4.   
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N� : V8)� *c� w�@�  w����e w�&�� 7$ K6LB188  ��B�;�� *c�21 .������� I1��@�� �B�l8 : 

m1 = 81, m2 = 76, S²1 = 9, S²2 = 8. ¦��  d��Lr w�&�²� ��(��$ H8�L0 >���E� 	��l� 7P�

 ���@�$5 %°   

H0 : σ²1 = σ²2   ↔ H1 : σ²1  ≠   σ²2  
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S’²1 = S²1 * n1 / (n1-1) = 9 (18)/17 ≈ 9.53 ;  S’²2 = S²2 * n2 / (n2-1) = 8 (21)/20 = 8.4 

 S’²1 / S’²2 ≈ 1.135 ; F0.05 ;17 ;20  ≈ 2.17 

T < Fα  ; n1-1 ;n2-1  => R’H0 
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Χ²2 ; 0.95 = 5.99 > 1.05 => R’H0 .  

  


